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Table S1. SMILES for dyes in the database.

No. SMILES

) CCCCnlc2ccee(cc2c2celccec2)clecc(c2clnsn2)clcec(ccl)/C=CO\[C@@H]1SC(=S)NCC(
=0)OC1=0)/[C@H]1SC(=S)NCC(=0)0C1=0

5 N#C/C(=C\clcee(s1)cleee(s1)clece(ccl)nlc2ecc(cc2e2clcec(c2)C(C)(C)C)C(C)(C)C)/
C(=0)0

3 CCCCnlc2ccee(cc2c2celccec2)clece(c2clnsn2)clcee(s1)/C=C(/[C@H]1SC(=S)NC1=0)\
[C@H]1SC(=S)NCC(=0)OC1=0.C1C(=0)01

4 N#C/C(=C/clcce(s1)cleee(ccl)nlc2ece(cc2e2elcec(c2)C(C)C)C)C(C)(C)C)/C(=0)O

5 N#C/C(=C\clcee(s1)cleee(sl)cleee2e(cl)nlc3cec(ce3c3clc2ec(c3)C(C)(C)C)C(CYC)C
)/C(=0)O

6 CCCCCCclece(sclelsc(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N)clccc2e(cl)nlc3eec(cc3c3
clc2cee(e3)C(C)C)O)C(CO)C

7 N#C/C(=C\clcee(sl)cleec2e(cl)cleccecIn2¢lcec2-c¢3¢(C(c2¢1)(C)C)ecee3)/C(=0)0

9 N#C/C(=C/clcce(sl)clcec(sl)clcec2e(cl)cleccecIn2elcec2-c3¢(C(c2cl)(C)C)ecec3)/C
(=0)O

9 N#C/C(=C\clcce(sl)cleec2e(cl)cleccccIn2elece(ccl)C=C(clccccel)cleccecl)/C(=0)
(0)

10 N#C/C(=C\clcee(s1)/C=C\clcece(s1)cleec2e(el)cleccecIn2elecc2-¢3¢(C(c2¢1)(C)C)ee
¢c3)/C(=0)0

1 CCCCCCCOclcec2e(cl)n(CC)elc2ec(ccl)elsc(c(c1)CCCCCC)elsc(c(c1)CCCCCC)cls
¢(c(c1)CCCCCC)/C=C(\C(=0)O)/C#N

12 CCCCCCCOclccc2e(cl)n(CC)elc2ec(ccl)elsc(c(c1)CCCCCC)elsc(c(c1)CCCCCC)cls
¢(c(c1)CCCCCC)eclsc(c(c1)CCCCCC)/C=C(\C(=0)O)/C#N

3 CCCCCCclece(sclelsc(c(c1)CCCCCC)elsc(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N)clsc(
cclCCCCCC)clcec2e(cl)cleccec1n2CC

14 0=C(O)CN1C(=S)S/C(=C/c2ccc(s2)c2ccce3c(c2)c2eccec2n3c2ecce3-c4c(C(c3c2)(C)C)ee
cc4)/C1=0

15 0=C(O)CN1C(=S)S/C(=C/c2ccc(s2)c2cce(s2)c2cec3c(c2)c2ececc2n3c2ecce3-c4c(C(c3c2
)(C)C)ececd)/C1=0

16 | CCCCnlc2cec(ec2e2clcecec2)cleee(c2elnsn2)cleece(s1)/C=C(C(=0)0O)/C#N

17 | CCCCnlc2cec(ec2e2clceccc2)clece(c2eInsn2)clcec(cel)/C=C(\C(=0)0)/C#N

18 | CCCCCCclce(sclclse(c(c1)CCCCCC)/C=C(\C(=0)0)/C#N)clccc2e(cl)cleccecIn2CC

19 | Cclee(sclclee(c(s1)/C=C(\C(=0)O)/C#N)C)clcec2e(cl)cleccccIn2elececcl

20 CCCCCCclce(sclclee(e(s1)/C=C(/C(=O)O)\C#N)CCCCCC)clccc2e(cl)cleccecIn2celc
cc(ccl)0C

21 | N#C/C(=C\clccce(sl)elcee(c2clnsn2)clcec(ccl)nlc2eccec2c2elceec2)/C(=0)0O

22 | N#C/C(=C\clcce(sl)elcee(c2clnsn2)clcec2e(cl)elcceecIn2elcceecl)/C(=0)0O

r CCCC[C@@H](Cnlc2ccc(cc2c2clecce2)clece(c2eInsn2)clecce(s1)/C=C(\C(=0)0O)/C#
N)CC

24 | CCCC[C@@H](COclcce(ccl)nlc2ecc(cc2e2elcecec2)clece(c2elnsn2)clecc(s1)/C=C(/




C(=0)0)\C#N)CC

25 | N#C/C(=C/clcece(sl)cleee(c2elnsn2)cleec2e(cl)n(cleccecl)clc2ececl)/C(=0)0O

26 CCCC[C@H](COclcce(ecl)nlc2eccec2e2elec(cc2)clece(c2eInsn2)clcee(s1)/C=C(/C(
=0)O)\C#N)CC

27 | N#C/C(=C\clcce(ecl)nlc2ecc(cc2c2elcec(c2)C(C)(C)C)C(C)(C)C)/C(=0)O

28 | N#C/C(=C\clcce(ecl)nlc2eccec2e2celceec2)/C(=0)0O

29 N#C/C(=C\clcee(sl)cleee(sl)cleec2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(clecc2-c3c(C(c2cl
)(C)C)eccece3)clecc2e(cl)cleccec1n2CC)/C(=0)0O
N#C/C(=C\clcee(s1)cleee2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2-c3¢(C(c2el)(CC)CC

30 | )ec(ee3)eleee(s1)/C=C(/C(=O)O)\C#N)clcec2e(cl)clece(cc1n2CC)clece(s1)/C=C(/C(=
0)O)\C#N)/C(=0)O

1 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)nlc2ecc(cc2e2elece(c2)C(C)(C)C)C(C)(C)CO)cle
ce(sl)cleee(sl)eleec(ecl)/C=C(/C(=0)O)\C#N

1 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)nlc2ecc(cc2e2elece(c2)C(C)(C)C)C(C)(C)C)cle
ce(sl)cleec(ccl)/C=C(/C(=O)O)\C#N

13 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)nlc2ecc(cc2e2elece(c2)C(CY(C)C)C(C)(C)C)cle
cc(ccl)/C=C(/C(=O)O))\C#N

34 CNlc2cce(ec2Sc2clece(c2)/C=C(\C(=0)O)/C#N)nlc2ccc(cc2c2clcce(c2)nlc2ecc(cc2e
2clecee(c2)C(C)(C)C)C(C)C)C)nlc2ecc(ec2ec2elcee(c2)C(C)C)C)C(CY(C)C

15 CCCCNIc2ccee(ce2Sc2clece(c2)/C=C(\C(=0)0)/C#N)nlc2ccee(cc2e2clcee(c2)nlc2ecc(
cc2c2clcee(c2)C(C)(C)C)C(CY(C)C)nlc2eec(cc2e2elcec(c2)C(C)(C)O)C(C)(C)C

16 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(\C(=0)O)/C#N)nlc2cce(cc2e2elece(c2)C(C)(
C)O)C(O)(C)C

17 CCCCNI1c2cce(ec2Sc2clcec(c2)/C=C(\C(=0)0)/C#N)nlc2cce(cc2e2celcee(c2)C(C)(C)
C)C(C)C)C

18 COclc2c3sc(ce3sc2c2¢(c10C)c1sc(ccl1s2)/C=C(AC(=0)0)/C#N)clcce(c2=[N]=C(C(=[N
J=c12)clesc(c1)C)clece(s1)C)clecc2e(cl)cleccecIn2C

39 CCCC[C@H](COc1c2c3sc(ce3sc2e2e(c1OC[C@@H](CCCC)CC)clsc(cecls2)/C=CO\C(
=0)0)/C#N)clccc(c2clnsn2)clcec2e(cl)cleccecn2C[C@@H](CCCC)CC)CC

40 | N#C/C(=C\clcce(sl)cleee(sl)cleee(sl)cleec2e(cl)cleceecIn2CC)/C(=0)0O
C[C@@H](COc1c2c3sc(cc3sc2c2¢c(c10CC(C)C)elsc(ccls2)/C=C(\C(=0)0)/C#N)clcc

41 | c2c(c)n(C)clc2ec(ccl)elsc2e(cl)sclc2c(OCC(C)C)c(OCC(C)C)c2elscle2sce(cl)/C=C(
\C(=0)0)/C#N)CC

42 CCCCCCclec(sclelsc(c(c1)CCCCCC)elsc(c(c1)CCCCCC)/C=C(/P(=0)(0)O)\C#N)cl
sc(ccICCCCCC)cleec2e(cl)clecececIn2CC

43 | CCCCnlc2cce(ec2c2clcee(c2)/C=C(/C(=0)O)\C#N)/C=C(/C(=O)O))\C#N

44 CCCCnlc2ccec(ec2c2clcce(c2)N(cleee(cc1)OC)clccecec]l)N(cleee(cecl)/C=C(\C(=0)0)/
C#N)clcee(ccl)OC

45 CCCCnlc2ccec(ec2c2celccc(c2)N(cleee(ccl)/C=C(\C(=0)0)/C#N)clcec(cc1)OC)N(clce
¢(ccl)/C=C(\C(=0)0)/C#N)clccc(ccl1)OC

46 | N#C/C(=C\clcce(cel)C#HCeleec(cel)nlc2eccec2c2celcecc2)/C(=0)0

47 CC(COclc2c3sc(ce3sc2¢2¢c(c10CC(C)C)elsc(ccls2)/C=C(\C(=0)0)/C#N)clccc2e(cl)c

lcceeeIn2CC(C)C)C




N#C/C(=C\clcee(sl)cleee(sl)eleee2-c3¢(C(c2c1)(CC)CC)ec(ce3)N(clecc2-¢3¢(C(c2el

48 | N(CC)CCO)cc(ee3)clece(sl)clece(s1)/C=C(/C(=O)O)\C#N)clcece2e(el)cleee(ccIn2CC)e
Icee(sl)cleee(s1)/C=C(/C(=0O)O)\C#N)/C(=0)0O

49 N#C/C(=C\clcee(s1)cleee2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2-c3c(C(c2el)(CC)CC
)eeee3)cleec2ce(cl)clecccc1n2CC)/C(=0)0O

50 CCCCCCcCCCCCCnlc2ccce(cc2ce2elcee(c2)clecce(s1)/C=C(/C(=O)O)\C#N)nlc2cec(cc2
c2clece(c2)C(CY)C)C)C(O)(C)C

51 CCCCCCCCCCCCnlc2cece(cc2e2clece(c2)nlc2ecc(cc2e2elcec(c2)C(CY(C)C)C(C)(C)
C)clecee(sl)cleec(s1)/C=C(/C(=O)O)\C#N

5 CCCCCCCCCCCCnlc2ece(cc2e2elece(c2)nlc2ecc(cc2e2elcec(c2)C(C)(C)C)C(C)(CO)
C)cleee(sl)cleec(sl)clece(s1)/C=C(/C(=0)O)\C#N

53 CCCCCCCCCCCCnlc2ece(cc2e2clece(c2)nlc2ece(cc2e2elcec(c2)C(C)(C)C)C(C)(C)
C)clecee(sl)clece(sl)clece(ccl)/C=C(/C(=O)O)\C#N

54 N#C/C(=C/clcce(sl)cleec(sl)clece(sl)cleec(ccl)N(cleee(cel)nlc2ecc(cc2e2clcec(c2)
C(C)(O)C)C(C)(C)C)cleee(cel)nlc2ecce(cc2e2elece(c2)C(C)(C)C)C(C)(C)C)/C(=0)0

. CCCCCCclcce(sclclceec(sl)clecc2e(cl)cleccecIn2CC)else(c(c1)CCCCCC)elecce(s1)/C
=C(/C(=0)O)\C#N

56 N#C/C(=C\clcce(sl)cleec(ccl)N(cleee(cel)nlc2ececc2e2clecec2)elcec(ecl)nlc2eccece
2¢2c¢lcecc2)/C(=0)0

57 N#C/C(=C/clcee(s1)/C=C/clcee(ccl)nlc2ecc(cc2e2elcee(c2)C(C)(C)C)C(CYO)C)/C(=
0)0

sg CCCCnlc2cc(ccc2c2celec(ce2)N(clecc2-¢3¢(C(c2¢1)(CCC)CCC)ecee3)cleccecl)elece(
s1)/C=C(/C(=O0)O)\C#N

59 CCCCnlc2cc(cec2c2elcc(ce2)N(clece2-¢3¢(C(c2¢1)(CC)CC)ecee3)clecc2-¢3c(C(c2cl)
(CC)CC)ccec3)clece(s1)/C=C(/C(=0)O)\C#N

€0 CCCCnlc2cc(ccc2c2celec(cc2)clece(s1)clece(s1)/C=C(/C(=O)O)\C#N)N(clccec2-c3¢(C
(c2¢1)(CCC)CCC)cccec3)clcccececd

61 CCCCnlc2cc(ceec2c2celcec(cc2)clece(s])clece(s1)/C=C(/C(=0)O)\C#N)N(clcec2-c3¢(C
(c2c1)(CC)CC)ccec3)clecc2-c3¢c(C(c2el)(CC)CC)ecec3

6 CCCCCCclece(sclelsc(c(c1)CCCCCC)/C=CO\C(=0)0)/C#N)clsc(cc1CCCCCC)clcec2
c(cl)cleececec1n2CC

63 COCCCCeclce(sclelse(c(c1)CCCCOC)c1sc(c(c1)CCCCOC)/ C=C(/C(=O)O)\C#N)clsc(
cclCCCCOC)cleec2e(cl)cleccecIn2CC

64 CCCCCCclece(sclelsc(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N)clsc(cc1CCCCOC)c1sc(ce
1CCCCOC)clecc2e(cl)cleccec1n2CC

65 CCCCnlc2cc(cec2c2celcec(cc2)N(cleceecl)clecceel)clece(s1)cleee(s1)/C=C(/C(=0)0)
\CHN

66 | N#C/C(=C/clcce(s1)C#Cclcee(ccl)nlc2eccec2c2elcccc2)/C(=0)0

67 | CCCCnlc2cc(cec2e2elcec(cc2)N(cleceecl)clecceel)cleee(s1)/C=C(/C(=0)O)\C#N

68 | N#C/C(=C\clccc2e(cl)clceceec1n2CC)/C(=0)0O

69 | CCCCCCnlc2cee(cc2c2elccec2)nlec(c2elceec2)/C=C(/C(=O)O))\C#N

0 CCCCCCclcece(sclcleece(sl)clece(s1)clsc(cc1CCCCCC)/C=C(/C(=O)O)\C#N)clcce2e(

cl)cleecccIn2CC




CCCCCCclcece(sclclee(e(sl)clsc2e(cl)ec(cle2n(CC)e2clcccc2)cleccec1)CCCCCC)cls

7l ¢(ccICCCCCC)/C=C(/C(=O)O)\C#N

7 N#C/C(=C\clcee(s1)cleee(sl)clece(sl)elsc2e(cl)ceele2n(c2elcecce2)clec(c(cc1C(C)(
C)C)OC)C(C)(C)C)/C(=0)O

73 | N#C/C(=C\clcee(sl)cleee(sl)cleee(sl)clec2e(s1)cl[nH]e3c(clcc2)cccce3)/C(=0)0

24 CCCCCCCCnlc2cec(cc2c2elcecle3ccecec3n(c1c2)CCCCCCCC)else(c(c1)CCCCCC)els
¢(c(c1)CCCCCO)clsc(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N

75 CCCCCCCCnlc2cec(cc2c2elcecle3cceec3n(c1c2)CCCCCCCC)else(c(c1)CCCCCC)els
¢(c(c1)CCCCCO)[CH][CI(C(=O)O)CH#N

6 CCCC[C@@H](Cnlc2cec(cc2e2clccc(c2)clcee(s1)/C=C(\C(=0)0)/C#N)clcec2e(cl)c
1=[N]=c3cccce3=[N]=c1n2C[C@@H](CCCC)CC)CC

. CCCC[C@H](Cnlc2ccc(ec2e2clcec(c2)clecc(o])/C=C(\C(=0)0)/C#N)clccc2e(cl)cl=
[N]=c3cecee3=[N]=c1n2C[C@@H](CCCC)CC)CC

78 CCCCCCnlc2cecec(cc2c2clece(c2)/C=C/I\SC(=S)N(C1=0)CC(=0)0)/C=C/I\SC(=S)N(
C1=0)CC(=0)0O

79 CCCCnlc2cc(ccc2c2celcc(cc2)clece(s1)[Cllc2eecc(n2[B](n2¢lcec2elcec(s1)C1=CC=[N
J=C[CH]1)(F)F)clcce(s1)C1=CC=[N]=C[CH]1)N(clcccccl)cleeeccl

%0 CCCCCCclce(sc1/C=C(\C(=0)0)/C#N)clsc2c(cl)cInn(nclcle2sc(cl)clcec2e(cl)n(Cl
C@H](CCCC)CC)clc2ececl ) C[C@@H](CCCC)CC

81 CC(Cnlnc2c¢(nl)clce(sclelc2ec(s1)clecc2e(c1)n(CC(C)C)cle2ececl)clece(s1)/C=C(\C
(=0)0)/CH#N)C

82 | N#C/C(=C/clcce(ccl)/C=C/clcec2e(cl)cleccecIn2elece(ccl)C)/C(=0)0O

83 CCCCOCclcc(sclclsc(c(cl)CCCCCC)else(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N)c1sc(
¢cc1COCCCC)cleec2e(cl)cleccecIn2CC

84 | CCCCnlc2cc(cec2e2celec(cc2)/C=C(/C(=0)O)\C#N)nlc2cccec2e2elceec2

85 | CCCCnlc2cc(cec2e2elcec(cc2)nlc2eccec2e2elccec2)clecce(s1)/C=C(/C(=O)O)\C#N

%6 Cnlc2cc(cec2e2elcec(cc2)nlc2ece(cc2e2elccc(c2)C(C)(C)C)C(C)(C)C)eleee(s1)/C=C(/
C(=0)O)\C#N

87 CCCCnlc2cc(cec2c2celec(cc2)nlc2eccec2e2elccec2)clece(s1)clece(s1)/C=C(/C(=0)0)
\CHN

88 CCCCnlc2cc(ccc2c2elcc(cc2)nlc2ecc(cc2e2elecce(c2)C(C)(C)C)C(C)(C)C)eleece(sl)cl
cce(s1)/C=C(/C(=0)O)\C#N

%9 CCCCCCclece(sclelsc(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N)clsc(cc1CCCCCC)clcec2
c(cl)clceecec1In2CC

%0 CCCCCCclcece(sclcleece(sl)cleee(s1)/C=C(/C(=0O)O)\C#N)c1sc(cc1CCCCCC)cleee2e(
cl)cleecccIn2CC

91 CCCCCCclce(sclelsc(c(c1)CCCCCC)clsc(c(c1)CCCCCO)clsc(e(cl)CCCCCO)/C=C(/
C(=0O)O)\C#N)clsc(cc1CCCCCC)clsc(ccl1CCCCCC)cleec2e(cl)clecececIn2CC

9 CCCCCCclcece(sclelsc(c(c1)CCCCCC)clecc2e(cl)cleccecIn2CC)elsc(cc1CCCCCC)e
1sc(cc1CCCCCC)/C=C(\C(=0)0)/C#N

93 | N#C/C(=C/clccce(sl)cleec(sl)clece(s1)clecc2e(el)clccecccln2CC)/C(=0)0O

94 CCCCCCclcee(sclclsc(c(c1)CCCCCC)clecc2e(cl)cleccecIn2CC)elsc(cc1CCCCCC)/

C=C(\C(=0)0)/C#N




95 | N#C/C(=C/clccc(ecl)clecc2e(cl)cleccecIn2elecc2-¢3¢(C(c2e1)(C)C)ecec3)/C(=0)0

9 CCnlc2ccc(cc2c2clcec(c2)clece(s1)C1=CC=[N]=C[CH]1)clccc(s1)clcece(ccl)N(cleee
(ccl)cleeesl)cleee(ccl)clcceesl

97 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C(\C(=0)0)/C#N)clccc(ccl)C=C(clccc(ccl)nlc
2cccec2c2clecec2)clccc(ccl)nlc2eccec2c2elceec?

98 CCCCCCnlc2ccc(ec2e2clcece(c2)/C=C(\C(=0)0)/C#N)clcee(cc1)C=C(clcec(ccl)nlc2
cccec2c2clcccc2)clece(ccl)nlc2eccec2e2clccec?

99 CCCCCCCCCCCCnlc2cecee(cc2e2elecce(c2)clcec(c2elnsn2)cleec2e(cl)n(CCCCCCCC
CCCC)cle2ec(cel)/C=C(/C(=O)O)\C#N)/C=C(/C(=O)O)\C#N

100 CCCCnlc2ccee(cc2c2celcece(c2)/C=C(/C(=0)O)\C#N)clsc(cclclecc(ce1)OC)clecc(ccl)
oC

101 | CCCCnlc2cce(cc2e2elcee(c2)clecce(s1)/C=C(/C(=O)O)\C#N)clcee(sl)clece(cel1)OC

102 | CCCCnlc2ccec(cc2c2elcec(c2)/C=C(/C(=0)O)\C#N)clcee(sl)cleee(cc1)OC

103 | CCCCnlc2ccec(cc2c2elccc(c2)clece(ccl)OC)clcec(s1)/C=C(/C(=O)O)\C#N

104 | CCCCnlc2ccc(cc2c2elcec(c2)/C=C(/C(=0)O)\C#N)clcee(ccl)OC

105 N#C/C(=C\clcce(sl)cleee(c2elnsn2)cleec2e(el)cleccecIn2elecc2-¢3¢(C(c2e1)(C)C)e
ccc3)/C(=0)0

106 N#C/C(=C\clcec(ol)cleee(c2elnsn2)clecc2e(cl)cleccecIn2elecc2-¢3¢(C(c2e1)(C)C)e
ccc3)/C(=0)0

107 N#C/C(=C/clcce(ccl)cleec(c2clnsn2)clcec2e(cl)cleccecIn2elcec2-c3¢(C(c2cl)(C)C)
ccee3)/C(=0)0

108 | N#C/C(=C\clcec(ol)cleec2e(cl)cleececIn2elcec2-¢3¢(C(c2c1)(C)C)ccec3)/C(=0)0

109 N#C/C(=C\clcee2e(el)elec(ceccIn2CC)elecc(ce1)C=C(clcce(cc1)N(C)C)elece(ccl)N(
C)C)/C(=0)0

110 CCCCCCnlc2ccec(ec2e2clece(c2)/C=C(/clccc(ccl)clecc(ccl)/C=C\/SC(=S)NCC(=0)
OC1=0)\C#N)/C=C(\clccc(ccl)cleee(cel)/C=C/I\SC(=S)N(C1=0)CC(=0)0O)/C#N

i CCCCCCnlc2ccc(ec2c2clece(c2)/C=C(/clccc(ccl)clcec(cel)/C=CAC(=0)0O)/CHNN\CH#
N)/C=C(\clcce(cel)cleec(ccl)/C=C(\C(=0)O)/C#N)/C#N

12 CCCCCCCCnlc2cce(cc2e2elcece(c2)clece(s])clecc(s1)/C=C(/C(=0)O)\C#N)clcce(s)
cleee(s1)/C=C(/C(=0)O)\C#N

113 CCCCCCCCnlc2cce(cc2e2celcec(c2)clece(s1)/C=C(/C(=O)O)\C#N)clcce(s1)/C=C(/C(
=0)O)\C#N

114 CC(nlc2ccec(cc2c2elcec(c2)clsc(cc1CC)elece(s1)/C=C(\C(=0)0)/C#N)clsc(cc1C)clcc
c(s1)/C=C(\C(=0)0)/C#N)C

115 CC(nlc2cec(cc2c2elcec(c2)clece(sl)clecc(sl)clece(s1)/C=C(/C(=0O)O)\C#N)clcce(s1)
clcee(sl)cleee(s1)/C=C(\C(=0)0)/C#N)C

116 CCCCCCCCC(nlc2cec(ec2ec2elcec(c2)clece(sl)clece(s1)/C=C(\C(=0)0O)/C#N)clccc(s
I)clcee(s1)/C=C(\C(=0)0)/C#N)CCCCCCCC

117 CCCCCCnlc2cce(cc2c2elcec(e2)clsc(cc1CCCCCC)clece(s1)/C=C(\C(=0)0)/C#N)cls
¢(cc1CCCCCC)cleee(s1)/C=C(\C(=0)0)/C#HN

118 CCCCCCnlc2ccc(cc2c2elcec(e2)clece(sl)clece(sl)clece(s1)/C=C(/C(=0O)O)\C#N)clc
ce(sl)clece(sl)clece(s1)/C=C(\C(=0)O)/C#N

119 | CCCCCCnlc2cee(cc2e2elccc(c2)clece(sl)elece(s1)/C=C(/C(=O)O)\C#N)clcce(sl)cle




ce(s1)/C=C(\C(=0)0)/C#N

CCCCC[C]1e2¢(c(c(n2[B](n2¢1e(C)e(c2C)/C=C(/C(=0)ONCHN)(F)F)C)eclecc2e(c1)n(c

120
Icee(eel1)OC)cle2eccecl)C

91 CCCCC[C]1c2¢(c(c(n2[B](n2¢1¢c(C)e(c2C)/C=C(/C(=O)O)\CH#N)(F)F)C)clcec2e(cl)n(
CCCCCCCC)clc2ccecl)C

. CCCCC[C]1c2¢(c(c(n2[B](n2¢1c(C)e(c2C)/C=C(/C(=O)ON\CH#N)(F)F)C)clcec2e(cl)clce
ccecln2cleec(ccl)OC)C

193 CCCCC[C]1c2¢(c(c(n2[B](n2¢1c(C)e(c2C)/C=C(/C(=O)ON\CHN)(F)F)C)clcec2e(cl)clce
ccec1ln2CCCCCCCO)C

124 N#C/C(=C\clcee(sl)cleec2e(el)elec(cec1n2CC)clecce(cel)C=C(clccc(ccl)N(C)C)elee
c(cc1)N(C)C)/C(=0)O

125 N#C/C(=C/clcec2e(cl)clcce(cc1n2CC)elece(sl)clece(s1)clecc(cel)C=C(clcee(ccl)N(
C)C)cleee(cc1)N(C)C)/C(=0)O

126 N#C/C(=C/clcec2e(cl)clecc(cc1In2CC)clecce(s1)clece(ccl)C=C(clcce(ccl)N(C)C)elec
c(cc1)N(C)C)/C(=0)0O

127 | CCCCCCnlc2cec(cc2c2elccec2)clece(cel)/C=C/1\SC(=S)N(C1=0)CC(=0)0O

128 | CCCCCCnlc2ccee(cc2c2elccec2)clecce(ccl)/C=C(\C(=0)0)/C#N

129 | CCCCCCnlc2cec(cc2c2elccec?)/C=C(\clcec(s1)C=C1C(=O)NC(=O)NC1=0)/C#N

130 CCCCCCnlc2cce(cc2c2elceec2)/C=C(\clcee(s1)/C=C\1/SC(=S)NCC(=0)OC1=0)/C#
N

131 | CCCCCCnlc2cee(cc2c2elccec2)/C=C(\clcee(s1)/C=C(/C(=0O)O)\C#N)/C#N

132 CCCCCC[C@H](Cclce(sclclsc2-c3¢(C4=NON|[C]4c2c1)ce(s3)clsc(cc1 C[C@H](CCC
CCC)CCCC)clcec2e(cl)clecececcIn2CC)/C=C(/C(=O)O)\C#N)CCCC

133 CCCCOclccec(ccl)N(cleec2e(c1)n(CCCC)clc2ecce(cl)clcee(s1)cleee(s1)/C=C(/C(=0)
O)N\C#N)cleee(ce1)OCCCC

134 CCCCnlc2cc(cec2c2celcec(ce2)clecce(s1)/C=C(/C(=0)O)\C#N)N(clcee(cc1)OCCCC)elce
cc(ccl)OCCCC

135 | CN1/C(=C\[CH]c2ccc3e(c2)c2eccee2n3C)/C(c2clcce(c2)C(=0)0)(C)C.[I]

136 CCCCCCCCOclcee(ccl)clc2e3cecec3n(c2e(c2cIn(CCCCCCCC)elc2ec(ecl)clecce(sl)/
C=C(/C(=O)O)\C#N)clcce(cc1)OCCCCCLCCO)CCLCeeeee

137 CCCCCCCCnlc2cec(cc2e2elc(clece(cc1)OCC)elc(c2e2ece(cc2)OCC)n(c2elceec2)CC
CCCCCC)clcee(s1)/C=C(/C(=0)O)\C#N

138 CCCCCCCCnlc2cec(cc2e2elc(clece(ccl)N(CC)CO)cle(c2c2ece(cc2)N(CC)CC)n(c2cl
cccc2)CCCCCCCO)cleee(s1)/C=C(/C(=O)O))\C#N

139 CCCCCCCCnlc2cec(cc2e2elc(clece(cc1)CC)ele(c2c2ecc(cc2)CCn(c2clecec2)CCCC
CCCC)cleee(s1)/C=C(/C(=O)O)\C#N

140 CCCCCCCCclece(sclcleee(s])clsc(cc1CCCCCCCC)/C=CO\C(=0)0)/C#N)clcc2e(c3cel
ccee3)n(cle2ec(OC)cc])[C@@H](CCCCC)CC

141 | CCCCC[C@H](nlc2cee(cc2c2elclccecclce(c2)clecc(ol)/C=C(/C(=O0)O)\C#N)OC)CC

142 CCCCC[C@@H](nlc2ccc(cc2c2clcleccecle(c2)clece(s1)/C=CAC(=0)0)/C#N)OC)C
C

143 | N#C/C(=C\clccc(sl)cleec(ecl)clec2e3e(cl)clececcIn3celc2ececel)/C(=0)0

144 | N#C/C(=C\clcce(ccl)clece(ecl)elec2e3e(cl)cleceeeln3clc2ececl)/C(=0)0O




145 | N#C/C(=C\clccce(sl)clec2e3c(cl)cleccecln3clc2ececl)/C(=0)0O

146 | N#C/C(=C\clcce(ccl)clec2e3ce(cl)cleccccln3clc2eceel)/C(=0)0O

147 | N#C/C(=C/clcce(ccl)nlc2eccec2c2elcccc2)/C(=0)0

148 N#C/C(=C\clcee(sl)cleee(sl)clece(sl)nlc2ecc(cc2c2elccc(c2)nlc2eceec2e2cl ceec2)n
1c2ccecc2c2clcccc2)/C(=0)0

149 | N#C/C(=C\clcce(sl)clceee(sl)clece(sl)nlc2ecccc2e2elcecc2)/C(=0)0O

150 | N#C/C(=C\clcee(sl)cleee(sl)nlc2ececc2e2clccec2)/C(=0)0

151 | N#C/C(=C\clcee(s1)clcec(ccl)nlc2eccec2e2elceec)/C(=0)0

152 | N#C/C(=C\clccc(ecl)N(clcececl)cleee(ecl)/C=N/clcecc2e(cl)clcccec1n2CC)/C(=0)0

153 CCCCCCnlc2cce(cc2c2elcec(c2)/C=C(/C(=0)O)\C#N)/C=N/clccc2c(cl)cleccecIn2C
C

154 | CCCCCCnlc2ccec(cc2c2elccec2)clece(ccl)C=C1C(=O)NC(=S)NC1=0

155 | CCCCCCnlc2cec(cc2c2elccec2)clece(ccl)C=C1C(=O)NC(=O)NC1=0

156 CCCCC[CH]nlIc2cce(cc2e2clecee2)clee(sclclsc(e(cl)cleec2e(cl)cleceeeIn2CCCCC
C)cleec2e(cl)eleeececIn2CCCCCC)/C=C(/C(=0)O)\C#N.[H]

157 CCCCnlc2ccec(ec2c2clccec2)clecc(sl)clec2e(sl)elc(n2¢c2ecce3-c4c(C(c3¢2)(CCCC)CC
CC)ccecd)ec(s1)/C=C(\C(=0)0)/C#N

158 CCCCnlc2cc(ccc2c2elcc(cc2)N(clece(ccl)clecc2-c3¢(C(c2c1)(CC)CC)ecec3)clece(ce
I)clcee2-c¢3c(C(c2c1)(CC)CC)ecee3)clece(sl)clece(s1)/C=C(/C(=0)O)\C#N

159 CCCCnlc2cc(ccc2c2elcc(cc2)N(clece(ccl)clecc2-c3¢(C(c2c1)(CC)CC)ecec3)clece(ce
I)cleee2-c3c(C(c2e1 )(CC)CC)ecce3)clece(s1)/C=C(/C(=O)O)\C#N

160 OC(=0O)CCCCCCnlc2cc(cec2e2clec(cc2)N(clecceel)cleccecl)cleee(s1)C1=[N]=CC=
[N]=C1

161 | CCCCnlc2cc(cec2c2elcec(cc2)N(clcccecl)clecceel)clece(s1)C1=[N]=CC=[N]=Cl1

162 OC(=0O)CCCCCCnlc2cc(cec2e2elec(cc2)N(clecceel)cleccecl)cleee(s1)C1=CC=[N]=
C[CH]1

163 | OC(=0O)CCCCCCnlc2cc(cecc2e2clec(cc2)C1=CC=[N]=C[CH]1)N(clcccccl)clccececl

164 | CCCCnlc2cc(ccc2e2celcc(cc2)N(cleceecl)cleccecl)clece(s1)C1=CC=[N]=C[CH]1

165 | clcec(ecl)N(cleec2e(cl)[nH]clc2eee(cl)clcee(s1)C1=CC=[N]=C[CH]1)clcccccl

166 | CCCCnlc2cc(ccc2c2elcc(cc2)C1=CC=[N]=C[CH]1)N(clcccccl)clcceecl

167 | clcec(ecl)N(cleec2e(cl)[nH]elc2eee(c1)C1=CC=[N]=C[CH]1)clcccccl

168 | CCCCnlc2cc(ccc2c2elcec(cc2)N(cleccecl)cleceeel)clece(ccl)C(=0)0O

169 | OC(=0O)clccc(ccl)clecc2e(cl)[nH]clc2ccc(c1)N(cleececl)eleceecl

170 CCCCCI[C]1c2c(c(e(n2[B](n2c1c(C)e(c2C)/C=C(\C(=0)0)/C#N)(F)F)C)clcee(cc1)N(c
Iceeeel)cleceeel)C

17 CCCCCCclece(sclelsc(cc1CCCCCC)clse(c(c1)CCCCCC)/C=CAC(=0)0)/C#N)clsc(cc
1CCCCCC)clcec2e(cl)cleccecIn2CC

17 CCCCCCnlc2ccc(ec2e2clece(c2)N(clece(cel)elece(sl)cleee(s1)/C=C(/C(=O)O)\C#N)
cleee(ce1)OC)N(cleec(ecl)eleece(sl)cleee(s1)/C=C(/C(=O0)O)\C#N)clccc(cel1)OC
CCCCCCCC[C@@H](Cnlc2cc(CH#Cc3cee(c4c3nsnd)c3cec(ce3)C(=0)0)c3cdc2c2el ec(

173 | clceeSce(el)eleccccInSC[C@@H](CCCCCCCC)CCCCCC)elc2e(cdcece3)cecl)CCCCC
C

174 | CCCCCCCC[C@H](Cnlc2cc(C#Cc3cce(cdc3nsnd)c3cec(ce3)C(=0)0)c3cdc2c2elcec(cl




cee5e(-c6eecec6[C@]5(C[C@@H](CCCCCCCICH])CCC[CH2])C[C@H](CCCCCCCC
YCCCCCC)el)elc2e(cdeee3)ece1)CCCCCC.[CH2]C.[H].[H]

CCCCCCCC[C@H](Cnlc2ccc3cdc2c2celcc(CHCelecc(c5clnsnS)clceee(ccl)C(=0)0)cl

175 c2c(c4ceec3)eccl)CCCCCC
CCCCCCclec(sclelee(c(s1)/C=C(/C(=O)Nclcce(cel)[Si](OC)(OC)OCN\CH#N)CCC[CH

176 | 2])clsc(ccl1CC[CH])clsc(cc1CCCCCC)clccc2e(cl)elcecececln2CC.JCH2]C.[CH2]C[CH
2].[H].[H]

177 CCCCCCclece(sclelsc(c(c1)CCCCCC)/C=C(/C(=O)Nclcce(ce1)C(=O)ONCH#N)clsc(ce
1CCCCCC)clsc(cc1CCCCCC)clecc2e(cl)cleccecIn2CC

178 CCCCnlc2ccee(cc2c2celcce(c2)clecc2e(cl)clec(cccIn2CCCC)elsc(c2c10CCO2)/C=C(/
C(=0)O)\C#N)clcee2e(cl)clee(cecc1n2CCCC)clecc2e(cl)cleccec1n2CCCC

179 CCCCnlc2ccec(ec2c2clccc(c2)clecc2e(cl)cleccec In2CCCC)eleecc2e(cl)elec(cee1In2C
CCC)clse(c2c10CCO2)/C=C(/C(=0)O)\C#N

180 CCCCnlc2ccec(cc2c2celcce(c2)clse(c2c10CCO2)/C=C(/C(=O)ONC#N)clccc2e(cl)clee
cccln2CCCC

181 | N#C/C(=C\C1=[N]=C2[C](C=C1)C=C(C=C2)n1c2ccc(cc2c2clccc(c2)OC)0C)/C(=0)O

182 CCCcCceceececClnlc2eceec2e2elcec(c2)Cl=[N]=c2cce(cc2=[N]=Clclccc2e(cl)clce
ccc1n2CCCCCCCCCCCC)cleee(sl)/C=C(/C(=O)O)\CH#N

183 CCCCCCnlc2ccecc2c2clcec(c2)Cl=[N]=c2ccc(cc2=[N]=Clclccc2e(cl)cleccecIn2CC
CCCC)clecce(s1)/C=C(\C(=0)0O)/C#N

184 CCCCnlc2ccec(ec2c2celccec2)Cl=[N]=c2cc(ccc2=[N]=Clclccc2c(cl)cleccec In2CCCC
)cleee(s1)/C=C(/C(=O)O)\C#N

185 N#C/C(=C/clcee(sl)cleecc2=[N]=C(C(=[N]=c2c1)clccc2c(cl)cleccec In2CC)elecc2e(c
1)clceeec1n2CC)/C(=0)0

186 CCCCCCCCnlc2cccec2e2clecclc2ce2c3ec(cee3n(c2ccl)CCCCCCCO)/C=C(/C(=0)0)\
C#N

187 N#C/C(=C\c1sc2-c3¢(C(c2c1)(C)C)ee(s3)clcce(sl)nlc2ece(cc2e2elcee(c2)C(C)C)C)C
(O)(C)C)/C(=0)O

188 N#C/C(=C\c1sc2-c3¢(C(c2c1)(C)C)ee(s3)clecce(sl)clece(sl)nlc2ecc(ce2c2eleee(c2)C(
C)(C)O)C(CY)(C)C)/C(=0)O

189 CCCCCCCCeclece(sclclsc2-c3c(C(c2¢1)(C)C)ee(s3)/C=C(/C(=0)O)\C#N)nlc2cce(cc2e
2clcec(c2)C(C)(C)C)C(C)(C)C

190 CCCCCCnlc2ccc(ec2c2clecee2)cle(/C=C(/C(=0)O)\C#N)sc(clcleec2e(cl)cleceee1n2
CCCCCC)/C=C(/C(=0)O)\C#N
CCCCnlc2cc(cec2e2celcec(cc2)clecc(sl)cleee2nl[B](F)(F)nlc(cec1[C]2c1cce(s1)/C=[C

191 | NC#N)clceee(sl)cleee2e(cl)n(CCCC)cle2ece(cl)N(cleeceel)eleecccl)N(cleeeeel)ele
cceel.[C][CH)/C=N\[CH][CH]

192 N#C/C(=C/clcec(ccl)CHCcleee2e(cl)n(clecc(ccl)C(F)(F)F)clc2ece(cl)nlc2ecc(cc2e2
cleee(e2)C(C)(C)O)C(C)(O)C)/C(=0)0

103 N#C/C(=C/clcee(ccl)C#Ccleec2e(cl)n(clece(ccl)C(F)(F)F)clc2ece(c1)C#HCelcee(ecl)
nlc2cce(cc2e2elcec(c2)C(C)(C)C)C(C)(C)C)/C(=0)0

194 N#C/C(=C\clcee(ccl)C#Celece(s1)elcee(s1)C#Celecee(ccl)nlc2ecc(cc2c2elcec(c2)C(
C)(C)O)C(C)(C)C)/C(=0)O

195 | N#C/C(=C\clccc2e(cl)elc(n2C)ccc2elcle3cceee3n(clec2)C)/C(=0)0

9




[CH2]CCCnlc2ce(ccc2e2clec(cc2)clcec(sl)cleee2nl[B](F)(F)nlc(cecl1[C]2clcec(sl)/

196 | C=C(/C(=O)O)\C#N)clcce(sl)cleee2e(c1)n(CCCC)ele2ecc(cl)N(cleccecl)cleceecl)N
(clcceeel)elcecececl.[H]

197 CCCCCCnlc2ccec(ec2e2clece(c2)/C=C(/clcee(s1)C=C(C(=0)0)C(=0)O)\C#N)/C=C(/c
Leee(s1)C=C(C(=0)0)C(=0)O)\C#N

198 | CCCCnlc2ccec(cc2c2elcec(c2)clece(sl)cleec(ccl)C(=0)0)clece(sl)cleec(ccl)C(=0)O

199 CCCCnlc2ccec(ec2c2celccc(c2)clece(s1)C1=CC=[N]=C[CH]1)clccc(s1)C1=CC=[N]=C[
CH]1

200 | CCCCnlc2ccec(ec2c2elccc(c2)clece(sl)cleee(c(c1)O)O)clecce(sl)clece(c(c1)O)O

201 CCCCnlc2ccec(cc2c2celcec(c2)clece(s1)C1=CC=[N]=C[CH]I)clccc(s1)clccc(ccl)C(=0
)O

202 | CCCCnlc2ccec(cc2c2elcec(c2)clece(s1)CI1=CC=[N]=C[CH]I)clccc(sl)clcce(c(c1)O)O

203 | CCCCnlc2ccec(cc2c2elcec(c2)N(cleccccl)cleceeel)cleee(c(c1)0)O

204 | CCCCnlc2ccec(cc2c2elcce(c2)N(cleceecl)cleccecl)clece(s1)C1=CC=[N]=C[CH]1

205 Cnlc2ccece(cc2c2clcec(c2)cleec(s1)C1=CC=[N]=C[CH]1)clccc(s1)C1=CC=[N]=C[CH]
1

206 cl2cc(ceclele(C=[N]=C[CH]1)s2)clcce(sl)clcec(cc1)N(cleee(cc1)OCC)eleee(cc1)OC
C

207 CCCCCCCCCCCI=[N]=C(S[C]1clcee2e(c1)n(CCCC)elc2ecec])C1=[N]=C([C](S1)cl
cce(s1)/C=C(/C(=0)O)\C#N)CCCCCCCCC

208 CCCCCCOclcee(ccl)N(clee2e3ec(ecee3n(c2cc10CCCCCC)CCCCCC)elec2e(sl)ele(n
2¢2ccec(c2)OCCCCCC)ec(s1)/C=C(/C(=0O)O)\C#N)clcee(cc1)OCCCCCC
COclccee(cl)nlc2ccsc2c2elcec(s2)clece(ccl)N(clec2e(cc1OC)n(cle2ec(ccl)clsc2e(cl)

209 | n(c1c2sc(c1)/C=C(\C(=0)0)/C#N)clcccc(c1)OC)C)clece(ccl)clsc2e(cl)n(clc2scel)cl
ccee(c1)OC

210 CCCCCCOclcece(ecl)N(clec2e3cceee3n(c2cc IOCCCCCC)CCCCCC)elecce(ecl)clec2e
(s1)cle(n2¢2cccecc20CCCCCC)cece(s1)/C=C(/C(=0)O)\C#N

211 CCOclce2n(C)e3e(c2ecIN(clecce(ccl)elec2e(s1)cle(n2e2cccec20C)ec(s1)/C=C(/C(=0O
JONC#N)clcee(ecl)clec2e(sl)cle(n2¢2ccccc20C)cces1)ecece3

)12 CCCCCCCnlc2ccc(cc2c2elecce(c2)/C=C(/C(=0)O)\C#N)clccc(ccl)N(cleceeel)elecee
cl

213 CCCCCCCnlc2ccc(cc2c2elecce(c2)/C=C/clcee(ccl)N(clcee(ccl)/C=C\clcec2e(cl)clce
(ccc1n2CCCCCCC)/C=C(/C(=0)0)\C#N)cleccceel)/C=C(\C(=0)0O)/C#N
Cnlc2cee(cc2c2celcece(c2)/C=C/clcece(ccl)N(clcee(ccl)/C=C/clcec2e(cl)clec(cec1n2C

214 | )/C=C(\C(=0)0)/C#N)clccc(ccl)/C=C/clcec2e(cl)clec(cec1n2C)/C=C(/C(=0)O)\C#N)
/C=C(\C(=0)0O)/C#N

215 N#C/C(=C\clcce(sl)cleec2e(cl)cleccccIn2¢lcece(ccl)N(cleee(ccl)nlc2ececec2e2elece
c2)cleec(ccl)nlc2eccec2ce2clcecec2)/C(=0)0

216 O1C(=0)CNC(=S)S/C(=C\c2ccc(s2)c2cec3e(c2)c2eccec2n3c2ecc(cc2)N(c2cec(ec2)n2e
3ccecc3c3c2cccc3)c2ecc(cc2)n2c3ceccec3c3c2eccec3)/C1=0

917 CCCCCCCnlc2cc(/C=C/c3cce(ec3)N(c3cceee3)c3cccee3)ccc2e2clcee(c2)/C=C(/C(=0)
O))\C#HN

218 | CCCCCCCnlc2cce(cc2e2elec(/C=C/clcec(ccl)N(clcce(ecl)/C=C\clcec3e(cl)n(CCCC

10




CCC)clc3ee(ccl)/C=C(/C(=O)O)\C#N)clccceel)ee2)/C=C(\C(=0)O)/C#N

Cnlc2ce(/C=C/c3cec(ce3)N(c3cec(ec3)/C=C\c3cccde(c3)n(C)c3cdec(ce3)/C=C(\C(=0)

219 | O)/C#N)c3cee(ce3)/C=C\c3cccde(c3)n(C)e3cdec(cc3)/C=C(\C(=0)0)/C#N)ccc2c2clcee
(c2)/C=C(\C(=0)0O)/C#N
OC(=0)CN1C(=S)S/C(=C\c2ccc(s2)c2ccc(cc2)N(c2ecc(cc2)n2e3cce(ce3c3c2ece(c3)C(

220 | C(CO)C)C([CH2])(C)O)[CI(/C=C\C(=[CH])n2c3ccc(cc3c3c2ece(c3)C(C)(C)C)C(C)(CO)C
)[CH])/C1=0.[H]

991 CCCCCCNIC(=[N]=C([C]1clcce(ecl)elece(s1)/C=C(\C(=0)0O)/C#N)clcce(cel)clcee(
s1)/C=C(\C(=0)0)/C#N)clccc2c(cl)clcecccIn2CCC[CH]CC.[H]
CCCCCCOclcece(ccl)N(cleee(ece1)OCCCCCC)cleee(ccl)elcee(s1)C1=[N]=C([C](N1C

222 | CCCCC)clcee(ccl)clece(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)cleee(s1)/C=C(/C(=O)O)\
C#N

993 CCCC[C@@H](Cnlc2cc3e(cc2e2elcce(c2)clecc(s])clece(s1)/C=C(/C(=0)O)\C#N)clc
(n3C[C@@H](CCCC)CC)cec(cl)clece(sl)clece(sl)/C=C(/C(=O)O)\C#N)CC

224 | CCN1/C(=C\[C]2C(=C(C2=0)c2ccc(s2)n2c3cccec3c3c2ecece3)0)/Ce2elcee(c2)C(=0)0

295 CCNI1/C(=C\[C]2C(=C(C2=0)c2ccc(s2)n2c3cce(cc3c3c2ece(e3)C(C)(C)C)C(C)(C)O)0)
/Cc2c¢lcee(c2)C(=0)0

226 | N#C/C(=C/clcce(s1)[C]ISC=C(N1)clccc(ccl)nlc2eccec2c2elccec?)/C(=0)0O

997 N#C/C(=C/clcee(s1)[C]1SC=C(N1)clccc(ccl)clecc2e(cl)n(clcccecl)clc2ececl)/C(=0
)O

228 | CCCCnlc2cccec2ce2elec(ce2)clecc(ccl)C1=CS[C](N1)clcce(s1)/C=C(\C(=0)O)/C#N

279 CCOclcee(eel)cleec2e(el)clec(cecIn2elccc(ecl)clece(sl)clcec(s1)/C=C(\C(=0)0)/C
#N)clcee(cel)OC

230 CCCCCCOclccc(cecl)cleec2e(cl)elec(cecIn2elcec2-c3¢(C(c2cl)(C)C)ece(s3)clcec(sl)/
C=C(\C(=0)0)/C#N)clccc(ccl)OCCCCCC

31 COclcc(OC)ceclclecc2e(cl)clec(cecIn2elcee2-¢3¢(C(c2e1)(C)C)ec(s3)cleece(s1)/C=C
(\C(=0)0O)/C#N)clcce(cc10C)OC

93 CCCCCCnlc2ccc(ec2e2clece(c2)clcec(o1)/C=C(\C(=0)0)/C#N)clccc(o1)/C=C(\C(=0
)O)/C#N

933 CCCCCCnlc2ccc(ec2e2clece(c2)clcec(s1)/C=C(\C(=0)0)/C#N)clcce(s1)/C=C(\C(=0)
0)/C#N

234 CCCCCCnlc2ccc(ec2e2clece(c2)clcec(cel)/C=C(\C(=0)0)/C#N)clccc(ccl)/C=C(\C(=
0)0)/C#N

235 | CCCCCCnlc2ccec(cc2c2eleccec2)clece(ccl)/C=C(\C(=0)0)/C#N

236 | CCCCCCnlc2cec(cc2c2clccec2)clecc(c(cl)F)/C=C(\C(=0)0O)/C#N

237 | CCCCCCnlc2ccee(cc2c2elccec2)clece(cclF)/C=C(\C(=0)0)/C#N

238 | CCCCCCnlc2cee(cc2c2elccec2)clece(c(c1F)F)/C=CO\C(=0)0O)/C#N

239 | CCCCnlc2ccec(cc2e2elcec(c2)/C=C/I\SC(=O0)NC1=0)/C=C/1\SC(=0)NC1=0

240 | CCCCnlc2ccec(cc2e2elcec(c2)C=C1C(=0O)NC(=0)NC1=0)C=C1C(=0)NC(=O)NC1=0

241 | CCCCnlc2ccec(cc2c2elceec2)C=C1C(=0O)NC(=O)NC1=0

242 | CCCCCCnlc2cee(cc2c2elccec2)C=C1C(=0)NC(=0O)NC1=0

243 CCCCCCclcece(scleleec(ccl)N(cleee2e(cl)clecececIn2elcccecl)cleec2e(cl)cleccecIn2

cleeccecl)clsc(cc1 CCCCCC)/C=C(\C(=0)O)/C#N
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CCCCCCclcce(sclcleec(eccl)N(cleec2e(cl)cleceecIn2elcccecl)cleec2e(cl)cleccecIn2

244 clcceeel)/C=C(\C(=0)0)/C#N

245 N#C/C(=C\clcee(ccl)N(cleceec1)CCCCCCNI1c2cecccc2Sc2clcece(c2)/C=C(/clcce(s1)/C
=C(/C(=0)O)\CHN)\C#N)/clcce(s1)/C=C(/C(=O)O)\C#N

246 N#C/C(=C\clcee(ccl)N(cleeeec1)CCCCCCNI1c2cececc2Sc2clcece(c2)/C=C(/C(=0)O)\C
#N)/C(=0)O

247 | CCCCNI1c2ccc(ce2Sc2clceccc2)clece(s1)/C=C(/C(=0)O)\C#N

248 | CCCC[C@@H](CN1c2cce(cc2Sc2celceec2)/C=C(/C(=O)O)NC#N)CC

249 N#C/C(=C\clcee2e(c1)Oclc(N2CCCCCCN2c3cceee30c3c2ecc(e3)/C=C(/C(=0)O)\C#
N)cceeel)/C(=0)0O

250 0=C10C(=0)/C(=C/c2ccc(cc2)N(c2ccec(cc2)N2c3cceee3Sc3c2eccee3)c2ece(ce2)N2c3ce
cce3Sce3c2ccec3)/SC(=S)NC1

551 CCCCCCNI1ec2ccee(ce2Sc2eleece(c2)OCIC@H](CCCC)CC)elece(s)[C@@H][C@H](
0)/C(=C/[C@@H]2N(CCCCCCCC)c3c(C2(C)C)cc(cc3)C(=0)0)/C1=0

952 CCCCNIc2cce(ce2Sc2clece(c2)clecc(cc10CCCC)OCCCC)elccce(sl)clece(s1)/C=C(/C
(=O)O)\C#N

953 CCCCCCNIC(=C2C(=C(N(C2=0)CCCCCC)c2ccc(cc2)c2ecc(cc2)/C=C(/C(=0)O))\C#
N)C1=0)clccc(ccl)clecc2e(c1)Sclc(N2CCCCCC)cecccl

954 COclcee(ccl)N1c2eee(cc2Sc2clcecc(e2)clecc2e(cl)Scle(N2c2cece(cc2)OC)cce(cl)/C=C
(/C(=0)O)\C#N)clcee2e(c1)Scle(N2c2eee(cc2)OC)ececl

555 COclcee(ccl)N1c2eee(cc2Sc2clcecec2)clecc2e(c1)Scle(N2c2ece(cc2)OC)ece(cl)/C=C(
/C(=0)O)\C#N

256 | CCCCCCOclcee(ccl)NIc2ecccc2Sc2cleee(c2)/C=C(/C(=0O)O))\C#N

557 CN1c2cec(ec2Sc2clece(c2)clcec2e(cl)Sclc(N2C)ece(c1)/C=C(/C(=0)O)\C#N)clcec2e
(c1)Sclc(N2C)ccccl

558 CCCCCCNI1c2ccee(ce2Sc2celccec2)clecc2e(cl)Scle(N2CCCCCC)ece(c1)/C=C(/C(=0)
O)\C#N

559 CN1c2ccece(ec2Sc2clece(c2)/C=C\1/SC(=S)NCC(=0)OC1=0)/C=C/1\SC(=S)NCC(=0)
0C1=0

260 | CCCC[C@@H](CN1c2cce(cc2Sc2elccec2)/C=C\1/SC(=S)N(C1=0)CC(=0)0)CC

261 CCCC[C@@H](CN1c2cee(ce2Sc2celcee(c2)/C=C(/C(=0)O)\C#N)/C=C(/C(=O)O)\C#N
)CC

262 CCCCCCCCCCCC[C@H](CN1c2cce(ce2Sc2clceec(c2)N1CCCC1)/C=C/1\SC(=S)N(C1
=0)CC(=0)0)Cccceeeeccece

263 CC(CN1c2cce(cc2Sc2elcec(c2)nlc2eccec2c2celcccc2)/C=C/I\SC(=S)N(C1=0)CC(=0)
0)C

264 CC(CN1c2cce(cc2Sc2elcec(c2)N1c2eceec2Sc2clecec2)/C=C\1/SC(=S)N(C1=0)CC(=0
)O)C

265 CCCCCCNIc2ccee(ce2Sce2clcee(c2)/C=C/I\SC(=S)NCC(=0)OC1=0)clccc2c(c1)Sclc(
N2CCCCCC)ccccl

266 | CCCCCCNIlc2cce(cc2Sc2clecce(c2)clccc(ecl)C)/C=C/I\SC(=S)N(C1=0)CC(=0)0O

267 CCCCCCCCCCCC[C@H](CN1c2cce(ec2Sc2clcec(c2)CH#N)/C=C/I\SC(=S)NCC(=0)0O

Cl=0)CCccceeecee
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CCCCCCCCCCCCIC@H](CNIe2eec(ce2Sc2e]cee(c2)/C=C/1\SC(=S)N(C1=0)CC(=0

268
)O)Br)CCCCCCCCCC

269 CCCCCCCCCCCC[C@H](CN1c2cceee2Sc2clcce(c2)/C=C/1\SC(=S)N(C1=0)CC(=0)
0)Ccceceececcece

270 | CCSclec2e(ccl/C=C(/C(=O0)O)\C#N)Sclc(N2c2cce(cc2)OC)cceccl

271 | CCCCN1c2cec(SCC)c(cc2Sc2clcecc2)/C=C(\C(=0)0)/C#N

272 | COclcee(ccl)N1c2ceece(ce2Sc2elccec2)/C=C(/C(=0)O)\C#N

273 | CCCCNI1c2cecee(ce2Sc2clceccc2)/C=C(\C(=0)0)/C#N

974 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C(\C(=0)0)/C#N)clccc(ccl)N(cleec2-c3¢(C(c2
c1)(CCC)CCC)ccec3)clecc2-c3c(C(c2cl)(CCC)CCC)eccc3

275 CCCCCCNIc2ccee(ce2Sce2clcece(c2)/C=C(\C(=0)O)/C#N)N(clcce(ecl)C(cleceecl)(C)
C)cleee(ecl)C(cleceeel)(C)C

276 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(\C(=0)O)/C#N)clccc2e(cl)cleccecn2CCCC
CC

277 | CCCCCCNI1c2cee(ce2Sc2clcccc2)/C=C(/C(=0)O)\C#N

278 Cclceec(ccl)NIc2eece(cc2Sc2clccc(c2)clece(sl)elece(s1)/C=C(/C(=O)O)N\C#N)clcee(sl
)cleee(s1)/C=C(\C(=0)0)/C#N

279 CCCCCCclcee(ccl)N1c2eee(cc2Sc2elcec(c2)clece(s1)/C=C(\C(=0)O)/C#N)clccc(sl)/
C=C(\C(=0O)O)/C#N

280 N#C/C(=C\clcee(sl)cleee2-c¢3¢c(C(c2c1)(CC)CC)ee(cc3)N1c2ecccc2Sc2elecec2)/C(=0
)O

281 | CCNlc2cee(ce2Sc2celceec2)/C=C/clsc(c2c10CCO2)/C=C(/C(=0)O)\C#N

282 | CCCCCCCCNI1c2cee(ce2Sc2celccec2)/C=C/clece(sl)clece(s1)/C=C(\C(=0)0)/C#N

283 CCCCCCCCNI1c2ccce(ec2Sc2cleccc2)/C=C\clsc(cc1/C=C/clcec2e(c1)Scle(N2CCCCC
CCCQ)ccccl)cleece(sl)clece(s1)/C=C(/C(=0)O)\C#N

284 CC1(C)c2cc(cec2-c2clcc(cc2)clece(sl)clece(s1)/C=C(/C(=0O)O)\C#N)N1c2ccecc2Sc2e
Icee(e2)[CH]C1=c2¢(=C3[C]1C=CC=C3)cccc2

285 CCCCCCNIc2ccece(cc2Sc2clecc(c2)clsc(cc ICCCCCC)C1=C[CHIN(C=C1)C(=0)O)clc
cc(cc1OCCCCCO)0Ccceecec

286 | CCCCCCclcece(sclclcec2e(c1)Sclc(N2CCCCCC)ccecl)C1=C[CH]N(C=C1)C(=0)O
CCCCCCNI1ec2ccee(ce2Sc2eleece(c2)OCIC@H](CCCC)CC)elece(s1)[C@@H][C@H](

287 | O)/C(=C/[C@@H]2N(CCCCCCCC)c3c(C2(C)C)cc(ce3)c2ecce(s2)/C=C(/C(=O0)O)\C#N)
/C1=0

288 CCCCCCNI1ec2ccee(cc2Sc2elcece(c2)OCIC@H](CCCC)CC)elsc2e(cl)sc(c2)[C@@H]1[
C@H](O)/C(=C/[C@H]2N(CCCCCCCC)c3c(C2(C)C)cc(cc3)C(=0)0)/C1=0

289 CCCCCCNI1e2ccee(cc2Sc2elcec(c2)OCIC@H](CCCC)CC)elece(sl)elece(s])[C@@H]
1[C@H](0)/C(=C/[C@@H]2N(CCCCCCCC)c3c(C2(C)C)cc(cc3)C(=0)0)/C1=0

260 N#C/C(=C\clcee2e(e1)Scle(N2Cc2ccc(cc2)CN2c3cecccc3Sc3c2ecc(c3)/C=C(/C(=0)O)\
C#N)cccecl)/C(=0)0

201 N#C/C(=C\clcee2e(e1)Scle(N2CCCCN2c3cccec3Sc3c2ecce(c3)/C=C(/C(=0)O)\C#N)cc
ccl)/C(=0)0

297 CCCCCCNIC(=C2C(=C(N(C2=0)CCCCCC)c2ccc(cc2)/C=C(/C(=0)O)\C#N)C1=0)c1

cee(ccl)cleec2e(c1)Sclec(N2CCCCCC)eccecl
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CCCCCCNIC(=C2C(=C(N(C2=0)CCCCCC)c2ccc3e(c2)Sc2e(N3CCCCCC)ccee2)Cl=

293 O)clcec(ecl)elece(ccl)/C=C(/C(=0O)O)\C#N

204 clec2e(ccl)Scle(ce(ecl)clec3ce(cel)cle(c(c3C30CCO3)C30CCO3)cc(ccl)clece(sl)/C
=C(\C#N)/C(=0)O)N2C

205 CCCCCCNI1c2cece(ce2Sc2celcece(c2)[CH]C1=C(N/C(=C(\C(=0)0O)/C#N)/S1)clcceccl)c
Icee(cc10CCCCCC)OCccecee

206 N#C/C(=C/clccc(ccl)N(cleee(ccl)N1c2eeccc2Sc2clccec2)clcee(ccl)N1c2eccec2Sc2e
lceec2)/C(=0)0

297 | CNl1c2cee(ce2Sc2clcec(c2)/C=C/C1=C[CH]N(C=C1)CC(=0)O)clccc(cc10C)OC.[H]

208 CCCCCCOclce(OCCCCCC)ceclclecc2e(c1)Sclec(N2CCCCCC)ecce(c1)/C=C(\C(=0)0)
/CH#N

599 COclcc(OC)ceclcleec2e(c1)Scle(N2C)cee(c1)[CH]/C=C/1\N(C)c2¢(C1(C)C)ec(cec2)C(
=0)0

300 CCCC[C@@H](CN1c2cee(ce2Sc2elcce(c2)clecc(s])clec(c(s1)/C=C(/C(=O)O)\C#N)C
CCCCC)clcec(sl)clee(e(s1)/C=C(\C(=0)0)/C#N)CCCCCC)CC

301 CCCC[C@@H](CN1c2cee(ce2Sc2elcce(c2)clec(c(s1)/C=C(/C(=O)O)\C#N)CCCCCC)
clee(c(s1)/C=C(\C(=0)0O)/C#N)CCCCCC)CC

302 CCCC[C@@H](CN1c2cee(ce2Sc2elccee(c2)clecc(s1)/C=C(/C(=0)O)\C#N)clccce(s1)/C
=C(\C(=0)0)/C#N)CC

303 | CCCC[C@@H](CN1c2cee(ce2Sc2elccec2)clece(s1)/C=CO\C(=0)0)/C#N)CC

304 | CCCCCCCCOclcece(ecl)clecc2e(c1)Sclc(N2CC)ece(cl)/C=C(/C(=O)O)\C#N

305 | CCNIl1c2ccee(ec2Sc2cleece(c2)/C=C(/C(=0)O)\C#N)clcce(cel)O

306 CCCCCCCCOclcee(ccl)N1c2eec(ce2Sc2elecce(c2)clece(s1)/C=C(/C(=0)O)\C#N)clcc
¢(s1)/C=C(/C(=0)O)\C#N

307 CCCCCCCCOclcee(ccl)N1c2eec(ce2Sc2elecce(c2)clece(s1)/C=C(/C(=0)O)\C#N)clcc
csl

308 | CCCCCCCCOclcee(ccl)N1c2eeccc2Sc2elcec(c2)clece(s1)/C=C(/C(=0)O))\C#N

309 N#C/C(=C\clcee2e(cl)cleceecIn2CCCCCCelecce(c(cl)Neleececl)/C=C(/C(=0)O)\C#
N)/C(=0)O

310 | CCCCNI1c2cce(ec2Sc2elec(SC)ec2)/C=C(/C(=0)O)\C#N

311 | CCCCNI1c2cce(ec2Sc2elec(SC)ec2)/C=C/clcec(s1)/C=C(/C(=0)O)\C#N

112 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)celcce(s1)/C=C(/C(=O)O)\C#N)clcce(ccl)N(clc
cc(ccl)OC)elcec(eccl)OC

113 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)celcee(s1)/C=C(/C(=O)O)\C#N)clcce(ccl)N(clc
cceel)elecececl

314 CNlc2cce(ec2Sc2clece(c2)clcec(s1)/C=C(/C(=O)O)\C#N)clcce(ecl)C=C(clcceecl)cl
cceeel

115 N#C/C(=C\clcee2e(e1)Scle(N2C)cee(el)clece(ccl)N(clecec2elecee2)clceccecl)/C(=0
)O

316 CCCCCCNIc2ccee(ce2Sce2clcec(c2)/C=C(/C(=0)O)\C#N)clccc(cc1)N(cleeec2elceec?)
clceeeel

117 CCCCCCNIc2ccee(ce2Sc2clccc(c2)elcec(s1)/C=C(/C(=O)O)\C#N)clccc(cc1)N(clceee

2clceec2)clecccecl
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CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(\C(=0)O)/C#N)clccc(sl)cleec(ec1)N(clceee

318
2clceec2)cleccececl

319 N#C/C(=C\clcee2e(c1)Sclc(N2c2ccce(cc2)C(c2ece(ce2)C)e2ecc(ce2)C)ece(cl)clecc(ce
1)N(clceec2elecec2)cleccecl)/C(=0)0O

320 N#C/C(=C\clcee(s1)cleec2e(cl)Scle(N2c2cce(cc2)N(c2cec(cc2)C)c2ecc(cc2)C)ecc(cel)
cleee(ccl)N(clecec2elccec2)clcececl)/C(=0)O

11 N#C/C(=C\clcee2e(c1)Scle(N2c2cce(cc2)N(c2ccce(cc2)C)c2ecc(cc2)C)ecc(cl)clece(sl)
cleee(ccl)N(clecec2elccec2)clcecccl)/C(=0)O

322 | CCCCCCNIlc2cee(ce2Sc2celccec2)/C=C(/C(=O0)O)\C#N

323 | CCCCCCOclcee(ecl)cleec2e(cl)Scle(N2CC)eee(cl)/C=C(/C(=0)O))\C#N

324 | CCCCCCOclcece(ecl)cleec2e(c1)Scle(N2CCCCCC)eee(cl)/C=C(/C(=O)O)\C#N

325 | CCCCCCCCNIc2ccece(ee2Sc2cleec(c2)/C=C(/C(=0O)O)\C#N)clcee(cc1)OCCCCCC
CCCCCCCCNI1[C@H]2CC=C(C=C2Sc2clcce(c2)/C=C(\C(=0)O)/C#N)clccc2-c3c(C(

326 | c2¢1)(CCCCCC)CCCCCC)ec(cc3)clecc2e(c)N(CCCCCCCC)ele(S2)cc(ecl)/C=C(/C(
=0)O)\C#N

327 | CNlc2cee(ce2Sc2elcee(c2)/C=C(/C(=0)O)\C#N)clcee(ccl)OC

18 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(/C(=0)O)\C#N)clccc2e(cl)cleccec1n2CCCC
CC

199 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(/C(=0)O)\C#N)clccc2e(-c3ccecec3C2(CCCC
CC)CCCCCC)el

330 | CCCCCCnlc2cecec2c2elcec(ec2)N1c2eceee2Sc2elece(c2)/C=C(/C(=O)O)\C#N

131 CCCCCCCI1(CCCCCO)c2¢cc(cec2-c2clccec2)NIc2cceec2Sc2elece(c2)/C=C(/C(=0)O)\
C#N

332 | CCCCCCNIlc2cee(ce2Sc2celccec2)/C=C(\C(=0)0)/C#N

133 CN1c2cee(ec2Sc2clcece(c2)/C=C(/C(=0)O)\C#N)clcce(cc1)C=C(clcec(cc1)N1c2eccce
2Sc2clceec2)clcec(ecl)Nlc2ceeee2Sc2clecec2

334 CN1c2ccee(ec2Sc2clece(c2)/C=C(/C(=0)O)\C#N)clcce(cc1)C=C(clcee(ccl)nlc2ccccec2
c2clccec2)clecc(ccl)nlc2ececc2c2elccec2

135 Cnlc2cec(cc2e2celcece(c2)/C=C(/C(=0)O)\C#N)clcce(cel)/C=C(\C1=CC=C(C=[C]1)N1
c2ccccc2Sc2clccec2)/cleec(ccl)N1c2ecccc2Sc2clccec?

136 CCCCCCNI1c2ccee(ce2Sc2celcec(c2)/C=C(/C(=O)O)\C#N)clcce(cel)C(=C(clcceecl)cle
ccecl)eleccececl

137 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(/C(=O)O)\C#N)clcce(ce1)C=C(clcccccl)clc
ceeel

338 | CCCCCCNIlc2ccece(ec2Sc2clece(c2)/C=C(/C(=0O)O)\C#N)clcce(ccl)/C=C/clcececl

339 | CCCCCCNI1c2cece(ec20c2clcccc2)/C=C(/C(=O)O))\C#N

340 CNlc2ccee(ee2Sc2clece(c2)/C=C/clcec(ccl)N(cleccccl)eleccecl)/C=C/clccc2e(cl)Scl
¢(N2C)cee(e1)/C=C(/C(=0)O)\C#N

341 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(/C(=0)O)\C#N)/C=C/clccc(ccl)N(clceeeel)c
Icceeel

342 CNlc2ccee(eec2Sc2clece(c2)/C=C(\C(=0)0)/C#N)clccc(sl)clecc2-c3¢(C(c2¢1)(C)C)ec(
cc3)clecc(sl)eleec2e(c)N(C)ele(S2)ce(ccl)/C=C(\C(=0)0)/C#N

343 | CCCCCCCCNI1c2cee(ce2Sc2elcee(c2)/C=C\1/SC(=S)N(C1=0)CC(=0)O)C#Cclccc2c3
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cleeele3ce(ec2)eccl

CCCCCCclsc(c2¢10CCO2)clsc(c2c10CCO2)clcec2e(c1)Sclc(N2CCCCCC)cecec(cl)/C

344
=C(/C(=O)O)\C#N

345 CCCCCCclsc(c2¢10CCO2)clcec(sl)clecc2e(c1)Scle(N2CCCCCC)eee(cl)/C=C(/C(=
0)O)\C#N

346 | CCCCCCclcecce(sl)cleec(sl)cleee2e(c1)Sclc(N2CCCCCC)ecec(cl)/C=C(/C(=O0)O)\C#N

347 | CCCCCCelsc(c2c10CCO2)clcec2e(c1)Sclc(N2CCCCCC)eec(cl)/C=C(/C(=0)O)\CH#N

348 | CCCCCCeclecec(sl)cleec2e(cl)Scle(N2CCCCCC)eee(cl)/C=C(/C(=0)O)\C#N

349 | COclcee(ccl)cleec2e(c1)Sclc(N2c2ecc(cc2)OC)cece(cl)/C=C(/C(=O)O)\C#N

350 | COclccec(ecl)NIc2eceec2Sc2clcec(c2)/C=C(/C(=0)O)\C#N

351 | CCCCCCCCOclcee(ccl)NIc2eccee2Sc2elcee(c2)/C=C(/C(=0O)O)\C#N

352 | COclcec(ecl)NIc2cce(ce2Sc2clcccc2)/C=C(/C(=0)O)\C#N

353 N#C/C(=C\clcec(ol)clece(ccl)N(cleee(ccl)NIc2ececc2Sc2clcecee2)clecc(eccl)Nlc2ec
ccc2Sc2clcecec2)/C(=0)0

354 N#C/C(=C\clcce(sl)cleee(cel)N(cleee(ccl)N1c2eccec2Sc2elcecec2)clece(ccl)Nlc2ec
cce2Sc2clcecec2)/C(=0)0

155 N#C/C(=C\clcce(ccl)cleec(eccl)N(cleee(eel)N1c2eceee2Sc2clcece2)cleec(ccl)N1c2e
ccee2Sc2cleecc2)/C(=0)0

356 | CCNI1c2cee(ce2Sc2elceccc2)/C=C(/C(=0O)O)\C#N

357 CC(CCOclcee(ecl)N1c2cecece(ce2Sc2clccec2)/C=C/C1=[N]=c2cc(ccc2=[N]=C1/C=C/c1
ccc2ce(cl)Scle(N2c2eee(cc2)OCCC(C)C)eeecl)C(=0)0)C

358 | CCCCNI1c2ccec(ec2Sc2clecec2)clse(c2c10CCO2)/C=C(/C(=O)O)\C#N

359 | CCCCNI1c2ccece(ec2Sc2clcecec2)clecc(o1)/C=C(/C(=0)O)\C#N

360 | CCCCNI1c2cee(ec2Sc2clcecec2)/C=C(/C(=0)O)\C#N

361 | N#C/C(=C\clcee(ccl)N1c2eccee2Sc2celceec2)/C(=0)0O

362 | COCCOCCOCCNIc2cceccc2Sc2cleec(c2)/C=C(\C(=0)0)/C#N

363 | OCCNI1c2cee(ce2Sc2clccec2)/C=C(/C(=0)O)\C#N

364 | N#C/C(=C\clccc2e(cl)Sclc(N2C)eceel)/C(=0)O

365 | CCCCCCN(clccececl)cleee(ecl)/C=C(/clcce(s1)/C=C(/C(=O)O)\\CHN)NCH#N

366 CN1c2cec(ce2S(=0)(=0)c2clccc(c2)clesc2elsc(c2)[C@@H](C(=0)O)C#N)clccc(ecl)
N(clcee(eel1)OC)cleee(ccl)OC

167 CCCCCCNIc2cee(ce2S(=0)(=0)c2clcee(c2)clcee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)
N(clcee(ee1)OCCCCCC)clece(ecl)OCCCCCC

368 CCCCCCNI1c2cee(ce2S(=0)(=0)c2clcec(c2)clcce(s1)/C=C(\C(=0)0O)/C#N)clcce(sl)c
Icee(eel)N(eleececl)eleceecel

369 CCCCCCNI1c2cee(ce2S(=0)(=0)c2clccc(c2)clcee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)
N(clcceeel)cleeeeel

370 CCCCCCNI1c2ccee(ce2Sc2celcec(c2)N(clccceel)elececcl)clece(s1)/C=C(\C(=0)0O)/C#
N

371 Cnlc2cce(sc2c2clcle(c3c2nsn3)c2e(nlC)ec(s2)/C=C(/C(=0)O)\C#N)clccc(sl)clcec2e(c
1)Scle(N2C)ccecl

372 CCCCCCnlc2cee(sc2c2c1cIn(CCCCCC)c3c(clclce2nsnl)sc(c3)clcec(s1)/C=CAC(=0)O

)/C#N)cleec2e(c1)Scle(N2CCCCCCC)cccecl

16




Cnlc2cce(sc2c2clclc(ec3c2nsn3)c2e(nlC)ec(s2)/C=C(/C(=O)O)\C#N)clccc2e(cl)Sclc(N

373
2C)ccccl

374 CCCCCCCCCCerrI(eeceecceeceelyeec(sc2-c2elece(s2)cleec2e(cl)Scle(N2CC
CC)ccccl)/C=C(/C(=0)O)\C#N

375 | N#C/C(=C/clcce(s1)/C=C\clccc2e(c1)Scle(N2)ce(cc1)SC)/C(=0)0O

376 | CCCCCCclcece(sl)cleec(sl)cleee2e(c1)Sclc(N2CCCCCC)ecec(cl)/C=C(/C(=O0)O)\C#N

377 | CCCCCCclecee(sl)cleec2e(c1)Sclc(N2CCCCCC)ece(c1)/C=C(\C(=0)O)/C#N

378 CCCCNI1c2cce(ec2Sc2clcecc(c2)clece(cc10CCCC)OCCCC)elcec(c2elnsn2)clecce(sl)/
C=C(/C(=O)O)\C#N

379 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C(/C(=0)O)\C#N)N(clcce2e(cl)clececc1n2CC
CCCC)clcec2e(cl)cleccecIn2CCCCCC

380 clec2e(ccl/C=C(/C(=0)O)\C#N)Sclc(cceccl )N2CCCCCCNI1c2ccccc2Sc2clece(c2)/C=
C/C(=0)0O
N#C/C(=C\clcee2e(c1)Sclc(N2CCCCCOc2cecc(cc2)[C@@](c2ccc(ecc2)OCCCCCCN2ce

381 | 3cceee3Sc3c2ece(c3)/C=C(\C(=0)0)/C#N)(c2cce(cc2)OCCCCCCN2c3cccec3Sc3c2cece
(c3)/C=C(/C(=0)O)\C#N)C)ccccl)/C(=0)0O

382 | CCCCCCCCNIc2ccecec2Sc2clece(c2)/C=C(/C(=O)O))\C#N

183 CCCCCCOclc2cc(cec2e(c2elcec(c2)/C=C(/C(=0)O)\C#N)OCCCCCC)N(clcec2e(cl)S
¢lc(N2CCCCCC)ccccl)clecccecl

384 CCCCCCOclc2cc(cec2e(c2clcec(c2)clece(s1)/C=C(/C(=O)O)\C#N)OCCCCCC)N(clc
cc2c(c1)Scle(N2CCCCCC)cccecl)elcccecd

185 CCCCCCOclc2cce(cec2e(c2¢1eecc2)OCCCCCC)N(eleec2e(cl)Scle(N2CCCCCCO)eec(c
1)/C=C(/C(=0)O)\C#N)clcccecl

186 CCCCCCNI1c2cee(ce2Sc2celcce(c2)clece(s1)/C=CAC(=0)O)/C#N)N(clccc2e(cl)c(OC
CCCCC)clc(c20CCCCCC)ccccl)clecceccl

187 CCCCCCOclc2cce(cec2e(c2eleeecc2)OCCCCCC)N(eleec2e(cl)Scle(N2CCCCCC)eec(c
1)/C=C(\C(=0)0)/C#N)clcccccl

188 CCCCNI1c2cce(ec2Sc2clceec(c2)C1=[N]=C2C(=C[CH]C=C2)Nl1clcccccl)clcec(s1)/C=
C(/C(=0)O)\C#N

189 CCCCNIc2cece(cc2Sc2clece(c2)CI=[N]=C2[C](N1clcceceec]l)C=CC=C2)clccc(sl)clcee
(s1)/C=C(/C(=O)O)\C#N

390 CCCCNI1c2cce(ec2Sc2clceec(c2)C1=[N]=C2C(=C[CH]C=C2)Nl1clcccccl)cleec(ccl)/C
=C(\C(=0)0)/C#N

391 CCCCNIc2cece(cc2Sc2clece(c2)CI=[N]=C2[C](N1clccecec]l)C=CC=C2)clccc(sl)clcee
(cc1)/C=C(\C(=0)0)/C#N

392 | CCCCNIlc2ccee(ce2Sc2clecee2)clcec(sl)elece(s1)/C=C(\C(=0)0)/C#N

393 | CCCCNIlc2ccc(ce2Sc2cleccc2)/C=C/clcee(s1)/C=C(/C(=0O)O)\C#N

304 CCCCCCNIc2ccee(ce2Sc2clccc(c2)clcec(s1)/C=C(\C(=0)O)/C#N)clccc(cc1)N(clcece
cl)cleccccl

305 CCCCCCOclcee(ccl)N(clcec2e(cl)cleceeeIn2CCCCCC)eleec2e(cl)Scle(N2CCCCC
C)eee(cl)/C=C(/C(=0)O)\C#N

396 CCCCCCNI1c2cee(ce2S(=0)(=0)c2clcce(c2)cleee(s1)/C=C(/C(=0)O)\C#N)clcce(sl)c

Icee(ecl)N(eleececl)elceceecel
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CCCCCCNIc2cee(ce2S(=0)(=0)c2clcee(c2)clsc2e(cl)sc(c2)/C=C(/C(=O)O)\C#N)clc

397 cce(ccl)N(cleee(cc1)OCCCCCC)cleee(ccl)OCCCCCC

398 CCCCCCNI1c2cee(ce2Sc2clcccc2)/C=C\clcec(ccl)N(cleee(cel)cleee(s1)/C=C(/C(=0)
O)\C#N)clcccceel

399 | CCCCCCNIlc2cee(ce2Sc2clcecc2)/C=C\clcec(sl)cleec(s1)/C=C(\C(=0)0O)/C#N

400 | CCNlc2cee(ce2Sc2celceec2)/C=C/C(=0)0O

401 | CCNlc2cee(ce2Sc2celceec2)/C=C(/C(=0)O)\C#N
CCCCCCNI1c2ccee(ce2Sc2celcece(c2)/C=C\1/SC(=S)N(C1=0)CC(=0)O)nlc2ccc(cc2c2cl

402 | cce(c2)nlc2eec(cc2e2elcec(c2)C(C)(C)C)C(CY(C)C)nlc2ece(cc2e2cleece(c2)C(C)(C)C)
C(C)(O)C
CCCCNI1c2cce(ec2Sc2clcecc(c2)/C=C\1/SC(=S)N(C1=0)CC(=0)O)nlc2ccc(cc2c2clcce

403 | (c2)nlc2ccc(ec2c2celecc(c2)C(CYHC)C)C(C)(C)C)nlc2eee(cc2e2cleece(c2)C(C)(CYC)C(
C)(O)C

404 CCCCCCNIlc2ccee(ce2Sc2clece(c2)nlc2ecc(cc2e2elecc(c2)C(C)(C)C)C(C)(O)C)/C=C/
INSC(=S)NCC(=0)OC1=0

405 CCCCNIc2cee(ce2Sc2clecc(ec2)nlc2ecc(cc2e2cleec(c2)C(C)HC)C)C(C)(C)C)/C=C/1\S
C(=S)N(C1=0)CC(=0)O

406 CCCCCCCCclece(sclcleee(s1)clsc(cc1CCCCCCCC)/C=C(/C(=O)O))\C#N)clcc2ee(n3-
c4c(Sc(e23)cl)ccecd)clece(cc1)OCCCCCC

407 CCI1(C)c2cce(cec2-c2cleccc2)NIc2ecce(ce2Sc2clecc(e2)clecc2-¢3¢(C(c2¢1)(C)C)ecee3)
cleee(s1)C#HCclece(ce(cl)[C]1C=CC=[N]=C1)[C]1C=CC=[N]=Cl1

408 OC(=0O)clccee(cl)clec(CHCc2ccc(s2)c2ccc3e(c2)Sc2e(N3[CI3[CJ4[CH]C5=C([C]34)C
(C)(C)c3ceS5ccecece3)eec(c2)c2ecc3-c4e(C(c3c2)(C)C)ececd)ee(cl)clecee(c1)C(=0)O

409 OC(=0O)clcce(ccl)C#Celece(sl)cleee2e(cl)Sclec(N2c2cee3-cde(C(c3c2)(C)C)ecccd)ee
c(cl)cleee2-c3¢(C(c2cl)(C)C)ecec3

410 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)nlc2ecc(cec2e2elece(c2)C(CY(C)C)C(C)(C)C)cle
ce(sl)clecc(s1)cleee(ccl)/C=C(/C(=O)O)\C#N

411 CCCCCCCCNI1c2ccece(ec2Sc2clecce(c2)nlc2ecc(cc2e2elece(c2)C(CY(C)C)C(C)(C)C)cle
ce(sl)clecc(ecl)/C=C(/C(=O)O)\C#N

412 CCCCCCCCNI1c2ccece(ec2Sc2clecce(c2)nlc2ecc(cc2e2elece(c2)C(CY(C)C)C(C)(C)C)cle
cc(ccl)/C=C(/C(=0)O)\C#N

413 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C(/C(=0)O)\C#N)N(clcce2e(cl)cleececc1n2CC
CCCC)cleec2e(cl)scc2

414 | CCCCCCOclccec(ccl)clec2e3dnl-clecceclSc3ec(c2)cleec(o1)/C=C(/C(=0)O)\C#N

415 | COclcee(ccl)clec2e3nl-clececclSc3cce(c2)clecce(s1)/C=C(/C(=0)O)\C#N

416 N#C/C(=C\clcce(sl)cleee(sl)cleee2-c3¢(C(c2c1)(C)C)ec(cc3)N1c2ecccc2Sc2elcccc2)/
C(=0)0

A7 CCCCCI1(CCCC)c2cc(cec2-c2clcc(ec2)clecc(s1)/C=C(/C(=O)O)\C#N)N1c2cccec2Sc2
clcee(e2)[CH]C1=c2¢(=C3C1=CC=C[CH]3)cccc2
CCCCCCOclcec(ccl)eleec2e(cl)Scle(N2CCCCCCO)ceece(el)clece(ccl)C1=C2C(=C(N(

418 | C2=0)CCCCCC)c2ccc(cc2)CHCc2s¢(c(c2)CCCCCC)/C=C(/C(=0)O)\C#N)C(=O)N1CC
CCCC

419 | CCCCC[C@H]1c2c(C)c(c(n2[BJ(IN2C(=C(CI([C@H]12)C)clcec2e(cl)Sclc(N2CCC)e
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cec])C)(F)F)C)elece(o1)/C=C/1\SC(=S)N(C1=0)CC(=0)0

CCCCC[C@@H]1c2¢(C)e(c(n2[B]IN2C(=C([CI([C@H]12)C)clecc2e(c])Sele(N2CCC

420 )eeec1)C)(F)F)C)cleee(o1)/C=C(\C(=0)O)/C#N

491 CCCCC[C@H]1c2¢(C)e(c(n2[B](IN2C(=C([CI([C@H]12)C)clcec2e(c1)Scle(N2CCC)e
cccl)C)(F)F)C)eleee(s1)/C=C\1/SC(=S)N(C1=0)CC(=0)O

427 CCCCC[C@@H]1c2¢c(C)e(c(n2[B](IN2C(=C([CI([C@H]12)C)clcec2e(cl)Scle(N2CCC
)eeec1)C)(F)F)C)cleee(s1)/C=C(\C(=0)O)/C#N

1423 CCCCCCNI1c2ccec(ce2Sc2elcecec(c2)clcce(s1)/C=C(/C(=0)O)\C#N)clcce(s1)/C=C(/C(=
0)O)\C#N

424 | CCCCCCNIc2ccee(ce2Sc2celccec2)clcee(s1)/C=C(/C(=O0)O))\C#N

15 CN1c2ccee(ce2Sc2elcec(c2)N(clece(ecl)elece(s1)clece(s1)/C=C(/C(=0O)O)\C#N)c1cce(
cc1)OC)N(clcee(cel)clece(s])cleee(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)OC

426 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(\C(=0)O)/C#N)C#Cclcece(ccl)C#HCcleee2e(c
1)Sc1c(N2CCCCCC)ccc(cl)/C=C(\C(=0)0O)/C#N

427 CCCCnlc2cc(C#Cc3cccde(c3)Sc3c(N4CCCCCC)eee(c3)/C=C(\C(=0)0O)/C#N)ccc2c2e
lee(C#Ccleee3e(c1)Sclc(N3CCCCCC)eee(cl)/C=C(\C(=0)0O)/C#N)cc2

18 CCCCCI1(CCCC)c2cc(cecc2-c2clcc(cc2)CHCelecc2e(c1)Sclc(N2CCCCCC)ecce(cl)/C=
CO\C(=0)0O)/C#N)C#Cclccc2e(c1)Sclc(N2CCCCCC)ecc(cl)/C=C(\C(=0)0)/C#N

429 CCCCCCNIc2ccee(ce2Sce2clcece(c2)/C=C(\C(=0)O)/C#N)C#Cclcce(ccl)cleec(eccl)CHC
clcec2e(cl)Scle(N2CCCCCCO)eee(cl)/C=C(\C(=0)0)/C#N

430 C(CCCCCNI1c2cceec2Sce2cleee(c2)/C=C(/C(=O)ONCH#N)CCCCNIc2ccecc2Sc2elccec(c
2)/C=C(/C(=0)O)\C#N

431 N#C/C(=C\clcee(ccl)N(cleee(cel)/C=C(/C(=O)O)\C#N)clccc(ccl)N1c2cceee2Sc2clce
cc2)/C(=0)0

43 0=C10C(=0)/C(=C/c2ccc(cc2)N(c2ece(cc2)N2c3cceee3Sc3c2eccee3)c2ece(cc2)/C=C/2\
SC(=S)NCC(=0)0OC2=0)/SC(=S)NC1

1433 CCCCCCCCCCCCNIc2ccec(cc2Sc2celcccc2)clece(c2elnsn2)cleecc2e(cl)Sclc(N2CCC
CCCCCCCCC)cece(cl)/C=C(/C(=0)O)\C#N
CCC(CCCCN1c2ccec(cec2Sc2cleee(c2)clcec(c2=[N]=C(C(=[N]=c12)clcccccl)cleceecd

434 | )C1=CC=C(C1)/C=C(\C(=0)0O)/C#N)clccc(ccl)cleec2e(cl)cece(c2clc(OCCCCC(CC)C
C)cec2eleccc2)OCCCCC(Co)Co)CC
CCC(CCCCN1c2ccec(ce2Sc2cleee(c2)clcec(c2=[N]=C(C(=[N]=c12)clcccccl)cleceecd

435 | )C1=CC=C(C1)/C=C(\C(=0)0O)/C#N)clccc(ccl)cleec2e(cl)ece(c2)OCCCCC(CC)CC)C
C

436 CCC(CCCCN1c2ccec(ce2Sc2cleee(c2)clcec(c2=[N]=C(C(=[N]=c12)clcccccl)cleceecd
)C1=CC=C(C1)/C=C(\C(=0)0)/C#N)clccc(cc1)OCCCCC(CC)CC)CC

437 CN1c2cce(ce2Sc2celcee(c2)/C=C(\C(=0)0)/C#N)nlc2cce(cc2e2elcce(c2)nlc2ecc(cc2e
2clcec(c2)C(C)(C)C)C(CYC)Cnlc2ece(ce2e2elcee(c2)C(C)(C)C)C(CYC)C

138 CCCCNIc2ccee(ce2Sc2clece(c2)/C=C(\C(=0)0)/C#N)nlc2cee(cc2e2clcee(c2)nlc2ecc(
cc2c2clcee(c2)C(C)(C)C)C(CY(C)C)nlc2eec(cc2e2elcece(c2)C(C)(C)O)C(C)(C)C

439 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(\C(=0)O)/C#N)nlc2cce(cc2e2elece(c2)C(C)(
C)O)C(O)(C)C

440 CCCCNIc2ccec(ce2Sc2clcce(c2)/C=C(\C(=0)0)/C#N)nlc2cce(cc2c2clcce(c2)C(C)(C)

C)C(C)(C)C
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CCCCCCCCCCCCNI1c2ccee(eec2Sc2cleee(c2)/C=C(/C(=0O)O)\C#N)clcec(c2clnsn2)clc

44l cc2¢(c1)Scle(N2CCCCCCCCCCCC)ecce(cl)/C=C(/C(=0)O)\C#N

442 CCCCCCSCI1=C(SCCCCCOC)S/C(=C\c2ccc(cc2)c2ecc(cec2)c2eec3c(c2)N(CCCC)e2e(S3
)eee(c2)/C=C(/C(=0)O)\C#N)/S1

443 CCCCCCOclce(eecl/C=C\1/SC(=C(S1)SCCCCCC)SCCCCCC)clcecec2e(c1)N(CCCC)e
1¢(S2)cce(c1)/C=C(/C(=0)O)\C#N

444 CCCCNI1c2cc(cec2Sc2elce(cc2)/C=C(/C(=O)O)\C#N)clcec(cc1F)/C=C\1/SC(=C(S1)S
CCCccoeysceeccece

445 CCCCNI1c2cc(cec2Sc2celec(cc2)/C=C(/C(=O)O)\C#N)clcee(cec1)/C=C\/SC(=C(S1)SC
CCcco)scecececece

446 CCCCNI1c2cc(cec2Sc2elcce(cc2)/C=C(/C(=O)O))\C#N)/C=C/I\SC(=C(S1)SCCCCCC)S
Cccccece

447 | CCCCNI1c2cee(cee2Sc2cleccec2)/C=C(/C(=0)O)\C#N

448 CCCC[C@@H](CN1c2cee(ce2Sc2elcce(c2)clecc(ol)/C=C(/C(=0)O)\C#N)clccc2e(cl)
cl1=[N]=c3ccccc3=[N]=c1n2C[C@H](CCCC)CC)CC

449 CCCC[C@@H](CN1c2cee(ce2Sc2elcce(c2)clecc(s1)/C=C(/C(=0)O))\C#N)clccc2e(cl)
c1=[N]=c3cccce3=[N]=c1n2C[C@@H](CCCC)CC)CC

450 | CCCC[C@@H](CN1c2cce(cc2Sc2clccec2)clcece(s1)/C=C(/C(=0)O))\C#N)CC

451 CNlc2cce(eec2Sc2clecec2)/C=C\clee(c2ccc(s2)/C=C(\C(=0)0)/C#N)c(cc1/C=C/c1ccc2
c(c1)Sclc(N2C)ececl)clece(s1)/C=C(\C(=0)O)/C#N

450 CNlc2cce(ec2Sc2clecec2)/C=C/clce(c(cclelcec(s1)/C=C(/C(=O)O))\C#N)/C=C/c1ccc2
c(c1)Sclc(N2C)eceel)clece(s1)/C=C(/C(=O0)O)\C#N

453 CCCCCCCCNI1c2ccece(ec2Sc2clecec2)/C=C\clcec(ccl)N(clece(ccl)/C=C(/C(=O)O)\C#
N)clcee(eel)/C=C/clcec2e(c1)Sclc(N2CCCCCCCC)eccecl

454 CC(Cclce(sclclsc2e(cl)clnonclcle2sc(cl)clsc(cc1CC(C)C)/C=C(/C(=0)O)\C#N)clcc
c2c(c1)Sclc(N2C)ccccl)C

455 CCCCC[C@@H]1c2¢c(C)e(c(m2[BI(IN2C(=C([CI([C@@H]12)C)clcec2e(c1)Scle(N2C
CC)ccccl)C)(F)F)C)/C=C(\C(=0)0)/C#N
CCCCC[C@H]1c2¢(C)c(c(m2[BI(IN2C(=C([CI([C@@H]12)C)clcec2e(c1)Scle(N2CCC

456 | )ece(c1)C1=C(N2[C@H]([CN1O)[C@@H](cIn([B]2(F)F)c(c(c1C)clcec(o1)/C=C(/C(=O
JONC#H#N)C)CCCCC)C)C)F)F)C)cleee(o1)/C=C(\C(=0)0)/C#N
CCCCC[C@H]1c2¢c(C)c(c(m2[BI(IN2C(=C([CI([C@@H]12)C)clcec2e(c1)Scle(N2CCC

457 | )ece(el)C1=C(N2[C@@H]([CI1O)[C@@H](c1n([B]2(F)F)c(c(c1C)/C=C(/C(=0)O)\C#
N)C)CCCCC)C)C)(F)F)C)/C=C(/C(=O)O)\C#N
C[Cl1c2c(c(c(n2[B](n2c1c(C)c(c2C)clcec(s1)/C=C(/C(=0)O)\C#N)(F)F)C)clccc2e(cl)

458 | Sclc(ceecl)N2CCCCCCNIc2eccec2Sc2elcec(e2)cle(C)e2[Cl(C)e3n([B](n2¢1C)(F)F)c
(c(c3C)/C=C(/C(=0)O)\C#N)C)C
CCCCC[C]1c2c(c(c(n2[B](n2¢1c(C)ec(c2C)/C=C(/C(=0)O)\C#N)(F)F)C)clccc2e(c1)Sc

459 | 1c(N2CCCCCCN2c3ccece3Sc3c2ecce(e3)c2¢(C)c3[CI(CCCCC)c4n([B](n3c2C)(F)F)c(c(
c4C)/C=C(/C(=0)O)\C#N)C)ccccl)C

460 CCCCC[C]1c2c(c(c(n2[B](n2¢1c(C)c(c2C)/C=C(/C(=O)O\CH#N)(F)F)C)clccc2e(cl)Sc
1c(N2CCCCCC)ccccl)C

461 CCCCC[C]1c2c¢(c(c(n2[B](n2¢1¢(C)c(c2C)/C=C(/C(=O)O)\CH#N)(F)F)C)clccc2e(cl)Sc

1c(N2CCC)ccccl)C
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N#C/C(=C/clecec2e(c1)Sclc(N2CCCCCOc2ccc(cc2)OCCCCCN2ce3ccece3Sc3c2ecce(c3)

162 /C=C(/C(=0)O)\C#N)ccccl)/C(=0)O

463 N#C/C(=C/clcec2e(c1)Sclec(N2CCCCCOc2ecec(c2)OCCCCCN2c3ceccec3Sc3c2cece(c3)
/C=C(/C(=0)O)\C#N)ccccl)/C(=0)O

164 cl(c(ccec1)OCCCCNIc2cccec2Sc2clecce(c2)/C=CO\C(=0)0O)/C#N)OCCCCNI1c2ccc(cc2
Sc2clceec2)/C=C(\C(=0)O)/C#N

465 CCI1(C)c2cce(ccc2-c2elccec2)celecc2e(cl)Scle(N2ce2cec3e(c2)sc2e3sc3c2ecc(c3)c2ece(c(
$2)/C=C(\C(=0)0)/C#N)C)ccc(c1)clccc2-c3c(C(c2c1)(C)C)ecec3

466 CCCCNI1c2cce(ec2Sc2clceeec2)C1=[N]=C2C(=C(C=C[C]2c2ccc(cc2)/C=C(/C(=0)O)\C
#N)c2cce(ce2)/C=C(/C(=0)O)\C#N)N1CCCC

467 CCCCN1c2cee(cc2SC2=[C]C=CC=C12)C1=[N]=C2[C](N1CCCO)[C](C=C[C]2[C]S[C
J([CH][CH])/C=C(/C(=0)O)\C#N)clcce(s1)/C=C(/C(=O)O)\C#N.[H]

468 CCCCNIc2cee(cec2Sc2clecec2)CI=[N]=C2[C](N1CCCO)[C](C=C[C]2clccc(s])clecee(s
1)/C=C(\C(=0)0)/C#N)clccc(sl)clece(s1)/C=C(/C(=O0)O)\C#N

469 CCN1c2cee(ce2Sc2elcee(c2)/C=C\1/SC(=S)N(C1=0)CC(=0)0)/C=C\/SC(=S)N(C1=
0)CC(=0)0O

470 CCCCCCNIc2ccee(ce2Sc2clcec(c2)/C=C(/C(=0)O)\C#N)clcc2e(s1)cle(n2CCCCCC)cc
sl

471 | COclcec(ccl)nlc2ec(sc2e2clecs2)clece2e(c1)Sclc(N2C)cec(cl)/C=C(/C(=O)O)\C#N
CCCC[C@@H](CN1c2cec(cc2Sc2elecc(c2)/C=C\C(=0)0)/C=C/[C]1C=C([C]2C(=0)

472 | N(CO)C(=S)N(C2=0)CC)C=C(01)/C=C\clccc2c(c1)Sclc(N2C[C@H](CCCC)CC)cce(
c1)/C=C/C(=0)0)CC

473 CCCC[C@H](CNI1c2cec(ec2Sc2elece(c2)/C=C/C(=0)0)/C=C\[C]I1C=C([C](C#N)C#N
)C=C(01)/C=C/clccc2e(cl)Scle(N2C[C@@H](CCCC)CC)ecc(cl)/C=N\C(=0)O)CC

474 CCCCCCCCclece(sclclece(s1)clsc(cc1CCCCCCCC)/C=CO\C(=0)0)/C#N)clcec2e(cl)
Sclc(N2C[C@H](CCCC)CC)cee(cl)cleecc(ecc1)OCCCC

475 CCCCCCCCclee(sclcleece(s])clsc(cc1CCCCCCCC)/C=C(\C(=0)0)/C#N)clccc2e(cl)
Sclec(N2C[C@@H](CCCC)CC)cceccl

476 CCCC[C@H](CN1c2cce(ce2Sc2elcecec2)clecce(sl)clece(s)clece(s1)/C=C(C(=0)0)/C
#N)CC

477 | CCCCCCNI1c2ccee(ce2Sc2elcee(c2)/C=C(/C(=0)O)\C#N)/C=C/1\SC(=C(S1)SC)SC

478 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C/1\SC(=C(S1)SC)SC)c1cce(ccl)/C=C(/C(=0)O
NC#N

479 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C(\C(=0)0)/C#N)[C]/[NH]=C(\[C]clcce(cc1)O
C)/cleec(cc1)OC.[NH]

450 CCCCCCNI1c2cee(ce2Sc2celcec(c2)/C=C(\C(=0)0)/C#N)CI=[N]=C([C](N1)clcccccl)c
Icceeel
CCCC[C@@H](CN1c2cec(cc2Sc2elecc(c2)/C=C\C(=0)0)/C=C/[C]1C=C([C]2C(=0O)c

481 | 3¢(C2=C(C#N)C#N)cccce3)C=C(01)/C=C\clccc2e(cl)Scle(N2C[C@@H](CCCC)CC)c
cc(cl)/C=C/C(=0)0)CC

%) N#C/C(=C\clcee2e(c1)Scle(N2CCCCCCCCN2c3cccce3Sc3c2ece(c3)/C=C(/C(=0)O)\
C#N)cccecl)/C(=0)0

483 CCCCNIc2cce(ce2Sc2clccec2)clece(s1)clec2e(sl)cle(n2c2ccc3-c4e(C(c3¢2)(CCCO)C

CCC)ccecd)ce(s1)/C=C(\C(=0)0)/C#N
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CCCCCCOclec(OCCCCCO)cecInlc2cec(sc2e2clces2)clecc2e(c1)Sclc(N2CCCCCC)ece

484
¢(c1)/C=C(/C(=0)O)\C#N

485 CCCCCCOclce(OCCCCCC)cecInlc2ec(sc2c2celce(s2)/C=C(/C(=0)O)\C#N)clcce2e(c
1)Scle(N2CCCCCC)ccccl

486 CCCCCCCCCCCCNI1e2ccec(ec2Sc2clecec2)clece(c2eInn(n2)CCCCCCCC)eleec2e(cl
)Sc1c(N2CCCCCCCCCCCC)ecece(cl)/C=C(/C(=0)O)\C#N

487 CCCCCCCCCCCCNI1c2ccee(ee2Sc2clecec2)C1=[N]=C([CH]C=C1)clccc2c(c1)Sclc(N
2CCCCCCCCCCCC)cee(c1)/C=C(/C(=0O)O)\C#N

488 CCCCCCNI1c2cee(ce2Sc2celcece(c2)/C=C(/C(=0)O))\C#N)clcec2e(c)[CI(IN@]1 [C@@
H]2Cc2n([B]1(F)F)c(clc2ccecl)cleccec10C)cleceec10C

489 CCCCCCNI1c2cce(ce2Sc2celcece(c2)/C=C(/C(=0)O))\C#N)C#Cclcec2e3clceclc3e(ce2)e
ccl

490 CCCCCCCCNI1c2ccce(ec2Sc2clece(c2)/C=C(/C(=O)O)N\C#N)C#Cclccc2c3clecclc3ce(ce
2)ceel

401 CNlc2cce(eec2Sc2clece(c2)/C=C\1/SC(=S)N(C1=0)CC(=0)O)C#Cclccc2c3clcecle3ce(
cc2)ceel

492 | CCCCCCNIc2cce(cc2Sce2cleec(c2)C=C(CH#N)C#N)C#Cclccc2e3cleeelc3e(cc2)eecl

493 CCCCCCCCNI1c2ccece(ec2Sc2clece(c2)C=C(CH#N)C#N)C#Cclccc2e3clecelc3ce(cc2)ece
1

494 CNlc2cce(ec2Sc2clece(c2)N(cleec(cel)eleee(sl)cleee(s1)/C=CO\C(=0)0)/C#N)clcece(
cc1)OC)N(clcee(ecl)clece(sl)clece(s1)/C=C(\C(=0)O)/C#N)clccc(cc1)OC

405 COclcee(ccl)N(cleee(ccl)OC)clcec(cel)/C=C/clsc2c(cl)n(cle2sc(cl)/C=C\C(=0)0)/
C#N)clcee(ecl)N1c2eecee2Sc2clecec2

496 | CCCCNIlc2ccee(ce2Sc2clecec2)/C=C/clcec(ccl)/C=C\1/SC(=S)NCC(=0)0C1=0

497 | CCCCNI1c2ceee(ce2Sc2cleccc2)/C=C\1/SC(=S)N(C1=0)CC(=0)O

498 | CCCCNI1c2ccece(ece2Sc2cleccec2)/C=C/clcce(ccl)/C=C(/C(=O)O)\C#N

499 CCCC[C@@H](COclccc(ecl)cleec2e(cl)Scle(N2[C@H]2CC=C(C=C2)c2ccc(cc2)C(
=0)0)ccc(cl)clcec(ccl)OC[C@H](CCCC)CC)CC

500 C(COclccec(ccl)eleec2e(cl)Scle(N2c2cec(ec2)C(=0)O)ccee(cl)cleec(cc1)OCC(C)C)(C
)C

501 Cclee(sel/C=C(/C(=0)O)\C#N)clcce(c2cInsn2)clcec2e(c1)Scle(N2c2cce(cc2)N(c2ece
(cc2)C)c2ccec(cc2)C)ececl

502 CCCCCCclee(sc1/C=C(/C(=0)O)\C#N)clcce(c2clnsn2)cleec2e(c1)Scle(N2C[C@H](
CCCC)CC)ccccl

503 CCCCCCclee(scl/C=C(/C(=O0)O)\C#N)clcece(sl)cleec2e(c1)Scle(N2C[C@H](CCCC)
CC)ccccl

504 | COclcce(ecl)clecc2e(c1)Scle(N2c2ecce(cc2)OC)cece(cl)elcec(ol)/C=C(/C(=O0)O)\C#N

505 | COclccce(ecl)clecc2e(c1)Scle(N2c2ecce(cc2)OC)ccece(cl)elcec(s1)/C=C(/C(=O)O)\C#N

506 OC(=0)/C=C/clccc2e(c1)Sclc(N2CCCCCCn2c3ccc(cc3c3c2ecce(c3)C(C)(C)C)C(C)YC)
C)ceecl

507 OC(=0)C(=Cclccc2e(c1)Scle(N2CCCCCCn2c3ccec(cc3c3c2ecce(c3)C(C)(C)C)C(C)(O)
C)ceeel)C(=0)O

508 | CCCCCCNIlc2ccec(ec2Sc2clecec2)nlcec(c2clecec2)/C=C(/C(=0)O)\C#N
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O=C(O)CNIC(=S)S/C(=C/c2ccc3c(c2)Sc2¢(N3CCCCCn3cdccc(ccdcdc3cce(c4)C(C)(O)

509
C)C(C)(C)C)ceee2)/C1=0

510 N#C/C(=C/clcec2e(c1)Sclec(N2CCCCCn2c3ccc(cc3c3c2ecce(c3)C(C)(C)C)C(C)(C)C)ec
ccl)/C(=0)0

511 | CCCCCCNI1c2cec(cc2Sc2eleccc2)/C=C\1/SC(=S)N(C1=0)C(=0)0O

51 CCCCCCCCnlc2ccecec2e2clccc(c2)N1c2eceee2Sc2elcece(c2)/C=C/1\SC(=S)N(C1=0)C
C(=0)0O

513 | Cnlc2cccec2e2clceec(c2)N1c2eceee2Sc2elcec(c2)/C=C/1\SC(=S)NCC(=0)OC1=0

514 | Cnlc2cec(cc2e2clcecc2)N1c2ecc(cc2Sc2clceccc2)/C=C/1\SC(=S)NCC(=0)OC1=0

515 | CCCCCCCCnlc2cccec2e2elece(c2)N1c2eccec2Sc2elcce(c2)/C=C(/C(=0)O)\C#N

516 | Cnlc2ccecc2e2clece(c2)N1c2eccec2Sc2elece(c2)/C=C(/C(=O)O)\C#N

517 | N#C/C(=C\clccc2e(cl)Sclc(N2c2cec3e(c2)c2eccec2n3CC)ececl)/C(=0)0

518 COclcee(ccl)N1c2eee(ce2Sc2elccec2)/C=C/[C@@H]1C/C(=C(/C(=0)O)\C#N)/CC(C1
)O)C

519 CCCCCCNIc2ccee(ce2Sce2clcccc2)clec(sclclsc(e(cl)clecc2e(c1)Sclc(N2CCCCCC)ee
ccl)cleec2e(c1)Scle(N2CCCCCC)cccecl)/C=C(/C(=O)O)\C#N

520 | CCCCCCNI1c2ccece(ec2Sc2clcece(c2)clecc(ccl)OC)clcec(o1)/C=C(/C(=0)O)\C#N

521 | CCCCCCNI1c2ccece(ec2Sc2clece(c2)cleccec])clece(o1)/C=C(/C(=0)O)\C#N

522 | CCCCCCNIlc2cee(ce2Sc2elccce(c2)clecc(ccl1)OC)clcce(s1)/C=C(/C(=0)O))\C#N

523 | CCCCCCNIlc2cee(ce2Sc2celcec(c2)cleccecl)clece(s1)/C=C(/C(=0O)O)\C#N

524 CCCCCCNI1c2cee(ce2Sc2celcce(c2)clece(cc1)OC)clcc(F)e(c(c1)F)/C=C(/C(=O)O)\C#
N

525 | CCCCCCNI1c2cee(ce2Sc2celcec(c2)cleccecl)clec(F)e(c(c1)F)/C=C(/C(=0)O)\C#N

526 | CCCCCCNIlc2cee(ce2Sc2celccec(c2)clece(cel)OC)clcec(c(cl)F)/C=C(/C(=O0)O)\C#N

527 | CCCCCCNIlc2cee(ce2Sc2celccece(c2)cleccec])cleec(c(c])F)/C=C(\C(=0)0)/C#N

528 | CNl1c2ccee(cc2Sc2elcec(c2)clece(ccl)OC)clcec(ecl)/C=C(/C(=0)O))\C#N

529 | CCCCCCNI1c2ccece(ec2Sc2clece(c2)cleccee])clece(ccl)/C=C(/C(=O)O))\C#N

530 | CCCCCCNIlc2ccece(ec2Sc2clece(c2)/C=C(/C(=0O)O)\C#N)clcee(ccl)OC

531 | N#C/C(=C\clcece(sl)cleec2e(c1)Sclc(N2CC)ececl)/C(=0)0O

532 | N#C/C(=C/clcce(sl)cleec2e(cl)clecececcn2CC)/C(=0)0

533 N#C/C(=C\clcee(sl)cleec2e(c1)Scle(N2CCCCCCn2c¢3ccc(cc3c3c2ecec3)c2ecce(s2)/C=
C(/C(=0)O)\C#N)ccecl)/C(=0)O

534 N#C/C(=C\clcee(sl)cleee(sl)cleee(ccl)N(cleee(cel)/C=C/clcc2ecc(cc2oc1=0)N(CC)
CC)clcee(ccl)/C=C/clcc2ecc(cc2oc1=0)N(CC)CC)/C(=0)O

535 N#C/C(=C\clcee(s1)cleee(ccl)N(cleee(cel)/C=C/clcc2ecc(cc2oc1=0)N(CC)CC)clcce
(cc1)/C=C/clcc2cec(cc20c1=0)N(CC)CC)/C(=0)O

536 CCN(cleec2e(cl)oc(=0)c(c2)/C=C\clccc(cc1)N(clece(cel)/C=C(\C(=0)0)/C#N)clcce(
ccl)/C=C/clcc2ecc(cc2oc1=0)N(CC)CC)CC
CCCCCCOclcec(ccl)N(cleee(ece1 ) OCCCCCC)cleee(ccl)elsc(c2c10CC(CO2)(CCCC

537 | C)CCCCC)CI=[N]=C2C(=[N]=C(S2)c2sc(c3c20CC(CO3)(CCCCC)CCCCC)c2cce(s2)/
C=C(/C(=0)O)\C#N)S1

53 0=C(0O)CN1C(=S)S/C(=C\c2ccc(cc2)N(c2ccc(cc2)N2c3ceecc3Sc3c2ecee3)c2ecc(cc2)N

2c3cceee3Sc3c2eccc3)/C1=0
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CCCCCCNI1ec2cee(cc2S(=0)(=0)c2clcee(c2)clesc2elsc(c2)[C@@H](C(=0)O)C#N)cl

539 cee(ccl)N(cleee(cc1)OCCCCCC)cleec(ccl)OCCCCCC

540 CCCCCCNI1c2cee(ce2S(=0)(=0)c2clccc(c2)clcee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)
N(clcee(eel)OCCCCCC)eleec(ecl)OCCCCCC

541 CCCCCCNI1c2cee(ce2S(=0)(=0)c2clcec(c2)clcee(s1)/C=C(\C(=0)0O)/C#N)clcce(sl)c
Icee(eel)N(eleccecl)eleceecel

54 CCCCCCNI1c2cee(ce2S(=0)(=0)c2clcec(c2)clcee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)
N(clceeeel)cleeeeel

543 CCCCCCNI1c2cce(ce2Sc2celcec(c2)N(clecceel)elececcl)clece(s1)/C=C(\C(=0)0O)/C#
N

544 CCCCCCnlc2cece(sc2c2clcle(c3c2nsn3)c2¢(n1 CCCCCC)ee(s2)/C=C(/C(=O0)O)\C#N)c1
cce(ccl)N(cleeeeel)clececcecl

545 N#C/C(=C\clcee(sl)cleee(sl)cleec2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2-c3c(C(c2cl
)(CC)CC)cceee3)clcec2e(cl)cleceec1n2CC)/C(=0)0
N#C/C(=C\clcee(sl)cleee2-¢3c(C(c2c1 )(CC)CC)ee(ce3)N(clece2-c3¢(C(c2cl)(CC)CC

546 | )cc(ee3)cleec(s1)/C=C(/C(=0)O)\C#N)clccc2e(cl)cleee(ce1n2CC)clece(s1)/C=C(/C(=
0)O)\C#N)/C(=0)0O

547 CCCCCCCCNI1c2ccece(ec2Sc2clecec2)/C=C/clcec(ccl)N(clece(ccl)/C=C(/C(=O)O))\C#
N)clcee(eel)/C=C/clcec2e(c1)Sclc(N2CCCCCCCC)eccecl
N#C/C(=C\clcee(sl)cleec(sl)eleee2-c3¢(C(c2cl)(CC)CC)ec(ce3)N(clece2-¢3¢(C(c2el

548 | )(CC)CC)ec(ce3)clccc(sl)cleee(sl)/C=C(/C(=O)O)\C#N)clcec2e(cl)cleec(ccIn2CC)e
Icee(sl)cleee(s1)/C=C(/C(=0O)O)\C#N)/C(=0)O

549 N#C/C(=C\clcee(sl)cleee2-¢3¢c(C(c2c1 )(CC)CC)ee(cc3)N(clece2-c3¢(C(c2cl)(CC)CC
)eeee3)celeec2e(cl)cleccec1n2CC)/C(=0)0

550 | N#C/C(=C/clen(c2clcecc2)clecc(ccl)N(clcceeel)cleeceel)/C(=0)O

551 CCCCCCOclcc(OCCCCCCO)ceclclcec(ecl)N(eleee(eel)cleee(cc1OCCCCCC)OCCC
CCC)clcee(ecl)/C=C/I\SC(=[N]=Clclcccccl)[C](C(=O)O)CH#N

552 | N#C/C(=C\clcee(ccl)N(cleeeecl)clece(cel)/C=N/clcec2e(cl)cleccec1n2CC)/C(=0)0O

553 CCCCCCnlc2ccc(ec2e2clece(c2)/C=C(/C(=0)O))\C#N)/C=N\clccc2e(cl)cleceee 1n2C
C

554 CCCCCCCCCCCCclcc(sclclsc2e(cl)sc(c2)/C=C(/C(=O)O)\C#N)clcce(cel)N(cleecee
I)clcecccl

555 CCCCCCCCCCCCclcc(sclclece(cel)N(clecceel)cleceeel)elece(cel)/C=C(/C(=0)0)
\C#N

556 | N#C/C(=C\clcce(sl)clsc(c2c10CCO2)clcec(ccl)N(clceceecl)clecceel)/C(=0)0O

557 N#C/C(=C\clce2e(s1)ce(s2)clsc(c2c10CCO2)clcec(ccl)N(cleceeel)cleceecl)/C(=0)
(0]

553 CCCCCCCCclece(sclclee(c(sl)clece(ec1)N(cleececl)cleeccec1)CCCCCCCC)clece(c2
clnsn2)clee(c(sl)clece(sl)cleee(ccl)/C=C(/C(=O0)O)\C#N)CCCCCCCC

559 O=C(O)CNIC(=S)S/C(=C\c2ccc(s2)c2sc(c3c20CCO3)c2ccc(cc2)N(c2cccec2)c2eccec?)
/C1=0

560 | N#C/C(=C\clcce(sl)clec2e(sl)ece(s2)cleec(ccl)N(cleceecl)elcceecl)/C(=0)0O

561 | CCCCCCCCclcc(sclcleee(sl)eleec(ccl)N(cleee(ccl)CCCCCC)elecc(ec1)CCCCCC)e
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Icee(c2clnsn2)elsc(c(c1)CCCCCCCC)elcecce(sl)cleee(ccl)/C=C(/C(=O)O)\C#N

CCCCCC[C@@H](Cclce(sclclec2e(sl)clsc(ecclelc2nonl)clsc(cc1C[C@H](CCCCCC

262 )CCCC)/C=C(/C(=0)O)\C#N)clccc(ccl)N(clcceeel )eleceec1)CCCC
CCCCnlc2cc(cec2c2celcec(cc2)clecc(sl)clece2nl[B](F)(F)nle(cec1[{Cl2clcce(s1)/C=C(

563 | /C1=CC=[N]=C[CH]1))\C#N)clccc(s1)clcee2e(c1)n(CCCC)clc2ecc(cl)N(clcceeel)ele
ccecl)N(clceeeeel)cleceeel

564 N#C/C(=C\clcee(sl)cleee(sl)cleee(ccl)N(cleee2e(c1)OCCO2)c1cec2e(c1)OCCO2)/C(
=0)0

565 N#C/C(=C\clcc2e(s1)ce(s2)cleee(s1)cleee(ccl)N(cleee2e(c1)OCCO2)c1ceec2e(c1)OC
C02)/C(=0)0O

566 N#C/C(=C\clcee(ccl)cleee(s1)clecc(ccl)N(cleee2e(c1)OCCO2)clcec2e(c1)OCCO2)/
C(=0)0O

567 N#C/C(=C\c1sc(c2c10CC(CO2)(C)C)clsc(c2c10CC(CO2)(C)C)clecc(ecl)N(clecceel
)cleeceel)/C(=0)0O
CCCCnlc2cc(ccc2c2celec(cc2)clece(s])clece2nl [B](F)(F)nlce(cccl[CJ2clece(s1)/C=C(

568 | /C(=0O)O)\C#N)clcee(sl)cleec2e(c1)n(CCCC)elc2ecc(cl)N(cleccecl)cleccecl)N(clce
ccel)cleccececl

569 N#C/C(=C\clcce(sl)cleee(sl)clecc(sl)cleec(ecl)N(eleee2e(c1)OCCO2)c1cec2e(cl)O
CCO2)/C(=0)O
CCCCCCSclcec(ecl)N(eleee(ee1)SCCCCCC)elccec(ecl)clsc(c2c10OCC(CO2)(CCCCC

570 | )CCCCO)CI=[N]=C2C(=[N]=C(S2)c2sc(c3c20CC(CO3)(CCCCC)CCCCC)c2cce(s2)/C
=C(/C(=0)O)\C#N)S1

571 CCCCCCCCclee(sclcleee(sl)clece(ccl)N(clecceel)clececcl)cleec(c2clnsn2)celcc(c(
s1)cleee(sl)clcec(ccl)/C=C(/C(=0O)O))\C#N)CCCCCCCC

579 COclcee(ccl)N(cleee(ccl)OC)clcec(ccl)clece(c2elnsn2)clece(s1)/C=C(\C(=0)0O)/C#
N

573 CCCCCCclcce(sclclcec(ccl)/C=C(/C(=O)O)\C#N)clcee(ccl)N(cleee2e(c1)OCCO2)cl
ccc2e(c1)OCCO2

574 | N#C/C(=C\clcce(ccl)[CJ1C=[N]=C(c2c1nsn2)clcce(s1)N(clceececl)cleeceeel)/C(=0)0O

575 N#C/C(=C\clce2e(s1)ce(s2)clec2e(s1)ec(s2)clece(ccl)N(cleee2e(c1)OCCO2)clcec2e(
c¢1)OCCO2)/C(=0)0O

576 N#C/C(=C\clcee(s1)clec2e(s1)cle(s2)ec(s1)clece(ccl)N(cleee2e(c1)OCCO2)clcec2e(
c¢1)OCCO2)/C(=0)0

577 N#C/C(=C\clcc2e(s1)ce(s2)clec2e(s1)cle(s2)cc(s1)clecc(ccl)N(cleec2e(c1)OCCO2)c
lcee2e(c1)OCCO2)/C(=0)0

578 N#C/C(=C\clcee(sl)cleee(sl)clece2e(cl)N(cleccee)[C@H] 1 [C@@H2[C@@H]2CC
[C@H]1C2)/C(=0)O

579 N#C/C(=C\clcee(sl)cleee(sl)clece(sl)cleec2e(c1)N(cleceeel)[C@H] 1 [C@@H2[C@
@H]2CC[C@H]1C2)/C(=0)O

580 CCCCCCclece(scleleee(s1)/C=C(/C(=O)O)\C#N)clcec2e(c1)N(clceeeel)[C@@H]1[C
@H]2[C@H]2CC[C@@H]1C2

581 CCCCCCclcece(sclcleec(s1)/C=C/I\SC(=S)N(C1=0)CC(=0)O)clccc2c(c1)N(clceeecl)
[C@HN[C@@H]2[C@@H]2CC[C@H]1C2

582 | CCCCCCCCCCCCelce(sclelecec(sl)/C=C/I\SC(=S)N(C1=0)CC(=0)O)clccc2e(cl)N(
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clecceeH[C@H] [C@Q@H2[C@H2CC[C@@H]1C2

N#C/C(=C\clcee(s1)elsc(c2c10CCO2)c1cec2e(c1)N(clecceel)[C@@H]1 [C@H2[C@

>83 H]2CC[C@@H]1C2)/C(=0)O

584 N#C/C(=C\clcee(s1)clec2e(s1)ce(s2)cleee2e(c1)N(cleccee])[C@H] [C@@H2[C@@
H]2CC[C@H]1C2)/C(=0)O

585 N#C/C(=C/clcc2e(s1)ce(s2)clece(s1)clece(ccl)N1c2eceec2[C@@H2[C@H]1[C@H]1
CC[C@@H]2C1)/C(=0)0O

586 N#C/C(=C/clcce(ccl)clece(sl)clecc(ccl)N1c2eceec2[ C@@H2[C@H]1 [C@@H]1CC
[C@H]2C1)/C(=0)O

587 0=C10C(=0)/C(=C/c2ccc(s2)c2ccc(s2)c2ecc(s2)c2cecc(cc2)N2c3ccccc3[C@@H]3[C@
H]2[C@@H]2CC[C@H]3C2)/SC(=S)NC1

588 CCCCCCclece(sclelecee(s1)/C=C(/C(=O)O)\C#N)clcce(cc1)N1c2eccec2[Co@H]2[C@
H]1[C@H]1CC[C@@H]2C1

589 CCCCCCclece(sclelsc2e(cl)sc(c2)/C=C(\C(=0)0)/C#N)clcce(ccl)N1c2eeccc2[C@H]
2[C@@H]1[C@@H]1CC[C@H]2C1

590 CCCCCCclece(scleleee(ccl)/C=C(\C(=0)O)/C#N)clccc(ccl)Nlc2eceec2[C@@H]2[C
@H]1[C@H]ICC[C@@H]2C1

591 CCCCCCclece(sclcleee(s1)/C=C/I\SC(=S)N(C1=0)CC(=0)O)clccc(ccl)N1c2cecee2|
C@HR[C@@H][C@@H]1CC[C@H]2C1

597 CCCCCCCCCCCCclec(sclclecc(s1)/C=C(/C(=0)O)\C#N)clccc(eccl)N1c2cceec2[C@
@H]2[C@H]1[C@H]1CC[C@@H]2C1

593 | N#C/C(=C\clcce(sl)cleee(ccl)elecc(ecl)N(clecec2elceec2)cleceecl)/C(=0)0O

594 | N#C/C(=C\clcce(sl)cleee(sl)clece(ccl)N(cleeceel)cleccecl)/C(=0)0O

595 | N#C/C(=C\clcc2ce(s1)ce(s2)clcee(sl)clece(ccl)N(cleeeecl)clecceel)/C(=0)0O

596 | N#C/C(=C\clcee(ccl)cleee(sl)clece(ccl)N(clceeeel)eleceecl)/C(=0)O

597 | N#C/C(=C\clcee(ccl)cleee(s])cleee(s])cleec(ccl)N(cleceecl)eleececl)/C(=0)O

598 | CCCCCCclece(sclelece(s1)/C=C(/C(=O)O)\C#N)clcce(cel)N(cleceeel)cleceeel

599 CCCCCCclece(sclelsc2e(cl)sc(c2)/C=C(/C(=0)O)\C#N)clcce(cc1)N(cleeeecl)cleccee
1

600 | CCCCCCclcece(sclelece(ccl)N(cleeceel)cleceeel)cleee(cel)/C=C(/C(=O)O)\C#N

6ol CCCCCCclcece(sclcleee(s1)/C=C/I\SC(=S)N(C1=0)CC(=0)O)clccc(ccl)N(clceeeel)e
Icceeel

602 CCCCCCCCCCCCclece(sclclece(s1)/C=C(/C(=O)O)\C#N)clcce(ccl)N(cleececl)elce
ccel

603 | N#C/C(=C\clcce(ecl)clsc(c2c10CCO2)clccc(ccl)N(clececcl)elcccecl)/C(=0)0O

604 | N#C/C(=C\clsc2c(cl)sc(c2)clec2e(sl)ee(s2)cleec(ccl)N(cleceecl)eleccecl)/C(=0)0O

605 CCCCCCcCCCCCCCcelece(sclclece(ccl)/C=COAC(=0)0)/C#N)clcce(eccl)N1c2eceec2[C
@@H]2[C@H]1[C@H]1CC[C@@H]2C1

606 CCCCCCCCCCCCclece(sclcleee(s1)/C=C/I\SC(=S)NCC(=0)0OC1=0)clccc(ccl)N1c2
ceeec2[C@HR[C@@H] 1 [C@@H]1CC[C@H]2C1

607 N#C/C(=C\clcee(s1)elsc(c2c10CCO2)c1cec(ccl)N1c2ececc2[C@H2[C@@H]1[C@
@H]1CC[C@H]2C1)/C(=0)O

608 | N#C/C(=C/clcc2ce(s1)cce(s2)c1sc(c2c10CCO2)clcec(ccl)NIc2eccec2[C@@H2[C@H]
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1[C@H]1CC[C@@H]2C1)/C(=0)O

N#C/C(=C\clcee(s1)clec2e(s1)sc(c2)clcec(ccl)N1c2ecccc2[C@@H]2[C@H] [Co@

609 H]1CC[C@H]2C1)/C(=0)O

610 | N#C/C(=C\clcce(ccl)clec2e(s1)ce(s2)clece(ccl)N(cleceeel)eleccecl)/C(=0)O

611 | N#C/C(=C\clcce(ccl)clec2e(sl)cle(s2)ee(s1)clecc(cel)N(cleceeel)clceeecl)/C(=0)0O

612 OC(=0)CN1C(=S)S/C(=C\c2ccc(s2)c2cce(s2)c2ccc(cc2)N(c2eec3c(c2)OCCO3)c2ccc3ce
(c2)OCCO3)/C1=0

613 N#C/C(=C\clcee(ccl)clece(s1)clece(s1)clece(ccl)N(cleee2e(c1)OCCO2)clcec2e(cl)
0CCO02)/C(=0)O

614 CCCCCCclece(sclelsc2e(cl)sc(c2)/C=C(/C(=0)O)\C#N)clcce(cc1)N(cleee2e(c1)OCC
02)clcec2e(c1)OCCO2

615 N#C/C(=C\clcee(sl)clesc2clsc(c2)clecc(ccl)N(cleec2e(c1)OCCO2)clcec2e(c1)OCC
02)/C(=0)0O

616 N#C/C(=C\clcee(ccl)clsc2e(cl)sc(c2)clece(ccl)[N]cleee2e(c1)OCCO2)/C(=0)0.S1[C
H]C2=C(C=C1)0CCO2

617 N#C/C(=C\clcee(ccl)clsc(c2c10CCO2)clccc2e(cl)N(cleceeeel)[C@H] [C@@H]2[C
@@H]2CC[C@H]1C2)/C(=0)O

618 CCCCCCCCCCCCclece(sclclsc2e(cl)sc(c2)/C=C(\C(=0)O)/C#N)clccc(ccl)N1c2ecce
2[C@HR[C@@H]l[C@@H]1CC[C@H]2C1

619 CCCCCCOclcee(ccl)N(clcee(ec1))OCCCCCCO)cleee(ccl)eleee(sl)clece(sl)clece(c2e
1nsn2)/C=C(/C(=0)O)\C#N

620 CCCCCCOclcee(ccl)N(cleee(ecc1))OCCCCCCO)clece(ccl)eleee(sl)clece(sl)clece(c2e
Insn2)clcee(ccl)/C=C(/C(=O)O))\C#N

621 N#C/C(=C\clcee(s1)C1=C2C(=[N]=C(S2)C)[C](C=C1)clccc(ccl)N(clcceeel)eleececl
)/C(=0)O

622 N#C/C(=C\clcee(s1)cleee(c2=[N]=C(C(=[N]=c12)clcccccl)clcececl)/C=C/clcee(ccl)
N(cleceeel)cleceeel)/C(=0)0O

623 | N#C/C(=C\clcce(ccl1F)clsc(c2c10CCO2)clcecc(cel)N(clecceel)clecceel)/C(=0)0O

624 | N#C/C(=C\clcce(c(cl)F)clsc(c2¢10CCO2)clcec(ccl)N(cleececl)clececeel)/C(=0)0O

625 N#C/C(=C/c1cc2e(-c3c(C2(CC)CC)cce(s3)c2ecc(cc2)N(c2ecc(cc2)N(C)C)e2ece(cc2)N(
C)C)s1)/C(=0)O

626 | N#C/C(=C\clcc2e(-c3¢(C2(CC)CC)ee(s3)c2cecc(cc2)N(c2eccec2)c2eccec2)s1)/C(=0)0

7 N#C/C(=C\clce2e(-c3c(C2(CC)CC)ee(s3)c2sc(c3c20CCO3)c2ccc(cc2)N(c2eccec2)c2e
ccee2)s1)/C(=0)0

68 N#C/C(=C\clcee(s1)[C]1C=CC(=C2C1=[N]=C(S2)C)clccc(ccl)N(clcceeel)clececeel)/
C(=0)0

629 | N#C/C(=C\clcce(sl)cleee(cel)cleec(ecl)N(elcceecl)cleeceel)/C(=0)O

630 CCCCCCOclecc(eecl)N(cleee(ee1)OCCCCCC)eleee(cc)[C@]120CCOCI=C(SC2)cl
cce(c2¢1nsn2)/C=C(/C(=0)O)\C#N

631 CCCCCCOclecc(eel)N(cleee(ec1)OCCCCCC)elece(cc)[C@]120CCOCI=C(SC2)cl
cce(c2clnsn2)clece(ccl)/C=C(/C(=O)O)\C#N

612 OC(=0)clcec2=[N]=C(C(=[N]=c2cl)clccc(ccl)/C=C\clcce(ccl)N(clecceel)clecececl)

clcee(eel)/C=C\clcec(ccl)N(clcececl)clecceel
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633 | N#CC(=cls/c(=C\c2cce(cc2)N(c2cccec2)c2eccec2)/c(=0)[nH]1)CHN

634 N#CC(=c1[nH]c(=0)/c(=C/c2cce(cc2)N(c2ccece(ce2)/C=c/2\sc(=C(C#N)C#N)[nH]c2=0)
c2ccecc2)/s1)CH#N

635 N#CC(=cls/c(=C/c2ccc(cc2)N(c2cce(cc2)/C=c/2\sc(=C(CH#N)C#N)[nH]c2=0)c2ccc(cc2
)/C=c/2\sc(=C(C#N)C#N)[nH]c2=0)/c(=0)[nH]1)C#N

636 | N#CC(=c1[nH]c(=0)/c(=C/c2cce(s2)c2ecc(cc2)N(c2eccec2)c2eccec)/s1)CHN

637 N#CC(=c1[nH]c(=0)/c(=C/c2cce(s2)c2ece(cc2)N(c2eec(ce2)c2ecce(s2)/C=c/2\sc(=C(C#
N)C#N)[nH]c2=0)c2ccccc2)/s1)CHN

638 CCCCCCCCOclec2e3ec(sc3ce3c(c2cc1OCCCCCCCC)ec(s3)/C=C(/C(=O)O)\C#N)clcc
c(ccl)N(cleee(ccl)OC)cleee(cc1)OC

639 CCCCCCCCOclcc2e3ec(sc3e3c(c2cc10CCCCCCCC)ec(s3)/C=C(\C(=0)0)/C#N)clsc(
¢2c10CCO2)clecc(ccl)N(cleee(ccl)OC)elccc(ecl)OC

640 CCCCCCCCOclcc2e3ece(sc3e3c(c2cc10CCCCCCCC)ee(s3)C[C@H](C(O)O)CN)clece
(c2cInsn2)cleec(ccl)N(clece(ccl)OC)elcce(cc1)OC

641 | N#C/C(=C\clcc(e(sl)clsc(cclC)clece(ccl)N(cleeceel)cleccecl)C)/C(=0)0O

642 CCCCCCclce(sclelsc(cc1CCCCCC)/C=C(\C(=0)O)/C#N)clcce(ccl)N(cleececl)elce
ccel

643 CCCCCCnlc2cc(ecee2n(c1=S)CCCCCC)N(clceec2e(cl)n(CCCCCO)e(=S)n2CCCCCC)c
Icee(ecl)clece(sl)clece(s1)/C=C(/C(=O)O)\C#N

644 CCCCCCnlc2cc(eee2n(c1=S)CCCCCC)N(clcec2e(cl)n(CCCCCO)e(=S)n2CCCCCC)c
Icee(ecl)clece(c(s1)elsc(cc1C)/C=C(\C(=0)0O)/C#N)C

645 CCCCCCclce(sclelsc(cc1CCCCCC)/C=C(\C(=0)0)/C#N)clcee(ccl)N(cleee2e(cl)n(
CCCCCC)c(=S)n2CCCCCC)clcec2e(cl)n(CCCCCC)e(=S)n2CCCCCC

646 CCCCCCCCnlc2cce(cc2e2elcece(c2)clece(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)N(cleee
ccl)clecccecl

647 CCCCCCCCnlc2cce(cc2e2elcece(c2)clecc(o1)/C=C(/C(=O)O)\C#N)clcce(ce1)N(clece
ccl)clecccecl

648 CCCCCCnlc2ccec(ec2e2clecc(c2)clcec(o1)/C=C(/C(=O)O)\C#N)clcce(ccl)N(clceeecl
)cleeeeel

649 N#C/C(=C\clcec(ol)cleee2e(cl)clec(ccc1n2CCCC(C)C)clece(cel)N(clecceel)clceee
c1)/C(=0)0O

650 | N#C/C(=C\clccec(ol)clcec(ccl)N(cleceecl)clecceel)/C(=0)0O

651 CCCCCCIL(CCCCC)COC2c(0OCT)e(sc2C1=[N]=C2C(=[N]=C(S2)c2sc(c3c20CC(CO3)(
CCCCC)CCCCC)c2cce(s2)/C=C(\C(=0)0)/C#N)S1)clccc(ccl)N(clcceeel )eleececl
CCCCCCI(CCCCC)COc2c(OCT)e(sc2C1=[N]=C2C(=[N]=C(S2)c2sc(c3c20CC(CO3)

652 | CCCCC)CCCCC)c2s¢(c3c20CCO3)/C=CO\C(=0)0)/C#N)S1)clccc(ccl)N(cleceecl)el
cceeel

653 CC1(C)COCc2c¢(OCT)c(sc2C1=[N]=C2C(=[N]=C(S2)c25¢c(c3c20CC(CO3)(C)C)c2cce(s2
)/C=C(\C(=0)0)/C#N)S1)clccc2e(cl)Scle(N2c2ece(cc2)OC)ececl

654 | N#C/C(=C/clcce(sl)cleec(ccl)N(cleceeel)cleccecl)/C(=0)O

655 CCCCOclcc(OCCCC)ccclelecc(ccl)N(cleee(ccl)cleec(cc 10CCCC)OCCCC)clece(cc
1)/C=C\clcce(s1)/C=C(\C(=0)O)/C#N

656 | CCCCCCCCNIC(=0)C2=C(N(C(=0)C2=C1CI1=[N]=C[C](C=C1)clccc(ccl)N(clcccce
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1)cleceee])CCCCCCCC)C I=[N]=C[C](C=C1)clcce(s1)/C=C(\C(=0)0)/C#N

CCCCCCclece(scleleece(ccl)/C=C(/C(=0)O)\C#N)clcce(c2ecInsn2)clcec(s1)clecc(ccl)

657 N(cleee(ee1)OC[C@H](CCCCC)CC)clece(ce1)OC[C@@H](CCCCC)CC

658 CCCCCCCI=C(S/C(=C\2/SC(=C(N2)CCCCCC)c2ccc(s2)/C=C(/C(=O)O)\C#N)/N1)clc
cc(ccl)N(cleeeeel)clecccecl

659 CCCCCCCI=[N]=C(S[C]1C#Cclccc(ccl)N(cleccecl)eleceecl )C1=[N]=C([C](ST)clcc
¢(s1)/C=C(/C(=0)O)\C#N)CCCCCC

660 N#C/C(=C\clcce(nlcle(F)e(F)e(c(c1F)F)F)/C=C\clcce(cel)N(clecceel)cleceeel)/C(=
0)0

661 | C=Cclccc(ccl)N(cleecceel)cleee(cel)/C=C\1/SC(=S)NCC(=0)OC1=0

662 | C=Cclccc(ccl)N(clceeceel)cleee(cecl)/C=C/C=C\1/SC(=S)N(C1=0)CC(=0)O

663 | OC(=0)CNI1C(=S)S/C(=C/c2ccc(cc2)N(c2cccec2)c2eccec2)/C1=0

664 CCCCCCCCOclccec(ccl)elccc(ecl)N(eleee(eel)clece(c2elnsn2)clece(ccl)C(=0)0)cl
cee(ecl)cleec(ec1)OCCCCCCCC
CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)cleee(ccl)elece(sl)clsce(c1)C1=[N]=c

665 | 2ccec(c2=[N]=Clclcce(s1)/C=C(/C(=0)O)\C#N)clcce(sl)clece(cc1)N(cleee(cc1)OCC
CCCC)clccec(ccl)OCCCCCC
CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCO)clecce(ccl)elece(sl)elece(c2=[N]=C(C(

666 | =[N]=c12)clccc(s1)/C=C(\C(=0)0)/C#N)clcce(s1)/C=C(\C(=0)O)/C#N)clcce(sl)clce
c(ccl)N(cleee(cec1)OCCCCCCO)cleec(ccl)OCCCCCC

667 N#CSclen(c2clcc(ec2)clec(c(s1)/C=C(/C(=O)O)NC#N)C)clccc(ccl)N(cleee(ccl)C)elce
cce(ccl)C

668 | N#C/C(=C\clsc(cc1C)clcec2e(cl)een2elcec(ccl)N(cleee(ccl)C)elece(ecl)C)/C(=0)0
CCCC[C@H](CN1C(=C2C(=C(N(C2=0)C[C@H](CCCC)CC)C2=[N]=C[C(C=C2)c2c

669 | cc(s2)/C=C(\C(=0)0)/C#N)C1=0)C1=[N]=C[C](C=CT)clccc(cc1)N(clccceccl)cleecee
1)CC
CCCCCCclece(scleleece(cecl)/C=C(/C(=0)O)\C#N)clcce(c2ecInsn2)clcec(sl)clecc(ccl)

670 | N(clcce(ecl)cleee(ccl)OC[C@H](CCCCC)CC)cleec(ccl)cleee(ccl)OC[C@H](CCCC
C)CC

671 CCCCCCCI=[N]=C(S[C]1clcce(ccl)N(cleee(ce1)OC)elcee(cc1)OC)C1=[N]=C([C](S
I)clcee(s1)/C=C(/C(=O)O)\C#N)CCCCCC

672 CCCCCCCI=[N]=C(S[C]1clcce(cc1)N(cleee(ce1)OC)elcee(cc1)OC)C1=[N]=C([C](S
I)clcee(cel)/C=C(/C(=0)O)\C#N)CCCCCC

673 CCCCCCCI=[N]=C(S[C]1clcce(cc1)N(cleee(ce1)OC)elcee(cc1)OC)C1=[N]=C([C](S
1)C#Cclcee(cel)/C=C(/C(=0)O)\C#N)CCCCCC

674 CCCCCCclee(scl[C]IC=[N]=C(c2c1nsn2)clcec(ccl)N(clcee(ce1)OCCCCCC)cleece(ce
1)OCCCCCC)clcee(s1)/C=C(/C(=0)O)\C#N

675 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCO)clece(ccl)C1=[N]=C[C](c2cInsn2)c1sc
(cc1CCCCCC)clsc(c(c1)CCCCCC)/C=C(/C(=O)O)\C#N

676 CCCCCCclce(sc1[C]1C=[N]=C(c2c1nsn2)clcec(ccl)N(cleee(ce1))OCCCCCC)cleec(ce
1)OCCCCCC)clcee(ccl)/C=C(/C(=0)O)\C#N

677 CCCCCCclce(sc1C1=[N]=C[C](c2c1nsn2)clsc(cc1CCCCCC)clcce(ccl)/C=C(/C(=0)0O

NC#N)clcee(ccl)N(cleee(ce1)OCCCCCC)clece(ccl)OCCCCCC
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CCCCCCOclcec(ccl)N(cleee(ee1)OCCCCCC)clece(cel)clecc(s1)C1=[N]=C[C](c2cl

078 nsn2)clccc(sl)clcec(ccl)/C=C(/C(=O)O)\C#N

679 | O=C(O)CN1C(=0)c2ccc(c3c2c(C1=0)ccc3)clece(ccl)N(cleccecel)clecccecl

630 O1C(=0)CNC(=0)c2cce(c3c2c(C1=0)ccc3clcec(ccl)N(cleceecl)cleccecl)clece(ccl)
N(clcceeel)cleeeeel

631 CCCCOclcee(e(c1)OCCCC)clece(ccl)N(cleee(cel)eleec(cc10CCCC)OCCCC)eleece(
ccl)cleee(s1)/C=C(/C(=O)O)\C#N

632 CCCCOclec(OCCCC)ecclclece(ccl)N(clcee(eel)clece(s1)/C=C(/C(=0)O)\C#N)clcce
(ccl)cleee(s1)/C=C(/C(=O)O)\C#N

633 CCCCeclc(sc(c1CCCC)clecce(sl)clece(s1)/C=CAC(=0)0)/C#N)clccc(s1)clecc(ccl)N(c
Iceeeel)cleceeel

634 CCCCeclc(sc(c1CCCC)clece(s1)/C=CO\C(=0)0)/C#N)clcc2e(sl)cle(s2)ce(sl)cleee(sl)
clcee(ecl)N(clecceel)cleceeel

685 N#C/C(=C\clcce(sl)cleee(c2elnsn2)clece(sl)clece(cc1)N(cleccecl)cleccecl)/C(=0)
O

686 N#C/C(=C\clcce(sl)cleee(c2elnsn2)cleece(s1)/C=C/clcec(ccl)N(clececel)cleccecl)/C
(=0)O

687 N#C/C(=C\clcce(sl)cleee(c2elnsn2)clcec(s1)C#Celeec(ccl)N(cleceeel)clecececl)/C(
=0)0

688 CCCC[C@@H](COclccc(ccl)N(cleee(ec1)OC[C@H](CCCC)CC)eleece(ccl)clecce(sl)
clcee(c2clnsn2)clcec(s1)/C=C(/C(=O)O))\C#N)CC
CCCCCCCCNIC(=0)C2=C(N(C(=0)C2=CI1C1=[N]=C[C](C=C1)clccc(ccl)N(clccc(c

689 | c1)OC)cleec(ccl)OC)CCCCCCCC)CI=[N]=C[C](C=C1)clccc(s1)/C=C(/C(=0)O))\C#
N

690 | COclcce(eccl)N(cleee(ce1)OC)clcec(ecl)cleecc(ol)/C=C(/C(=0)O)\C#N

691 | COclcee(c(c1)OC)N(cleee(cc1OC)OC)clecc(ccl)cleec(o1)/C=C(/C(=O)O)\C#N

692 | N#C/C(=C/clccc(ol)clcec(ccl)N(cleee(c(c1)OC)OC)clcce(c(c1)OC)OC)/C(=0)0

693 | N#C/C(=C\clccc(ol)clcec(ccl)N(cleee2e(c1)OCCO2)c1cec2e(c1)OCCO2)/C(=0)0

694 CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)elece(cel)/C=C\C(=C(/C(=O)ON\CHN)\
clec(OC)cec10C

695 CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)elece(cel)/C=C/C(=C(\C(=O)O)/C#N)/
clcc(OCCC)eec1OCCC

696 COclcee(ccl)N(cleee(ce1)OC)elcee(cecl)/C=C\C(=C(/C(=O)O)\C#N)\clcc(OC)ccclO
C

697 | N#C/C(=C\clcc(OC)c(cc10C)/C=C/clccc(ccl)N(cleccccl)cleceecl)/C(=0)0O

698 | N#C/C(=C\clcc(OC)c(ccl10C)/C=C/clcc(OC)c(cc10OC)N(cleececl)cleceecl)/C(=0)0O

699 N#C/C(=C/c1cc(OC)c(cc10C)/C=C/clcc(OC)c(cc1OC)/C=C/clcc(OC)c(cc1OC)N(clee
cccel)cleceecl)/C(=0)0

700 | N#C/C(=C\clccc(nlcleee(ccl)C#N)/C=C\clcee(ccl)N(clcceeel)cleeceel)/C(=0)0O

701 | OC(=0O)CNI1C(=S)S/C(=C/C=C/c2ccc(cc2)N(c2cceec2)c2eccec?)/C1=0
CCCC[C@@H](CN1C(=C2C(=C(N(C2=0)C[C@@H](CCCC)CC)C2=[N]=C[C](C=C2

702 | )c2cee(s2)/C=C(/C(=0)O)\C#N)C1=0)CI1=[N]=C[C](C=CT)clccc(cc1)N(clccc(cc1)OC

)cleee(ecl1)OC)CC

30




CC(COclcce(ecl)N(cleee(ce1)OCCC)clecc(ccl)elece(sl)clecc(c2clnsn2)clcec(sl)clc

703 cc(ccl)/C=C(/C(=O)O))\C#N)C

204 CCCCI(CCC)COCc2c(0OCT)c(sc2cleec(ccl)N(cleceecl)elecceel)clsc(c2c IOCC(CO2)(
CCC)CCC)/C=C(/C(=O0)O)\C#N

205 CCCCCCCI(CCCCCC)CO2c(OCT)e(sc2elsc(c2c10CC(CO2)(CCCeee)ceeecceoy/e
=C(/C(=0)O)\C#N)clccc(ccl)N(clcceeel)eleceecl

206 N#C/C(=C/c1sc2-c3c([Si](c2cl)(cleccec])cleeceeel)ec(s3)clece(cel)N(clecceel)clece
ccl)/C(=0)0

207 CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)elecee(cel)clsc2-c3e([Si](c2el)(cleccee
1)clceeccl)ee(s3)/C=C(\C(=0)O)/C#N

708 | N#C/C(=C\clcee(cel)/C=C/clccce(cl)N(clcceecl)cleccecl)/C(=0)O

709 | N#C/C(=C\clcee(cel)/C=C\clcec(ccl)N(clceeecl)cleccecl)/C(=0)O

710 | N#C/C(=C\clccee(cl)N(clcececl)clecceel)/C(=0)O

711 | N#C/C(=C/clcce(ecl)N(clcceecl)clecceel)/C(=0)O

712 | OC(=0O)clccce(ecl)/C=C/clcece(cl)N(clccceel)clecececl

713 | OC(=0O)clcce(ecl)/C=C/clcec(ccl)N(clecceel)clecececl

714 | OC(=O)clccee(cl)N(clcceecl)cleceeel

715 | OC(=0)Cclcce(ccl)N(cleeceel)clecceccl

716 | N#C/C(=C\clcec(o1)/C=C\clcec(ccl)N(clcececl)cleceeel)/C(=0)0O

"7 N#C/C(=C\clcec(ol)clcee(sl)cleee2-c3¢(C(c2c1)(CC)CC)ec(ce3)N(clcceeel)eleccecl
)/C(=0)0O

18 N#C/C(=C\clcee(o1)/C=C/clccc2-c3¢(C(c2c1)(CC)CC)ee(cc3)N(cleceecl)cleccecl)/C
(=0)O

19 CCCCCCCCNIC(=0)C2=C(N(C(=0)C2=Clclccc(ccl)clsc(c2c10CCO2)clcee(ccl)N(
cleec(cel)C)eleee(cc1)C)CCCCCCCO)celccece(ecl)elece(s1)/C=C(\C(=0)0)/C#N

720 CCCCCCCCNIC(=0)C2=C(N(C(=0)C2=Clclccc(ccl)clsc(c2c10CCO2)clcec(cel)N(
clcee(cel)C)eleee(ccl)C)CCCCCCCC)elcecce(ecl)elece(cel)/C=C(\C(=0)O)/C#N

721 | OC(=O)clccc2e(cl)N[C]IN2C(=0)c2c3cleccc3c(cc2)clece(ccl)N(cleccecl)elcceecel

799 CCCCCCOclcee(ccl)N(clcee(ee1)OCCCCCCO)cleee(ccl)eleec2e3clecec3[C]IN(C2=
0)c2¢(N1)ce(ec2)C(=0)0

73 COclcee(ccl)NIc2eee(cc2Sc2clccec2)/C=C/C1=[N]=c2cc(ccc2=[N]=C1/C=C/c1lccc2c(
c¢1)Sclce(N2c2cee(cc2)OC)ccecl)C(=0)0

14 Cclee(sc1/C=C(\C(=0)0)/C#N)clsc2c(cl)cInn(nclcle2sc(cl)clcec(ecl)N(cleceeel)cl
cceecl)CC(C)C

75 CCCC[C@@H](Cnlnc2c(nl)clec(sclcle2ec(sl)clece(ccl)N(cleeeecl)clecceel)clece
(s1)/C=C(\C(=0)0O)/C#N)CC

196 CCCC[C@@H](CNINc2c(N1)clee(sclelc2ec(sl)clece(eccl)N(cleceeel)eleecccl)/C=
C(/C(=0)O)\C#N)CC
CCCCCCCCOclccec(ccl)elecc(ecl)N(eleee(eel)cleee(cc1)OCCCCCCCC)elcecec(ecl)e

727 | lcee(c2elnsn2)C#HCelsc2c(c1)c(OCCCCCCCC)cle(c20CCCCCCCC)cc(sl)clcece(s1)C
(=0)O

78 CCCCCCCCOclecec(ccl)clecc(ecl)N(cleee(eel)cleee(cc1)OCCCCCCCC)elcecc(ecl)e

Icee(e2c1nsn2)C#Celsc2e(cl)c(OCCCCCCCC)ele(c20CCCCCCCC)ece(sl)clece(ccl)
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C(=0)0

COclccee(ccl)cleec(eccl)N(cleee(eel)cleee(c2elnsn2)C#Ccleee(ccl)C(=0)O)clcec(ce

729
I)cleee(ccl)OC

730 CC(CCOclcee(ecl)N(cleee(cc1)OCCC(C)C)eleee(cel)/C=C/C1=[N]=c2cc(ccc2=[N]=
C1/C=C/clccc(ccl)N(cleee(cc1)OCCC(C)C)elece(ccl)OCCC(C)C)C(=0)0)C

31 COclcee(ccl)N(cleee(ce1)OC)elcee(ccl)/C=C/C1=[N]=c2cc(ccc2=[N]=C1/C=C/clccc
(cc1)N(cleee(ccl)OC)clcec(eec1)OC)C(=0)0

712 COclcee(ccl)N(cleee2-c3¢(C(c2c1)(C)C)cl-c2ececcec2C(elcl-c2¢(C(e31)(C)C)ecec2)(C
)C)clcec(ecl)clec2e(s])clc(n2C)e(cs1)/C=C(\C(=0)0O)/C#N

733 CCCCCCCCCI(CCCeCCl)c2ec(CHCCHCe3eee(ce3)N(c3cccece3)c3eccece3)ccc2-c2cl
cc(cc2)/C=C(\C(=0)O)/C#N
CCCCCCOclcece(ecl)N(cleee2-c3¢(C(c2cl)(CCCCCC)CCCCCCO)cel-c2cccec2C(clcl-c

734 | 2¢(C(c31)(CCCCCC)CCCCCC)ecec2)(CCCCCC)CCCCCl)clceee(ccl)elec2e(sl)cle(n
2c2cec(cc2)OCCCCCC)c(esl)/C=C(C(=0)0)/C#N

75 CCCC[C@H](Cclcc(scleleee(sl)clecc(cel)N(clecceel)cleceeel)elece(c2elnsn2)clee
(c(s1)clcee(sl)cleee(cecl)/C=C(/C(=0)O)\C#N)C[C@H](CCCC)CC)CC
COclcec(ccl)N(clece(cecl)OC)clcec(cel)N(cleec2-¢3¢(C(c2¢1)(C)C)el-c2eccec2C(clce

736 | 1-c2c¢(C(c31)(C)C)ecec2)(C)C)elecc(ccl)clec2e(sl)cle(n2C)cc(s1)/C=C(/C(=O0)O)\C#
N

737 Cnlc2ce(sc2c2c1cce(s2)/C=C(/C(=0)O)\C#N)clccc(cel)N(cleee2-c3¢(C(c2c1)(C)C)el-
c2cccec2C(elcl-c2¢(C(e31)(C)C)ecec2)(C)C)elece(ccl)N(cleccecl)elecccecl

738 COclceee(cl)[C]IC=CC(=C2C1=[N]=C(N2)clccc(ccl)N(clcee(ee1)[CH][CI(C(=O)O)[
NJ#[C])elcce(ecl)Br)clecee(c1)OC

739 COclceee(cl)C1=C2C(=[N]=C(N2)c2ccc(cc2)N(c2cce(ce2)c2ecee(c2)N(C)C)c2ecc(cc2
)[CH][CI(C(=O)O)[NJ#[CD[CI(C=C1)clccce(c1)OC

740 COclccec(cl)cleec(ecl)N(cleee(ec1)[CH][CI(C(=O)O)[N]#[C])clcec(ccl)C1=[N]=C2
C(=C(C=C[C]2c2cccc(c2)OC)c2ccec(c2)OC)N1

241 CCCCCCclccece(sl)clece(sl)clece(ccl)N(cleee(ccl)cleee(sl)cleee(s1)CCCCCC)clecc
(cc1)/C=C\1/SC(=S)N(C1=0)CC(=0)O

42 CCCCCCclccece(sl)clece(sl)clece(ccl)N(cleee(ccl)cleee(sl)cleee(s1)CCCCCC)clece
(cc1)/C=C(\C(=0)O)/C#N

43 N#C/C(=C/clcce(s1)cleee(s1)C1=[N]=C([C](S1)clcce(cel)N(cleee(ecl)C)eleece(cel)C
)OC)/C(=0)0O

244 N#C/C(=C\clcee(s1)C1=[N]=C([C](S1)clcee(ce1)N(clece(ce1)OC)clece(cc1)OC)OC)/
C(=0)0O

745 N#C/C(=C/clcce(s1)[CIINC(=C(S1)clcee(ccl)N(clcee(cel)C)clece(cc1)C)OC)/C(=0)
O

246 CCCCCCnlnc2c(n1)[C](clcce(ccl)/C=C(/C(=O)O)\C#N)clc([C]2c2cee(cc2)N(c2eece(c
¢2)OCCCCCC)c2cce(cc2)OCCCCCC)eccecl

47 CCCCCCnlnc2e(nl)[C](clcce(s1)/C=C(/C(=O0)O)\C#N)clc([C]2c2ccc(cc2)N(c2cee(ce
2)OCCCCCC)c2ccc(cc2)OCCCCCC)cccecl

748 N#C/C(=C\clcee(s1)[C]1c2ccccc2[C](c2cInsn2)clccc(ccl)N(cleccecl)elcceecl)/C(=0
)O

749 | CCCCCCOclcee(ccl)N(cleee(ccl)OCCCCCC)clece(ccl)[C]1c2ececc2[C](c2¢c1nsn2)c
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Icee(eel)/C=C(/C(=0)O)\C#N

CC1(C)c2cc(ccc2-c2¢] ce(ce2)/C=C(/C(=0)O)\CHN)CAC[P]([P](CC)(CC)CC)([PI(CC)(

730 CC)CC)C#Ccleee(ccl)N(cleceeel)clececcl

251 CCCCCCOclcec(ccl)N(cleee(ece1)OCCCCCC)cleee(ccl)[C]lc2ecccc2[C](c2clnsn2)c
Icee(s1)/C=C(/C(=O)O)\C#N

253 CCCCCCclcece(eel)N(cleee(ecl)/C=C/T\SC(=S)NCC(=0)OC1=0)c1ccc(ccl)/C=N/N(c
Iceeeel)CCCCCCCCC

253 CCCCCCCCCN(clceceecl)/N=C/clccc(ccl)N(clcee(cecl)/C=C/1\SC(=S)NCC(=0)0Cl1
=0)clccc(ecl)C

754 COclcee(ccl)N(cleee(cel)/C=C/1\SC(=S)NCC(=0)OC1=0)clccc(cc1)/C=N/N(clcccce
I)clcecccl

755 Cclcee(ccl)N(cleee(cel)/C=C/I\SC(=S)NCC(=0)OC1=0)clccc(ccl)/C=N/N(clccececl
)cleeeeel

756 O1C(=0)CNC(=S)S/C(=C\c2ccc(cc2)N(c2cee(cc2)/C=N/N(c2cceec2)c2cccec2)c2eccce
2)/IC1=0

257 N#C/C(=C\clce(c(sl)clcec(ec1)N(clece(ecl)cleee(ccl)N(cleeceel)cleccecl)elcee(ce
I)cleee(cel)N(cleceecl)elcececl)clece(ccl)N(cleeceel)cleccecl)/C(=0)O

. N#C/C(=C\clcce(sl)cleec(ccl)N(cleee(ccl)eleec(eccl)N(cleceeel)cleceeel)clecc(ecl
)cleee(ecl)N(cleeceel)cleceecl)/C(=0)0O

759 N#C/C(=C\clcee(ccl)N(cleee(cel)eleec(ecl)N(elcccecl)cleeceel)cleee(ccl)cleece(ce
1)N(clcceecl)cleceeel)/C(=0)0O

760 N#C/C(=C/clcec(o1)/C=C/clcec(eccl)N(clcee(ecl)clece(ccl)C(C)(C)C)elecc(ecl)clee
c(cc)C(CYC)C)/C(=0)O

761 N#C/C(=C/c1sc(c2c10CCO2)/C=C/clcce(eccl)N(clccc(ccl)clece(ccl)C(CHC)C)elecce(
ccl)cleee(cel)C(C)(C)C)/C(=0)0

62 N#C/C(=C/clccce(s1)cleee(s1)/C=C/clcec(ccl)N(cleec(cel)clcee(ccl)C(C)(C)C)eleee(
ccl)clece(eel)C(C)(C)C)/C(=0)O

63 N#C/C(=C/c1cce(s1)/C=C/clcec(ccl)N(cleec(cel)cleee(ccl)C(C)(C)C)eleec(ccl)clce
c(cc)C(CYC)C)/C(=0)O

64 CCCCCCCCCCeeeI(eceeceeecececelye2cece(sc2-c2elee(s2)clece(cel)N(cleee(ecl)
OCCCCCC)clcee(cc1)OCCCCCC)/C=C(\C(=0)0)/C#N

765 CCCCCCOclcece(ccl)N(cleee(cel ) OCCCCCC)cleee(ccl)elsc2e(cl)clec(sclc(c20CC
CCCC)OCCCCCC)/C=C(/C(=O)O)\C#HN

66 N#C/C(=C\1/C=C(/C=C/c2ccc(cc2)N(c2cce(cc2)n2c3ccecec3c3c2eccee3)c2ecc(cc2)n2ce3c
ccee3e3c2ecec3)CC(C1)(C)C)/C(=0)0

67 N#C/C(=C\1/C=C(/C=C/c2ccc(cc2)N(c2cee(cc2)N(c2eccecc2)c2eccec2)c2ece(cc2)N(c2e
ccee2)c2eceec2)CC(C1)(C)C)/C(=0)0

763 N#C/C(=C\1/C=C(/C=C/c2ccc(cc2)N(c2cce(cc2)N(c2ecccc2)c2eccec2)c2eceec2)CC(C1
)(C)C)/C(=0)O

769 | N#C/C(=C\1/C=C(/C=C/c2ccc(cc2)N(c2cccec2)c2eccec2)CC(C1)(C)C)/C(=0)0

770 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clece(ccl)eclec2e(s1)cle(n2CCCCCC)e
(cs1)/C=C(/C(=0)O)\C#N

771 | N#C/C(=C\clcce(ecl)N(clcceeel)clecceel)/C(=0)O
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CCCCCCOclc(OCCCCCO)c(c2ccce(s2)/C=C(/C(=0)O)\C#N)c2c(clcleec(ecl)N(clceee

772
cl)clceeccl)nsn2

773 COclc(0OC)c(c2cce(s2)/C=C(/C(=O)O)\C#N)c2c(clclcee3-c4c(C(c3c1)(C)C)ec(ccd)N(c
Icceeel)cleccecel)nsn2

774 CCCCCCOc1c(OCCCCCC)e(c2cee(s2)/C=C(/C(=O)O)\C#N)c2c(c1C#HCcleee(cc1)N(cl
cceecl)clcccecl)nsn2

175 0=C10C(=0)/C(=C/c2ccc(cc2)N(c2eec(cc2)C=C(c2cccec2)c2ecccc2)c2ecccc?)/SC(=S)
NCl1

776 CCCCCCOc1¢(OCCCCCO)c(c2cce(s2)/C=C(/C(=0)O)\C#N)c2c(clclcee(sl)cleee(cel)
N(clcceeel)clecceel)nsn2

777 CCCCCCOclc(c2ccee(s2)c2cecc(cc2)N(c2ecc(ec2)OC)c2ece(cc2)OC)e2nsnc2e(c10CCC
CCC)clecece(s1)/C=C(/C(=0)O)\C#N

778 | N#C/C(=C\clcce(sl)cleee(c2elnsn2)clcec(ccl)N(cleceeel)elcceecl)/C(=0)O

779 | N#C/C(=C\clcce(s1)[C]1C=[N]=C(c2c1Insn2)clccc(s1)N(clceeccl)eleceecl)/C(=0)0O

780 CCCCCCNIC(=C2C(=C(N(C2=0)CCCCCC)c2ccc(cc2)c2ecc(cc2)/C=C(/C(=0)O))\C#
N)C1=0)clccc(ccl)N(cleee(cc1)OCCCCCC)elcecc(eccl)OCCCCCC

781 CCCCCCNIC(=C2C(=C(N(C2=0)CCCCCC)c2ccc(cc2)/C=C(/C(=0)O)\C#N)C1=0)c1
cee(ccl)cleec(ecl)N(cleee(ee1)OCCCCCC)cleec(ccl)OCCCCCC

782 CCCCCCNIC(=0O)C2=C(N(C(=0O)C2=Clclccc(ccl)clcee(ecl)N(clcee(ecl)OCCCCCC
)clcee(ce1)OCCCCCC)CCCCCC)celcecec(ecl)clece(ccl)/C=C(/C(=O)O))\C#N

783 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCC)clecc(cel)clsc2e(cl)sc(c2)clsc2e(cl)sc
(c2)/C=C(\C(=0)0)/C#N

784 | Cclc(/C=C(\C(=0)0)/C#N)sc2clsclc2sc2clsc(c2C)clecc(ccl)N(clecceel)clecccecl

785 Ccle(/C=C(\C(=0)0)/C#N)sc2clsclc2sc2clsc(c2C)clecc(sl)clecc(ccl)N(cleceeel)cle
ccecl

286 Ccle(sc2clsclc2sc2elsc(c2C)elece(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)N(cleeceeel)clce
ccecl

787 Ccle(sc2clsclc2sc2elsc(c2C)elecc(sl)clecc(ccl)N(clececeel)eleceecl)eleece(s1)/C=C(
\C(=0)0)/C#N

788 | N#C/C(=C/clcce(ccl)N(cleecccl)cleceeel)/C(=0)0O

789 N#C/C(=C/clcce(ccl)N(clceceel)cleee(cc1)C1=[N]=C([C](N1)clcceecl)clecceel)/C(
=0)0

290 N#C/C(=C/clcce(ccl)N(clceeeel)cleee(ce1)C1=[N]=C2[C](N1)clcccecl-clc2ececl)/C
(=0)O

291 CCCCCCcCCrI(ceeeee)c2ece(/C=Cl/e3ccec(ce3)N(c3cecce3)c3ccecce3)cec2-c2clec(
cc2)/C=C(\C(=0)0O)/C#N
CCCCCCclce(sc(c1CCCCCC)clcc(e(sl)clee(c(sl)elecc2e3cleccc3c1=[N]=C3C(=C[C

792 | HJC=C3)n1c2=0)CCCCCC)CCCCCC)clce(c(sl)clce(e(sl)clece(ccl)N(cleee(ccl)C(=
0)O)clcee(cc]l)C(=0)0)CCCCC)CCceCe

293 N#C/C(=C\clcce(sl)cleec2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec(ecl)[CH]C1=c2¢(=C3
[C]1C=CC=C3)cccc2)clcecccl)/C(=0)0O

704 N#C/C(=C\clcee(sl)cleee(sl)ecleee2-c3¢(C(c2c1)(CC)CC)ec(ce3)N(clece(ccl)[CH]CI

=c2¢(=C3[C]1C=CC=C3)cccc2)clccecccl)/C(=0)0
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N#C/C(=C\clcee(sl)cleee2-¢3¢(C(c2¢1)(CC)CC)ee(ce3)N(clece(ecl)[CH]C1=c2cccce

795 2=C2[C]1C=CC=C2)clccc(ccl)[CH]Cl=c2ccccc2=C2[C]1C=CC=C2)/C(=0)O
N#C/C(=C\clcee(s1)cleee(s1)clece2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec(cc1)[CH]CT

796 | =c2¢(=C3[C]1C=CC=C3)cccc2)clcce(ccl)[CH]C1=c2¢(=C3[C]1C=CC=C3)cccc2)/C(=
0)0

707 N#CC(=Cclcce(ccl)N(cleee2-¢3c(C(c2¢1)(CC)CC)ec(ce3)clcec(s1)/C=C(/C(=0)O)\C#
N)clcceeel)C#HN

798 | N#C/C(=C\clcce(sl)cleec2-c3¢(C(c2e1)(CC)CC)ec(ce3)N(cleccecl)clececeel)/C(=0)O

299 N#C/C(=C\clcee(s1)cleee(s1)clece2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(clececcl)cleceecel
)/C(=0)0O

800 N#C/C(=C\clcee(s1)cleee2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2-c3c(C(c2el)(CC)CC
)eeee3)cleee2-¢3¢(C(c2e1)(CC)CC)ecec3)/C(=0)0

%01 N#C/C(=C\clcee(sl)cleee(sl)cleec2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2-c3c(C(c2cl
)(CC)CC)ccee3)clcec2-¢3¢(C(c2e1)(CC)CC)ececc3)/C(=0)0

802 | clee(cecl)N(cleccecl)elecc(ccl)cleee(s1)[C](C(=O)O)CHN

803 | clec(cecl)N(cleccecl)cleec(ccl)clsc(/C=C/c2ece(s2)/C=C(/CH#N)\C(=0)O)ccl

804 | clee(cecl)N(cleceeel)cleec(ccl)/C=C/clsc(/C=C/c2ccc(s2)/C=C(/CH#N)\C(=0)O)ccl

905 CCCCCCclcece(sclclcec(ecl)N(cleee2-c3¢(C(c2cl)(C)C)ecce3)elcecc2-c3¢(C(c2cl)(C)
C)ceee3)clsc(ccCCCCCC)clsc(cc1CCCCCO)/C=C(/C(=0)O)\C#N
CCCCCCCI1=C[C](c2sc([C]3S[C@@](C=C3CCCCCC)C=0)/C=C(/C(=0)O)\C#N)cc2

806 | CCCCCO)S[C@@H]1clcc2e(s1)ce(ec2)N(cleee2-c3¢(C(c2el)(C)C)eccee3)cleecec2-c3¢(
C(c2c1)(C)C)ccece3

807 N#C/C(=C\clce(c(sl)cleee(sl)cleec(ccl)N(cleceecl)cleceeel)elece(sl)eleec(cel)N(e
Icceeel)cleceeel)/C(=0)0O

208 N#C/C(=C\clcee(s1)clee(e(sl)clece(sl)clecc(ccl)N(cleceeel)cleeceel )eleee(sl)clee
c(cc1)N(clecceel)cleceeel)/C(=0)O

800 N#C/C(=C\clcee(s1)cleee(sl)clec(c(s1)clece(s1)clecc(ccl)N(cleeeceel)eleceecl)clee
c(sl)cleec(cel)N(cleceeel)cleeeeel)/C(=0)O

810 | N#C/C(=C\clcce(sl)clece(sl)clece(sl)clece(ccl)N(cleceeel)eleccecl)/C(=0)O

811 CCCCCCCI1(CCCCCO)c2cc(ccc2-c2clcc(cc2)clece(s1)/C=C(C(=0)0)/C#N)clccc(sl)
clcee(ecl)N(eleee(cel)OCCCCCC)elecc(ecl)OCCCCCC

812 CCCCCCCI(CCCCCC)c2cc(sc2-c2clcce(s2)clccce(s])clece(cc)N(cleee(ecl)OCCCCC
C)cleee(ce1)OCCCCCC)elecce(s1)/C=C(\C(=0)0O)/C#N

813 OC(=0)CN1C(=S)S/C(=C\c2cce(cc2)N(c2eece(cc2)/C=C\2/SC(=S)NCC(=0)0C2=0)c2c
ccec2)/C1=0

814 O1C(=0)CNC(=S)S/C(=C\c2ccc(cc2)N(c2cee(cc2)/C=C\2/SC(=S)N(C2=0)CC(=0)0)c
2cce(cc2)/C=C\2/SC(=S)N(C2=0)CC(=0)0)/C1=0

915 CCCCCCclcece(sclclcec(ecl)N(cleee(ce1)OCCCCCC)cleec(ccl)OCCCCCC)clece(c2e
Insn2)clsc(c(c1)CCCCCC)clccc(ccl)/C=C(\C(=0)0)/C#N

816 CCCCCCclcce(sclclcec(ecl)N(cleee(ce1)OCCCCCC)cleec(ccl)OCCCCCC)clece(c2e
Insn2)clsc(c(c1)CCCCCC)clece(s1)/C=C(/C(=0)O)\C#N

817 | N#C/C(=C\clcce(s1)[C]1C=[N]=C(c2c1nsn2)clcce(ccl)N(clecceel)cleeceecl)/C(=0)0O

818 | N#C/C(=C\clcee(ccl)[C]IC=[N]=C(c2clInsn2)clccc(ccl)N(cleececl)elcceecl)/C(=0)
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O

CCCCCCOclccec(ecl)N(cleee(ecl)cleec(o1)/C=CO\C(=0)0O)/C#N)clcec(cc1)OCCCCC

819
C

820 CCCCCCOclcee(ecl)N(cleee(ec1)OCCCCCC)elece(ccl)clecc(ol)clecc(o1)/C=C(/C(
=0)O)\C#N

831 COclce(/C=C(\C(=0)0)/C#N)c(ccINI1[NIN=C([CH]1)clccc(ccl)N(clcee(cc1)C1=N[N
IN(JCH]1)c1cc(OC)e(cc10C)/C=C(\C(=0)0O)/C#N)clcccecl)OC

- CCCCNIC(=C2C(=C(N(C2=0)CCCC)c2ccc(cc2)c2ece(cc2)/C=C(/C(=O)O)\C#N)C1=
O)clecec(ecl)elecc(ccl)N(cleee(cc1)OC)clece(ccl)OC

823 CCCCNIC(=0)C2=C(N(C(=0O)C2=Clclccc(ccl)clcee(eccl)N(clcee(ee1)OC)cleee(ccl)
OC)CCCC)clcec(ecl)clecc(ol)/C=C(/C(=O0)O)\C#N

824 CCCCNIC(=0)C2=C(N(C(=0O)C2=Clclccc(ccl)clcee(eccl)N(clcee(ee1)OC)cleee(ccl)
OC)CCCC)clcec(ecl)clece(s1)/C=C(/C(=O)O)\C#N

225 N#C/C(=C\clcce(sl)cleec2-¢3¢(C(=0)c2cl)cc(ce3)clecc(ccl)N(clece(cel)C)elece(ecl
)C)/C(=0)0

826 CCC(CCCOclececcIN(clecececc1OCCCC(CC)CC)elecece(ecl)cleec2-¢3¢(C(=0)c2cl)ec(
cc3)clece(s1)/C=C(\C(=0)O)/C#N)CC

827 N#C/C(=C\clce2e(-c3¢c(C2=0)cc(s3)c2sc(c3c20CCO3)c2ecc(cc2)N(c2eee(cc2)C)e2ece
(cc2)C)s1)/C(=0)0O

228 N#C/C(=C\clcc2e(-c3¢c(C2=0)cc(s3)c2cee(s2)c2ecc(cc2)N(c2eee(cc2)C)e2ecc(cc2)C)sl
)/C(=0)O

829 N#C/C(=C\clcc2e(-c3¢c(C2=0)cc(s3)c2eec(cc2)N(c2ecc(cc2)C)c2ecc(cc2)C)s1)/C(=0)
(0)
CCCCCCOclcc(OCCCCCO)ec2el-cleec(cc1C2(C)C)N(cleec2-c3e(C(c2c1)(C)C)ec(ec

830 | 30CCCCcCo)0cceeClyelecec(ecl)clec2e(sl)cle(n2C(CCCCCC)CCCCCC)ece(sl)/C=
C(/C(=0)O)\C#N

831 CCCCCCOclec(OCCCCCC)ccecleleec(ecl)N(cleee(eel)cleece(cclOCCCCCC)OCCC
CCCQ)clcee(ecl)clec2e(s1)eclc(n2C(CCCCCC)CCCCCC)cece(s1)/C=C(/C(=0)O)\C#N

832 CCCCOclcec(ecl)N(clcee(ee1)OCCCC)eleec(ecl)clsc(c2c10CCO2)clsc(c2c10CCO
2)/C=C(/C(=0)O)\C#N

833 CCCCCOclcee(ccl)N(cleee(cc1)OCCCCC)clceee(ecl)elece(sl)clsc(c2c10CCO2)/C=
C(/C(=0)O)\C#N

834 N#C/C(=C\clcee(s1)C1=[N]=C2C(=C[C](C=C2)N(c2ccccc2)c2ceccc2)C1(C)C)/C(=0)
(0]

835 N#C/C(=C\clcee(n1C)CI1=[N]=C2C(=C[C](C=C2)N(c2ccccc2)c2ccecc2)C1(C)C)/C(=0
)O

836 | CCCCCCnlc(/C=C/c2cce(cc2)N(c2ceccec2)c2eccec2)eccl/C=C(/C(=0)O))\C#N

837 N#C/C(=C\clcece(nlCCCCCCOcleee(ccl)C(=0)OC)/C=C\clcce(ccl)N(clceeeel)clece
ccl)/C(=0)0

938 N#C/C(=C\clcece(n1 CCCCCCOclece(ccl)C(=0)OC(C)(C)C)/C=C/clccc(eccl)N(clceee
cl)cleecccl)/C(=0)0
COC(=0)clcc(OCCCCCCn2c(/C=C\c3cce(ec3)N(c3cccee3)c3cccece3)cec2/C=C(/C(=0)

839 | O)\C#N)ce(c1)OCCCCCCnlc(/C=C/c2ccc(cc2)N(c2cccec2)c2eccec2)cecl/C=C(/C(=0)

0)\C#N

36




CCCCCCclcece(sclcleec(ecl)N(cleceeel)cleccecl)elec(c(s1)/C=C(\C(=0)0)/C#N)CC

840
CCCC

841 CCCCCCOclcece(ccl)N(cleee(ecel ) OCCCCCC)cleee(ccl)elsc(cc1CCCCCC)elec(c(sl)
[CH][C](C(=0)O)C#N)OCCCCC

842 CCCCCCclec(sclclecc(ccl)N(cleceeel)cleceecl)eleec2e(cl)e(clece(ccl)C(C)(C)C)e
Ie(c2c2ccec(cc2)C(C)(C)C)ece(cel)elsc(c(c1)OCCCCC)/C=CO\C(=0)0)/C#N

843 | CCCCCCclcc(scleclece(cel)N(clecceel)cleceeel)/C=C(/C(=O)O)\CH#N

844 CCCCCCclec(sclclece(s1)clsc(cc1CCCCCC)eleec(ecl)N(clccceel)cleceeel)clse(c(c
1)CCCCCC)clcec(s])clsc(cc1 CCCCCC)/C=C(\C(=0)0)/C#N

845 CCCCCCclece(scleleee(sl)clsc(cc1 CCCCCC)/C=C(\C(=0)0O)/C#N)clccc(ccl)N(clcee
ccl)clecccecl

846 | N#C/C(=C\clccce(sl)cleee(sl)clece(sl)clece(ccl)N(cleceeel)eleceecl)/C(=0)0O

847 COclcee(ccl)N(cleee(cel)OC)clcece(c2e(se(c2c2ecc(cc2)N(c2ece(cc2)OC)c2ecc(cc2)O
C)c2ccesc2c2ecc(s2)c2ecce(s2)/C=C(\C(=0)0)/C#N)c2ccc(c3cec(s3)c3cces3)s2)ccl

948 CCCCNIC(=C2C(=C(N(C2=0)CCCC)c2ccc(s2)c2cee(s2)/C=C(/C(=O)ON\CH#N)C1=0)c
Icee(eel)clece(ccl)N(cleee(ccl)OC)elcec(cc1)OC

849 COclccec(ccl)elc2ec(cec2e(c2clcee(c2)clec(c(s1)/C=C(\C(=0)0)/C#N)OC)clcece(ccl)
OC)clce(e(sl)clecc(ecl)N(cleee(eel)OC)cleee(ccl)OC)C
CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clece(cel)else(cc1CCCCCC)clecc2e(c

850 | 1)c(cleee(ccl)C(CYC)C)ele(c2e2ecc(cc2)C(C)C)C)ec(ecl)clec(c(s1)/C=C(\C(=0)0)/
C#N)OCCCCC

851 CCCCCCclcce(sclcleec(ecl)N(clceeeel)cleceeel)clecc2e(el)e(clece(cc1)OCCCCCC)
cle(c2c2ccc(cc2)OCCCCCO)cec(ecl)clsc(c(c1)OCCCCC)/C=C(\C(=0)0)/C#N

852 N#C/C(=C/clcce(sl)cleec(ccl)N(clecceel)elecec(el)N(eleec(ecl)cleee(s1)/C=C(\C(=
0)0)/C#N)clceeeel)/C(=0)O

853 CCCCCCCCNI/C(=C/[C]2C(=C(C2=0)/C=C\2/N(CC)c3c(C2(C)C)ccecc3)0)/C(c2clcce
(c2)C(=0)0)(C)C

854 N#C/C(=C\clcce(cc1)N(=0)=0)/clccc(ccl)N(cleec(ecl)/C=C(/clcce(cc1)N(=0)=0)\C
#N)clcee(cel)/C=C\C(=0)O

855 N#C/C(=C\clcee(cc1)N(=0)=0)/clccc(ccl)N(cleee(ecl)/C=C\C(=0)O)clccc(ccl)/C=C
\C(=0)O
CCCCCCclcece(sclcleec(ecl)N(cleee(ee1)OC)cleee(ccl)OC)e1c(OCCCCCC)ec(OCCC

856 | CCC)c(c2=[N]=c3c(=[N]=c12)clccccclclc3ccecl)clsc(c(c1)CCCCCC)/C=C(/C(=0)0)
\CHN
CCCCCCOc1c(OCCCCCC)e(c2sc(c(c2)CCCCCC)/C=C(/C(=O)ONCHN)c2=[N]=c3c(=[

857 | N]=c2clclsc(c(cl)CCCCCC)cleee(ccl)N(clece(ccl)C)elecc(eel)C)cle(c2c3ccec2)ece
cl

958 CCCCCCOc1c(OCCCCCC)e(c2sc(c(c2)CCCCCC)/C=C(/C(=O)ONCHN)c2=[N]=c3c(=[
N]=c2clclsc(c(cl)CCCCCC)clcec(ccl)N(cleceecl)eleccecl)cle(c2c3ccec2)ccecl

859 | N#C/C(=C/clcce(sl)clece(sl)clece(ccl)N(cleceecl)elcccecl)/C(=0)0O

860 CCCCCCOc1¢(OCCCCCC)e(c2ccc(02)/C=C(/C(=0)O)\C#N)c2=[N]=C(C(=[N]=c2clc
Icee(ol)elcee(ccl)N(cleceecl)cleceecl)C)C

%61 COc1c(0C)c(c2eee(s2)/C=C(/C(=O)O))\C#N)c2=[N]=C(C(=[N]=c2clclccec(s1)clcce(cc

1)N(clcceecl)cleceeel)C)C
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CCCCCCclce(sc1/C=C(\C(=0)0)/C#N)clccc2-c3c(C4a(c2cl)cleccecl-clecdeceel)ec(ce

862 3)clcec(ecl)N(cleccecl)elceceeel

863 CCCCCCclee(sc1/C=C(\C(=0)0)/C#N)clcec2e(c1)n(CC)elc2ecc(el)cleec(cel)N(clee
cccl)clecccecl

864 N#C/C(=C/clcce(s1)cleec2-¢3¢(C(c2c1)(CC)CC)ee(ce3)cleec(ccl)N(cleeceeel)elccece
1)/C(=0)0O

865 CCCCCCOclce(/C=C(\C(=0)O)/C#N)c(cc ININN=C([CH]1)clccc(ccl)N(cleceeel)cle
ccecl)OCCCCCC
COclce(/C=C(\C(=0)0)/C#N)c(ccINI1[NIN=C([CH]1)clccc(ccl)N(clcee(cc1)C1=N[N

866 | IN(JCH]1)c1cc(OC)c(cc10C)/C=C(\C(=0)0)/C#N)clecc(ccl)C1=N[NIN([CH]1)clec(
0C)c(cc10C)/C=C(\C(=0)0)/C#N)OC

867 CCCCCCnlc2cc(cee2n(c1=S)CCCCCC)N(clecec2e(cl)n(CCCCCO)c(=S)n2CCCCCC)c
Icee(cel)cleee(s1)/C=C(\C(=0)0)/C#N

268 CCCCCCclece(sclelsc(cc1C)/C=C(\C(=0)0)/C#N)clcce(ccl)N(cleee2e(cl)n(CCCCC
C)c(=S)n2CCCCCC)clcec2e(cl)n(CCCCCC)e(=S)n2CCCCCC

869 CCCCCCclcce(sclcleee(s1)/C=C(\C(=0)0)/C#N)/C=C/clccc(ccl)N(clcee2e(cl)n(CCC
CCC)c(=S)n2CCCCCC)clcec2e(cl)n(CCCCCC)e(=S)n2CCCCCC

870 CCCCCCnlc2cc(cee2n(c1=S)CCCCCC)N(clcec2e(cl)n(CCCCCO)e(=S)n2CCCCCC)c
Icee(ecl)clece(sl)elece(s1)/C=C(\C(=0)O)/C#N

871 | N#C/C(=C\clcee(ccl)cleec(ecl)N(eleee(ecl)clecesl)cleee(ccl)clecesl)/C(=0)0O

872 N#C/C(=C\clcce(sl)cleec2e(cl)clec(cecIn2CC)clece(s1)clece(ccl)N(cleee(ccl)elcce
sl)clcee(ccl)cleees1)/C(=0)0O

873 CCCCCCCCnlc2cc3c(cc2e(=0)c2clcec(c2)clece(ccl)N(cleceeel)cleccecl )n(CCCCC
CCC)clc(c3=0)cc(ccl)cleec(o1)/C=C(\C(=0)0)/C#N

874 CCCCCCCCnlc2cc3ce(=0)cdec(cecdn(c3cc2e(=0)c2clcec(c2)/C=C\clcec(ccl)N(clcee
ccl)cleececl)CCCCCCCC)elecc(ol)/C=C(/C(=O)O)\C#N

875 CCCCCCCCnlc2cc3c(=0)cdcec(cecdn(c3ec2e(=0)c2clecc(c2)clecc(ccl)N(cleee(cc1)O
C)cleee(ce1)OC)CCCCCCCC)elecc(o1)/C=C(\C(=0)O)/C#N

876 CCCCOclcec(ccl)N(clcee(ee1)OCCCC)elecec(ecl)clece(sl)clecc2-¢3c(C4(C5(c2c1)O
CCO5)OCCO4)ce(ce3)clece(s])/C=C(/C(=O)O)\C#N

877 CCCCCCNI1c2ccee(cc2CCe2clece(c2)clcec(s1)/C=C(/C(=0)O)\C#N)clcce(cc1)N(cleee
ccl)clecccecl

878 OCCCCCCNI1c2cec(cc2CCe2clccc(c2)clcce(s1)/C=C(/C(=0)O)\C#N)clcce(ccl)N(clc
ccecl)eleccececl

87 N#C/C(=C\clcee(s1)cleee2e(c1)CCele(N2CCCCCCOc2ccc(cc2)C(=0)0)ccc(cl)elcec(
ccl)N(clceeeel)elceceecl)/C(=0)O

880 | N#C/C(=C\clccce(sl)clece(sl)clece(s1)/C=C/clcecc(ccl)N(clceeeel)clececcl)/C(=0)0O

881 O=C10OC(=0)[C](SC(=S)NC1)[CH]clcc(c2cces2)e(cclelecesl)/C=C/cleee(ccl)N(clce
ccel)cleccececl

887 O=C(O)CNIC(=S)S/C(=C/c2cc(Cl)c(cc2Cl)/C=C/c2cce(cc2)N(c2ccccce2)c2eccec2)/Cl=
O

983 O1C(=0)CNC(=S)S/C(=C/c2cc(Br)c(cc2Br)/C=C/c2cce(cc2)N(c2cccec2)c2eceec2)/Cl=

O

38




884 | O=C(O)CNI1C(=S)S/C(=C/c2cce(cc2)/C=C/c2cce(cc2)N(c2eccec2)c2ecccc2)/C1=0

885 | N#C/C(=C\c1lcc(C#N)c(cc1C#N)/C=C/clccc(ccl)N(cleceeel)cleceecl)/C(=0)0O

886 | N#C/C(=C\clcc(c2cces2)c(cclclecesl)/C=C/clcec(ccl)N(clcceeel)eleccecl)/C(=0)O

887 | N#C/C(=C\clcc(Cl)c(cclCl)/C=C/clcec(ccl)N(cleccecl)clececeel)/C(=0)0O

888 | N#C/C(=C\clcce(Br)c(cc1Br)/C=C/clcce(ccl)N(clcceecl)clecceecl)/C(=0)0O

889 | N#C/C(=C\clcce(cel)/C=C/clcec(ccl)N(cleeceel)clececeel)/C(=0)0O

890 | CCCCCCclce(scl/C=C\clcce(ccl)N(cleee(ecl)C)clece(cel)C)/C=C(/C(=O)O)\C#N

891 | N#C/C(=C\clce(c(s1)/C=C/clecee(ccl)N(clecceel)clceeeecl)C)/C(=0)0O

892 | N#C/C(=C\clee(c(sl)clcee(ecl)N(cleccecl)eleecec])C)/C(=0)0O

893 O1C(=0)CNC(=S)S/C(=C/c2ccc(cc2)N(c2ccecc2)c2ecc(cc2)/C=C/c2ccc(cc2)N(c2cccce
2)c2ccecc2)/C1=0

994 N#C/C(=C\clcce(ccl)cleee(sl)clece(nlcelc(ceec1C(C)C)C(C)C)elece(sl)cleec(cel)N(
clcceeel)cleeeeel)/C(=0)O

205 N#C/C(=C\clce(n(clclece(sl)cleee(ccl)N(clecceel)elccceel)cle(cececc1C(C)C)C(C)CO)
clcee(sl)clecc(ecl)N(clcceeel)cleeceel)/C(=0)0O

806 COclce(C#HCc2ccc(cc2)N(c2cccec2)c2eccec2)c(cc 1 CHCelecc(ccl)/C=C(\C(=0)0)/C#N
)OC

897 | COclcc(C#Cc2cec(cc2)N(c2eccec2)c2eccec2)ce(cclC#HCelece(ccl)C(=0)0)0C

898 | N#C/C(=C\clcce(cel)C#Celeec(ccl)N(cleceecl)cleeceel)/C(=0)O

899 | OC(=0)clccc(ccl)C#Cclece(ccl)N(cleceeel)clecccecl

900 | N#C/C(=C\clcc2ce(s1)cle(s2)ce(s1)/C=C/clcee(ccl)N(clcceccl)clecceecl)/C(=0)0O

901 CCCCOclcec(ecl)N(clcee(ee1)OCCCC)elecec(ecl)clecc2-¢3¢(C4(C5(c2c1)OCCOS5)0
CCO4)cc(ce3)clece(s1)/C=C(/C(=0)O)\C#N

902 | N#C/C(=C/clcce(sl)cleec(ccl)N(cleccecl)clecceel)/C(=0)0O
cl(cee(ccl)Cl(c2ccc(cc2)C)c2ec3-cdcc5Cebe(-c5ccdC(c3cc2-c2elccl-c3ccc(cec3C(clc2

903 | )(C)C)N(clcee(ec1)N(C)C)cleee(ccl)N(C)C)(cleee(eel)C)elece(ccl)C)ece(c6)/C=C(/C
(=O)O)\C#N)C

904 N#C/C(=C\clsc(c(cl)clcec(ecl)N(cleceecl)eleececl)clece(ccl)N(cleceeel)cleececl)/
C(=0)0

905 N#C/C(=C/clcce(sl)clsc(c(cl)cleec(ccl)N(cleceeel)cleccecl)elece(ccl)N(cleceecl)e
lceeeel)/C(=0)0O

906 N#C/C(=C/clcee(sl)cleec(sl)elsc(c(cl)clecc(ccl)N(cleceeel)cleccecl)eleec(cel)N(e
Icceeel)cleceeel)/C(=0)0O

907 | OC(=0)C(=Cclcce(ccl)/C=C/clcee(ccl)N(clcececl)clececcl)C(=0)0O

908 | CCOC(=0)/C(=C\clccc(ecl)/C=C/clcec(ccl)N(clcceecl)clecceel)/C(=0)O

909 | N#C/C(=C\clcce(ccl)/C=C/clcce(ccl)N(clcceccl)cleccecl)/S([O(OHO

910 | O/N=C/C(=C/clccc(ccl)/C=C/clccc(ccl)N(clcececl)clecceel)/CHN

911 CCCCCCCCNI1c2cec(cec2/C(=C\2/c3cce(ce3N(C2=0)CCCCCCCC)c2cce(s2)/C=C(\C(=
0)0O)/C#N)/C1=0)clccc(cc1)N(cleceeel)cleceeel

912 CCCCCCCCNI1c2cec(cec2/C(=C\2/c3cce(ce3N(C2=0)CCCCCCCC)c2ccc(02)/C=C(\C(=
0)0O)/C#N)/C1=0)clccc(cc1)N(cleceeel)cleceecel

913 CCCCCCCCNI1c2cec(cec2/C(=C\2/c3cce(ce3N(C2=0)CCCCCCCC)c2cce(cc2)/C=C(/C(

=0)O)\C#N)/C1=0)clccc(ccl)N(clcecccl)cleceeel
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CCNI1c2ce(cec2/C(=C/2\C(=O)N(c3c2cce(c3)c2ccc(s2)/C=C(\C(=0)0)/C#N)C)/C1=0)c

o1 Icee(eel)N(eleee(ce1)OC)clece(ccl)OC

915 CCCCCCCCNI1c2cec(cec2/C(=C/2\C(=O)N(c3c2cce(c3)c2cec(02)/C=C(\C(=0)0)/C#N)
CCCCCCCC)/C1=0)clccc(ccl)N(clece(eccl1)OC)cleec(ecl)OC

916 CCCCCCCCNI1c2cec(cec2/C(=C/2\C(=O)N(c3c2cce(c3)c2ccc(cc2)/C=C(/C(=0)O)\C#N)
CCCCCCCC)/C1=0)clcce(ccl)N(clccc(ccl1)OC)cleec(ecl)OC

917 CCCCCCcCcCr1(ceeeeceh)c2ec(cec2-c2elec(cc2)/C=COC(=0)0)/C#N)C#Cclccce(c
cl)N(clcceeel)cleceeel

918 CCCCCCCCcI(Ccceece)c2ec(cec2-c2elec(cc2)CH#Celece(cel)N(cleceecl)elecce
c1)C#Ccleee2-¢3¢(C(c2c1)(CCCCCCCC)CCCCCCCl)ee(cc3)/C=C(\C(=0)0)/C#N

919 N#C/C(=C\clcee(ccl)N(clcee(cel)/C=C\1/SC(=C(S1)SC)SC)clcce(cecl)/C=C\1/SC(=C(
S1)SC)SC)/C(=0)0O

920 O(cle(/C=C/c2cce(cc2)N(c2ceec(cc2)C)e2cecec(cc2)C)ec(ccl/C=C/clcec(cc1)N(clece(ccl
)C)clcee(ecl)C)elsc(c(c1)CC)/C=C(/C(=0)O)\C#N)C

931 O(clc(/C=C/C=C/c2ccc(cc2)N(c2cec(cc2)C)c2ecc(cc2)C)ec(ccl/C=C/C=C/clccc(ccl)N
(cleee(ccl)C)eleec(ecl)C)clsc(c(c1)CC)/C=C(/C(=0O)O)\C#N)C

937 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clece(cel)eclec2e(s1)cle(n2CCCCCC)e
2¢(s1)clc(n2CCCCCC)cc(s1)/C=C(/C(=O)O)\C#N

973 CCCCCCOclccec(ccl)nlc2ec(sc2c2elcle(s2)c2e(nlclecc(cc1)OCCCCCC)ec(s2)/C=C(/
C(=0)O)\C#N)clcce(eel)N(cleee(cec1)OCCCCCC)eleec(ecl)OCCCCCC

974 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clece(cel)eclec2e(s1)cle(n2CCCCCC)e
¢(s1)/C=C(\C(=0)0O)/C#N

995 CCCCCCclcece(sclcleec(ccl)N(cleee(eel)C)elece(cecl)C)elecc2-c3¢(C(=0)c2cl)cc(cc3
)elee(e(s1)C=C(C#N)C#HN)CCCCCC

936 CCCCCCclcece(sclcleec(ecl)N(cleee(eel)C)eleee(ccl)C)eleec2e(cl)C(=C1[C]2C=CC(
=C1)clce(c(s1)/C=C(\C(=0)0)/C#N)CCCCCC)[CJ(C#N)C#N

927 | N#C/C(=C\clcce(sl)cleec(ccl)N(cleee(cel)clceeesl)cleee(ecl)cleces1)/C(=0)O

928 CCCCCCclcece(sl)cleec(ecl)N(clece(ecl)elece(s1)/C=C(/C(=0O)O)\C#N)clcce(eel)el
cee(s1)CCCCCC

929 | N#C/C(=C\clcce(sl)cleec(ccl)N(cleee(cel)cleceecl)eleee(cel)clceeecl)/C(=0)O

930 | N#C/C(=C/clcece(ccl)N(cleee(cel)/C=C(/C(=O)O)\C#N)clcceeel)/C(=0)O

931 CCCCCCCCNI1C(=S)S/C(=c\2/s/c(=C/c3cce(cc3)N(c3cce(cc3)/C=C/3\S/C(=C\4/SC(=S
)N(C4=0)CCCCCCCC)/NCC(=0)0OC3=0)c3ccccc3)/c(=0)n2CC(=0)0)/C1=0

932 CCCCCCCCNIC(=S)S/C(=C\2/S/C(=C\c3cce(ce3)N(c3cec(ce3)C)e3cccece3)/C(=0)O0C(
=0)CN2)/C1=0

933 CCCCCCCCNIC(=S)S/C(=c\2/s/c(=C\c3cce(cec3)N(c3cee(ce3)/C=c/3\s/c(=C\4/SC(=S)
N(C4=0)CCCCCCCC)/n(c3=0)CC(=0)0)c3ccccc3)/c(=0)n2CC(=0)0)/C1=0

934 N#C/C(=C/clcee(ccl)[C]IINN[C](O1)clcee(ccl)N(cleee(ccl)C(CHC)C)elece(cc1)C(C)
(©)C)/C(=0)O

935 CCCCCCclece(sclcleec(ccl)N(cleee(eel)C)elece(ccl)C)elecc2-c3¢(C(=0)c2cl)cc(cc3
)elee(e(s1)/C=C(/C(=0)O))\C#N)CCCCCC

936 N1(C(=S)S/C(=c\2/s/c(=C/c3cce(cc3)N(c3cce(ce3)/C=c/3\s/c(=C\4/SC(=S)N(C4=0)C)/

n(c3=0)CC(=0)0)c3ccc(cc3)/C=c/3\s/c(=C\4/SC(=S)N(C4=0)C)/n(c3=0)CC(=0)0)/c(
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=0)n2CC(=0)0)/C1=0)C

937 | N#C/C(=C\clcc2ce(s1)ce(s2)clcee(ccl)N(clececcl)cleccecl)/C(=0)0O

938 | N#C/C(=C\clcc2ce(s1)ce(s2)clcee(ccl)N(cleee(ce1)OC)clcec(cc1)OC)/C(=0)0

939 N#C/C(=C\clce2e(s1)ce(s2)clec(OC)e(cc10C)N(cleee(ce1)OC)elcce(cc1)OC)/C(=0)
(0]

940 CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)elece(cel)clsc2e(cl)se(c2)/C=C(/C(=0
JONC#H#N

941 N#C/C(=C\1/CCCC(=C1)/C=C/clccc(ccl)N(cleec(cel)nlc2eccec2e2clccee2)clcec(cecl
)nlc2cccec2c2celcccc2)/C(=0)0

942 | OC1=[N]=c2ccc(cc2=[N]=C10)clccc(ccl)N(clceceel)cleceecl

943 | OC1=[N]=c2ccc(cc2=[N]=C10)clccc(sl)clcec(cc1)N(cleeeecl)eleceecl

944 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clecce(ccl)elec2e(s])cle(n2¢2ccc(cc2)
N(c2cee(ce2)OCCCCCC)c2cecc(cc2)OCCCCCC)ec(s1)/C=C(/C(=0)O)\C#N
O(clcec(ecl)N(clee(ee(cl)N(cleee(eel)OC)cleee(ccl)OC)N(cleee(ecl)cleec(sl)elcce

945 | (s1)/C=C(/C(=O)O)\C#N)clccc(cc1)OC)clece(ccl)cleee(sl)clece(s1)/C=C(/C(=0O)O)\
C#HN)C

046 CCCCCCOclcec(ccl)N(cleee(ee1)OCCCCCC)clece(ccl)clecc(sl)eleee(s1)/C=C(/C(=
0)O)\C#N

947 O=C10C(=0)/C(=C/c2ccc(cc2)N(c2cec(ec2)c2ecc3c(c2)[nH]c2¢3ccec2)c2ececc2)/SC(=
S)NC1

948 O=C10C(=0)/C(=C/c2ccc(cc2)N(c2cec(ec2)c2ecc3c(c2)[nH]c2ce3ccec2)c2ecc(cc2)/C=
C\2/SC(=S)N(C2=0)CC(=0)0)/SC(=S)NC1

949 O1C(=0)CNC(=S)S/C(=C/c2ccc(cc2)N(c2ccce(cc2)c2ecc3e(c2)[nH]c2c3ccee2)c2ecce(ce
2)c2ccec3ce(c2)[nH]c2c¢3cccc2)/C1=0

950 CCCC[C@H](Cnlnc2c(n])[C](C=C[C]2/C=C(/C(=0)O)\C#N)clccc(ccl)N(clcceeel)cl
cceecl)CC

951 CCCC[C@H](CN1Nc2c(N1)clee(sclele2ee(sl)cleee(ccl)N(cleceeel)elecccel)/C=C(/
C(=0)O)\C#N)CC
CCCCCCNI1[C@@H]2C[C@H](S[C@@HR2[C@HR[C@@H]1 [C@@H]IN(CCCCCC

952 IC@@H]3[C@H]((C@@H] [C@H] [C@@H]2ZNN(ND)C[C@@H](CCCCO)CO)S[C@
H](C3)/C=C(/C(=0)O)\C#N)clccc(ccl)N(clcceeel)eleeeecl

953 | OC(=0)/C=C/clccc(ccl)N(clcceeel)clcececcl

954 O(clcee(ecl)ele2ec(cec2e(c2elecc(c2)clcee(sl)clece(s1)/C=CO\C(=0)0)/C#N)clcce(c
c¢1)OC)cleee(ccl)N(clece(ccl)OC)elccc(ecl)OC)C

955 CCCCCCOclccee(ccl)elc2ec(cec2e(c2elece(c2)clccc(s1)/C=C(\C(=0)0)/C#N)clccc(ce
1)OCCCCCC)clcce(sl)clece(ccl)N(cleee(cc1)OCCCCCC)elece(cc1)OCCCCCC

956 CCCCCCOclccee(ccl)elc2ec(cec2e(c2elece(c2)/C=C(\C(=0)0)/C#N)clccc(cc1)OCCC
CCC)clccc(sl)clece(sl)cleee(ccl)N(cleee(ce1)OCCCCCC)clece(ccl)OCCCCCC

957 | N#C/C(=C\clcce(sl)cleee(ecl)N(cleceeel)cleccecl)/C(=0)0O
CCCOclc2Cc3cc(cc(Ceécec(cc(CeSce(c(Celee(e2)C(C)(C)C)ee(e5)C(C)(C)C)OCCC) 4O

958 | CCC)C(C)(C)C)e30CCCCC(=0)COclcce(sclclece(ccl)N(cleceecl)elecceel)/C=CO\C(
=0)0)/C#N)C(C)(C)C

959 | CCCOclc2Cc3cc(ce(Cedec(cc(CeSc(c(Celec(c2)C(CHC)C)ec(es5)C(C)C)C)Occce(
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=0)COclcc(sclcleec(ccl)N(clcececl)cleceecl)/C=C(\C(=0)O)/C#N)c4OCCC)C(C)(C
)C)c30CCCCC(=0)COclcc(sclelecc(ccl)N(cleeececl)eleceeel)/C=CO\C(=0)0)/C#N)
C(C)(O)C

960 | N#C/C(=C/clcce(c(c1)C#Cceleee(ccl)N(cleecccl)cleceeel)C#C)/C(=0)O

961 | N#C/C(=C\clcce(c(cl)CHC)CHCclecee(cel)N(cleceeel)cleceeel)/C(=0)0O

962 N#C/C(=C\clcee(c(c1)C#Celeee(ccl)N(cleeeeel)eleccecl)C#HCcelecec(cel)N(clecceel)
clceeecl)/C(=0)0O

963 CCCCCCclec(sclcleec(ecl)N(cleee(ee1)OCCCCCC)cleee(ccl)OCCCCCO)[CIIC=C[
NH](C=C1)CC(=0)[O]

964 | [O]C(=O)C[NH]1C=C[C](C=C1)/C=C/c1ccc(ccl)N(clcccccl)clceeecl

965 CCCCCCOclcec(ecl)N(cleee(ecl)cleee([se]1)/C=C(/C(=O)O)\C#N)clcce(cc1)OCCC
CCC

966 CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCC)cleee(ccl)elcee([se]l)clcece([se]l)/C=C
(/C(=O)O)\C#N

967 N#C/C(=C\clcee(sl)clec2e(s1)ce(ce2)N(clece2-c3¢(C(c2c1)(C)C)ecee3)clecc2-c3c(C(
c2¢1)(C)C)ccec3)/C(=0)0

963 N#C/C(=C/clcee(s1)/C=C/clecc2e(s1)ee(cc2)N(clcce2-c3¢(C(c2c1)(C)C)ecec3)elecc2-¢
3¢(C(c2c1)(C)C)ececece3)/C(=0)0
cl(cee(ccl)Cl(c2ccc(cc2)C)c2ec3-cdcec(ccdC(c3cc2-c2elecl-c3ccdCeSce(-cdec3C(clc2

969 | )(clcee(eel)C)cleee(cel)C)eee(cS)/C=C(/C(=O)ONCH#N)(C)C)N(clcee(eel)C)cleee(cc
1)C)C
cl(cee(ccl)Cl(c2ccc(cc2)C)c2ec3-cdccSc(-coc(C5(C)C)ec(cc6)NScobececchbScoheSceechd)

970 | cc4C(c3cc2-c2clecl-c3c(Celc2)ec(cc3)/C=C(/C(=O)ONC#N)(clcee(ccl)C)eleec(ecl)C
)C

971 | N#C/C(=C\clcce(sl)cleee(c2clnsn2)clcec(ccl)N(cleceeel)cleccecl)/C(=0)O

972 N#C/C(=C/clcce(s1)[C]1C=CC(=C2C1=N[Se]N2)clccc(cc1)N(cleccecl)clececeel)/C(=
0)0

973 | N#C/C(=C\clcce(sl)cleec(c2elnsn2)clcec(s1)N(clcececl)clecceel)/C(=0)0O

974 | N#C/C(=C/clcce(sl)cleec(c2eln[se]n2)clccc(s1)N(clcceccl)cleccecl)/C(=0)0O

975 N#C/C(=C\clcc2e(s1)ce(s2)cleece(ccl)N(cleee2-¢3¢(C(c2c1)(C)C)eccce3)clecc2-c3e(C(
c2¢1)(C)C)ceece3)/C(=0)0

976 | N#C/C(=C\clcce(sl)clc2cccec2e(c2elccec2)clece(cel)N(cleecccl)clecceel)/C(=0)0O

977 N#C/C(=C/c1cce(ccl)/C=C\clc2ccccc2e(c2celecee2)clece(cel)N(clececeel)cleceeel)/C
(=0)0O

978 CCCCCCOclcee(ccl)N(cleee(eel)cleee(s1)/C=C(\C(=0)O)/C#N)clccc(cc1)OCCCCC
C

979 CCCCCCceece(ceeecec)c2ec(cee2-c2elec(ce2)/C=C/clecc(ccl)N(cleccecl)elcce
ccl)/C=C\clccc2-¢3¢(C(c2¢1)(CCCCCCCC)CCCCCCCl)ece(ce3)/C=C(/C(=0O)O)\C#N

980 N#C/C(=C\clcce(sl)cleee(ccl)N(cleee(ccl)N(cleceeel)elcccecl)cleec(ecl)N(clcceee
1)clcceecl)/C(=0)0O

981 N#C/C(=C\clce2e(-c3¢c(C2(C)C)ee(s3)c2ece(s2)c2ecc(cc2)N(c2eccec2)c2eceec2)s1)/C(
=0)0O

982 | O=C(O)CNI1C(=S)S/C(=C/c2ccc(cc2)N(c2cccec2)c2eccec2)/C1=0
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N#C/C(=C/clcee(s1)cleec(ccl)N(cleee(ccl)cleee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)

983
C(=0)0)/C(=0)0O
CCCCCCclece(sclelsc(c(cl)CCCCCC)clece(ccl)N(cleee(ccl)C(=0)O)clcec(ecl)C(=

984 | 0)O)clsc(c(c1CCCCCC)CCCCCC)clsc(c(c1)CCCCCC)clse(c(c1)CCCCCC)C=C(CH#N
)CH#N

985 | COclcee(ccl)N(cleee(ce1)OC)clcec(cel)clece(s1)/C=C(\C(=0)0)/C#N

986 | N#C/C(=C/1\C[C@@H](/C=C/c2ccc(cc2)N(c2cceec2)c2eceec2)CC(C1)(C)C)/C(=0)0

987 N#C/C(=C/I\C[C@@H](/C=C/c2ccc(cc2)N(c2ccec3c2ecec3)c2eccec2)CC(C1)(C)C)/C(
=0)0

988 CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)eleee(ccl)/C=C/[C@H]1C/C(=C(/C(=O
JOMNC#N)/CC(C1)(C)C
CC(COclcc(OCC(C)C)eeclclecc(ecl)N(cleee(eel)cleee(cc1OCC(C)C)OCC(C)C)elec

989 | c(ccl)clsc(c2c10CCO2)clcee(c2=[N]=C(C(=[N]=c12)clcccccl)clceceel)clece(cecl)/C
=C(\C(=0)0)/C#N)C
CC(C[C@]1(CCC(C)C)c2cc(sc2-c2clee(s2)[C11 C=C[C](C2=[N]=C(C(=[N]=C12)clccc

990 | ccl)clcececl)clece(ccl)/C=C(\C(=0)O)/C#N)clccc(ccl)N(cleee(ccl)cleee(cc1OCC(C
)C)OCC(C)C)clcec(ecl)clecc(cc10CC(C)C)OCC(C)O)C

991 CCCCCCnlnc2e(nl)c(cec2clecc(o1)/C=C(/C(=O)O)\C#N)clccc(ol)clece(ccl)N(cleee
ccl)/C(=C\C)/C=C
CC(COclcc(OCC(C)C)ecclclecc(ecl)N(cleee(eel)cleee(cc1OCC(C)C)OCC(C)C)elec

992 | c(ccl)cleee(sl)clece(c2=[N]=C(C(=[N]=c12)clcccccl)clcccccl)cleec(ccl)/C=C(\C(=
0)O)/C#N)C

993 | N#C/C(=C\clccc(ccl)cleec(ecl)clece(ccl)N(cleeceel)cleceecl)/C(=0)0O

994 | N#C/C(=C\clccce(ccl)cleee(ecl)clece(ccl)N(cleeec2elccec2)cleccecl)/C(=0)0O

995 | N#C/C(=C\clcce(ecl)cleee(sl)cleec(ecl)N(cleeec2elceee2)cleceecl)/C(=0)0O

996 | N#C/C(=C\clcce(sl)cleee(sl)cleec(ccl)N(clecec2elccec2)clceccecl)/C(=0)O

997 | N#C/C(=C\clcce(ccl)clc2eccec2e(c2clecee2)cleece(eccl)N(cleeeeel)eleccecl)/C(=0)O

998 N#C/C(=C/clcce(s1)/C=C/clc2cccec2e(c2elccec2)clece(ccl)N(cleccecl)clecceel)/C(
=0)0

999 N#C/C(=C\clcee(s1)C#Celc2ceccec2e(c2clccec2)clece(ccl)N(cleeceel)eleececl)/C(=
0)0

1000 N#C/C(=C\clcee(cel)C#HCcle2eceec2e(c2clccec2)cleec(cel)N(clece(cel1)OC)cleee(ce
1)OC)/C(=0)0O

1001 N#C/C(=C\clcee(s1)C#Celc2ceccec2e(c2clccee2)clece(ccl)N(cleee(ecc1)OC)c1cce(cecl
)OC)/C(=0)0O

1002 N#C/C(=C\clcce(ccl)clc2eccec2e(c2elecec2)C#HCelece(ccl)N(cleeceel)clecceel)/C(
=0)0O

1003 N#C/C(=C\clcee(ccl)clc2eccec2e(c2eleccc2)CH#HCelece(ccl)N(cleee(ccl1)OC)elccce(ce
1)OC)/C(=0)0O

1004 | N#C/C(=C\clcce(eel)/C=C\clcec(ccl)N(clcceeel)clecceel)/C(=0)O

1005 | N#C/C(=C\clccce(ecl)C#Ccleee(ecl)N(cleceeel)clecceel)/C(=0)O

1006 N#C/C(=C\clcee(ccl)/C=C/c1c2ccccc2e(c2elecec2)clece(ccl)N(clecceel)cleccecl)/C

(=0)0
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1007

N#C/C(=C\clcce(ccl)C#HCelce2cecccc2e(c2elccec2)clece(ccl)N(cleeceel)clecceel)/C(
=0)0

1008

CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)eleece(cel)clece(sl)cleee(sl)cleee(sl)/
C=C(/C(=0)O)\C#N

1009

COclcce(ccl)N(cleee(ccl)OC)cleec(ccl)clece(s1)clsc(e(cl)cleec(sl)clee(scleleece(s
I)clcee(cel)N(cleee(ce1)OC)elcee(cc1)OC)clcee(s1)/C=C(AC(=0)0O)/C#N)clcce(s1)/C
=C(/C(=O)O)\C#N

1010

N#C/C(=C\clcee(ccl)N(cleee2-¢3¢(C(c2e1)(CC)CC)ec(ce3)N(cleceecl)clecceel)clee
cccl)/C(=0)0

1011

N#C/C(=C\clcee(ccl)N(cleeee2elccee2)clcee2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(clecec2
cleeec2)cleccecl)/C(=0)0O

1012

N#C/C(=C\clcee2e(el)cleecececIn2elcee2-¢3¢(C(c2¢1)(CCY)CC)ee(ce3)nlc2eccec2c2elce
ccc2)/C(=0)0

1013

N#C/C(=C\clcee(ccl)N(clcee2-¢3¢(C(c2c1)(CC)CC)ecec3)clcccccl)/C(=0)O

1014

N#CC(=C1C=C(/C=C/c2ccc(cc2)N(c2ccccc2)c2eceec2)CC(C1)(C)C)CHEN

1015

N#C/C(=C/clcee(ccl)N(cleee(ccl)N1CCc2clccec2)cleec(ccl)N1CCce2clccec2)/C(=0)
O

1016

N#C/C(=C/clcce(ccl)N(clcee(ccl)N1[C@@H](C)Cc2cleccc2)clecc(ccl )N1[C@H](C)
Cc2clceec2)/C(=0)0

1017

CCCCCCclcece(sclcleec(ecl)N(clceceeel)cleccecl)C1=C[CH]N(C=C1)CC(=0)0O

1018

CCCCCCclcece(sclclcec(ecl)N(cleee(ee1)OC)cleee(ccl)OC)C1=C[CH]N(C=C1)CC(=
0)0

1019

CCNIC(=S)S/C(=C\2/S/C(=C/c3cce(s3)C3=CN4[CH]C(=[N]=C4C(=C3)c3ccc(cec3)N(c
3cceee3)c3eccec3)C)/[NH](C2=0)CC(=0)[0])/C1=0

1020

CCO[Si](clcee(sl)cleee(sl)cleec(ccl)N(cleee2-¢3¢(C(c2c1)(C)C)ecece3)clece2-c3c(C(
c2c1)(C)C)ceee3)(0CC)OCC

1021

CCO[Si](clcee(sl)cleee(s1)clec2e(s1)ce(cc2)N(cleee2-c3¢(C(c2c1)(C)C)ecec3)cleec2
-c3¢(C(c2c1)(C)C)ecece3)(0CC)OCC

1022

N#C/C(=C\clcee(s1)cleee(s1)clece(ccl)N(clcee2-c3¢(C(c2e1)(C)C)eeee3)cleece2-¢3¢(
C(c2c1)(C)C)eccce3)/C(=0)0

1023

N#C/C(=C\clcee2-c3¢(C(c2c1)(C)C)ec(ec3)clece(ccl)N(cleccecl)clecceel)/C(=0)0O

1024

N#C/C(=C/c1ccc2-c3¢(C(c2c1)(C)C)ec(ec3)clece(sl)clecc(ccl)N(cleccecl)cleceeel)/
C(=0)0

1025

N#C/C(=C/c1ccc2-¢3¢(C(c2c1)(C)C)ec(ec3)clecce(sl)clece(sl)clece(cel)N(clecceel)e
Iceeecl)/C(=0)0O

1026

CCCCCCCCclece(sclclsc(c(c1)CCCCCCCCO)cleec(ccl)N(cleceeel)elcccecl)cleee2-¢
3¢(C(c2c1)(C)C)ee(cc3)/C=C(/C(=0O)O))\C#N

1027

N#C/C(=C\clcee2-¢3¢(C(c2¢1)(C)C)ec(ee3)clsc(c2c10CCO2)c1cee(ccl)N(cleccecl)e
lceeeel)/C(=0)0O

1028

N#C/C(=C\clcee(sl)cleec(sl)elsc(c2¢10CCO2)clcec(ccl)N(clcccecl)clecceel)/C(=0
)O

1029

N#C/C(=C\clcee2-¢3¢(C(c2¢1)(C)C)ec(ee3)clece(sl)elsc(c2¢10CCO2)clcec(ccl)N(el
cceecl)eleceecl)/C(=0)0
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1030

CCCCCCnlInc2e(nl)c(cec2elece(s1)/C=C(\C(=0)0)/C#N)clcce(s1)cleee(ccl)N(cleeee
cl)cleccccl

1031

CCCCCCnlnc2c(nl)c(ccc2elcce([se]1)/C=C(/C(=0)O)\C#N)clcce([se]1)clcee(ccl)N(c

Iceeeel)cleceeel

1032

CCCCCCnlnc2e(nl)[CJ(C=C[C]2c1sc(c(c1)CCCCCC)clecec(ccl)N(clceeeel)cleceeel)
clse(c(c1)CCCCCC)/C=C(\C(=0)0)/C#N

1033

N#C/C(=C\clcce(s1)cle(F)e(F)e(c2cIn[nH]n2)clcee(s1)clece(cel)N(cleceecel)cleceee
1)/C(=0)0O

1034

CCCCCCCCCCI1=[N]=C(S[C]1clcce(ecl)N(clcccecl)cleceeel)CI=[N]=C([C](S1)clc
cc(s1)/C=C(/C(=0)O)\C#N)CCCCCCCCC

1035

N#C/C(=C/clcce(s1)cleec(ccl)N(clece2e(-c3ccccc3C2(C)C)el)elecc2e(-c3cceee3C2(
C)C)cl)/C(=0)0

1036

N#C/C(=C/clcce(sl)cleee(sl)clece(cel)N(cleec2e(-c3cceee3C2(C)C)el)clecc2e(-c3ce
ccc3C2(C)C)el)/C(=0)0

1037

COclcee(ccl)N(cleee(cel)OC)clcee(ccl)/C=C/C1=C[CH]N(C=C1)CC(=0)0O

1038

CCCCCCOclcee(ccl)N(clee2e3ec(ecee3n(c2cc10CCCCCC)CCCCCC)elec2e(sl)ele(n
2¢2ccec(c2)OCCCCCO)ec(s1)/C=C(\C(=0)0)/C#N)clcee(cc1)OCCCCCC

1039

COclccee(cl)nlc2cesc2c2celcec(s2)clccc(ccl)N(clec2e(cc10OC)n(clc2ec(ccl)clsc2e(cl)
n(cle2sc(cl)/C=C(\C(=0)0)/C#N)clcccc(c1)OC)C)clecc(ccl)clsc2e(cl)n(clc2sccl)cl
ccee(c1)OC

1040

CCCCCCOclcee(ecl)N(clec2e3cccee3n(c2cc10CCCCCC)CCCCCC)elcecc(ecl)clec2e
(s)clc(n2¢2ccececc20OCCCCCC)ece(s1)/C=C(/C(=0)O)\C#N

1041

COclee2n(C)e3c(c2ecIN(clecc(ecl)clec2e(sl)cle(n2c2eccecc20C)cc(s1)/C=C(/C(=0)
O)\C#N)clcee(ccl)elec2e(s1)cle(n2¢2cceec20C)ces1)ceece3

1042

N#C/C(=C/clsc(c2c[C@@H]1CC[C@H]2C=C1)clccc(ccl)N(clecc2-c3¢(C(c2c1)(C)
C)ceee3)clecc2-¢3¢(C(c2c1)(C)C)ecee3)/C(=0)0

1043

N#C/C(=C\clsc(c2cl[C@@H]1CC[C@H]2C=C1)clsc(c2c1[C@H]1CC[C@@H]2C=C
I)clcee(ccl)N(cleee2-c3¢(C(c2c1)(C)C)ecee3)clecc2-c3¢(C(c2el)(C)C)ecee3)/C(=0)0

1044

N#C/C(=C\c1sc(c2clecec2)clecc(ccl)N(cleee2-¢3¢(C(c2c1)(C)C)ecce3)clece2-¢3¢(C(
c2¢1)(C)C)cceece3)/C(=0)0

1045

N#C/C(=C\clcee(ccl)N(cleeeeel)eleee(cel)c1cc2CCCN3c2¢(c1)CCC3)/C(=0)0

1046

0=C10C(=0)/C(=C/c2ccc(cc2)N(c2eceec2)c2eccec2)/SC(=S)NC1

1047

0=C(O)CN1C(=S)S/C(=C\c2ccc(cc2)N(c2cce(ce2)c2cc3CCCN4c3c(c2)CCC4)c2cccec2
)/C1=0

1048

CCCCCCOclce(OCCCCCC)cecInlc2ec(sc2e2elce(s2)/C=C(/C(=0)O)\C#N)clcee(ccl)
N(clcee2e(cl)scle2sccl)cleec2e(cl)scle2sccl

1049

CCCCCCOclec(OCCCCCO)cecInlc2ec(sc2e2clce(s2)/C=C(/C(=0)O)\C#N)clcee(ccl)
N(clcee2e(cl)sce2)clecc2e(cl)scc2

1050

CCCCCCOclec(OCCCCCO)cecInlc2ec(sc2e2clce(s2)/C=C(/C(=0O)O)\C#N)clcee(ccl)
N(clcee(eel)clec2e(sl)cees2)clecc(cecl)clec2e(sl)ces2

1051

CCCCCCOclec(OCCCCCO)cecInlc2ec(sc2e2clce(s2)/C=C(/C(=0O)O)\C#N)clcce(ccl)
N(clcee(eel)cleeesl)cleee(ccl)clecesl

1052

CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)cleee(ccl)elsc2e(cl)n(clc2sc(cl)/C=C(
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/C(=0)0)\C#N)cleec(ce0CCCCCC)OCCCCCC

1053

CCCCCCOclcec(ecl)N(cleec2e(cl)scle2scel)cleee(cel)clsc2e(cl)n(clc2sc(cl)/C=C(
/C(=0)ON\C#N)clcee(cc1I0OCCCCCC)OCCCCCC

1054

CCCCCCnlc2ccec(ec2c2elccec2)N(clece(c(c1)C(=0)OC)clcc2e(s1)cle(n2CCCCCC)ec
(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)cleec2-c3¢(C(c2c1)(CCCCCC)CCCCCC)el-c2ccee
c2C(clcl-c2¢(C(c31)(CCCCCC)CCCCCC)eccc2)(CCCCCr)ceececece

1055

CCCCCCnlc2ccec(ec2e2cleccc2)N(clece(cel)clec2e(s1)cle(n2CCCCCC)ec(s1)/C=C(/
C(=0)O)\C#N)clcce(ecl)clecc2-c3¢(C(c2¢1)(CCCCCC)CCCCCC)el-c2cccec2C(clcl-
¢2¢(C(c31)(CCCCCC)CCCCCl)eccc2)(CLCCLo)ceeecece

1056

CCCCCCCI1(CCCCCC)c2cc(cec2-c2clcc(cc2)clece(cel)nle(/C=C/c2ccc(cc2)N(c2cccee
c2)c2cecec2)cec1/C=C(/C(=0)O)\C#N)clccc(ccl)nlc(/C=C/c2ccc(cc2)N(c2ccecc2)c2ec
ccc2)cec1/C=C(/C(=0)O)\C#N

1057

CCCCCCnlc2cc(cec2e2clec(cc2)clcec(ccl)nlc(/C=C/c2cce(cc2)N(c2ecccc2)c2eccec?)
cccl/C=C(/C(=O0)O)\C#N)clcce(cel)nlc(/C=C/c2cee(cc2)N(c2eecec2)c2cccec2)eccl/C
=C(/C(=0)O)\C#N

1058

CCCCCCOclce(e(cclelecc(cel)nle(/C=C\c2ccc(cc2)N(c2cceec2)c2eccec2)eccl/C=C(/
C(=0)O)\C#N)OCCCCCC)clcce(cel)nle(/C=C/c2ccc(cc2)N(c2eceec2)c2ececc2)cccl/
C=C(/C(=0)O)\C#N

1059

CCCCCCclcece(sclcleec(ecl)N(cleceeel)cleccecl)elec(c(s1)/C=C(/C(=O)O))\C#N)CC
CCcCC

1060

CCCC[C@@H](CN1c2cce(cec2/C(=C/2\C(=0)N(c3c2cce(c3)c2ecc(s2)/C=C(\C(=0)0)/
C#N)C[C@@H](CCCC)CC)/C1=0)clccc(ccl)N(clcee(cc1)OCCCCCC)elecc(cel)OC
CCCceo)ccC

1061

N#C/C(=C\clcee(s1)C1=[N]=C[C](c2cInsn2)clcce(ccl)N(clecceel)ecleceecl)/C(=0)0O

1062

N#C/C(=C\clcee(s1)C1=[N]=C[C](c2cInsn2)clcce(ccl)N(clece2-¢3¢(C(c2¢1)(C)C)ece
c3)cleec2-c3c(C(c2c1)(C)C)ecee3)/C(=0)0

1063

CCCCCCOclcee(ccl)N(cleee(eec1)OCCCCCC)clece(ccl)[CIIC=[N]=C(c2clnsn2)clcc
¢(s1)/C=C(/C(=0)O)\C#N

1064

CCCC[C@H](Cnlc2cce(sc2c2clcce(s2)/C=C(\C(=0)0)/C#N)clcce(ccl)N(clceeecl)clee
cccl)CC

1065

N#C/C(=C\c1c(F)cc(cclF)/C=C/clcec(ccl)N(cleccecl)clecceel)/C(=0)O

1066

CCCCCCOclcec(ecl)nlc2ec(sc2c2clcc(s2)/C=C(/C(=0)O)\C#N)clcce(ccl)N(clcceeel

)cleeeeel

1067

N#C/C(=C\clce(e(s1)clsc(c(cl)cleee(ccl)N(cleeeeel)eleccecl)clecc(cel)N(clecceel)
clececcecl)clece(ecl)N(cleceeel)cleceecl)/C(=0)O

1068

C=Cclccc(ccl)N(cleeeeel)cleee(cel)/C=C(\C(=0)0O)/C#N

1069

C=Cclccc(ccl)N(clecceel)clcee(cecl)/C=C\C=C(/C(=0O)O)\C#N

1070

N#C/C(=C\c1sc(c2c10CCO2)c1cec(s1)clecc(ccl)N(cleceeel)eleccecl)/C(=0)0O

1071

N#C/C(=C\c1sc(c2c10CCO2)clcee(sl)cleec(ccl)N(cleec2e(c1)OCCO2)clcec2e(c1)O
CCO02)/C(=0)0O

1072

CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCC)clece(ccl)clecce(sl)elsc(c2¢10CCO2)/
C=C(/C(=0)O)\C#N

1073

CCCCCCCCNIC(=0)c2c(cc3cdc2c(C1=0)cc(c4C(=O)N(C3=0)CCCCCCCC)clcee(s])
/C=C(\C(=0)0)/C#N)clccc(sl)clcee(cc1)N(cleeeecl)elceceeel
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1074

CCCCCCclce(sclelsc(cc1CCCCCC)/C=C(/C(=O)O)\C#N)clcce(ccl)N(cleeeecl)elce
ccel

1075

CCCCCCclece(sclelecc(ccl)N(cleccecl)clececeel)clsc(cc1CCCCCC)/C=C(/C(=0)O)\
C#N

1076

CCCCCCclece(sclelee(c(s1)/C=C(/C(=O)O)\C#N)CCCCCC)clcecc(ccl)N(cleeceel)cle

ccecl

1077

N#C/C(=C\clcee(s1)cleee(s1)clece2-¢3¢(C(=0)c2cl)ec(ce3)clece(ccl)N(cleececl)cle
cceel)/C(=0)0

1078

N#C/C(=C\clcee(s1)cleee(ccl)N(cleee(cel)nlc2eceec2c2clecec2)clecc(ecl)nlc2eccce
2¢2clcecec2)/C(=0)0

1079

CCCCCCCnlc2ccc(cc2c2elccce(c2)/C=C(/C(=0)O)\C#N)clccc(ccl)N(clcceeel)elcecee

cl

1080

CCCCCCCnlc2ccc(cc2c2elcecce(c2)/C=C\clcee(ccl)N(clceee(cel)/C=C/clcec2e(cl)clce
(ccc1n2CCCCCCC)/C=C(/C(=0)O)\C#N)clcceeel)/C=C(\C(=0)0)/C#N

1081

N#C/C(=C\clcee(s1)[C]1C=[N]=C(c2clIn[se]n2)clcce(ccl)N(clcececl)cleceecl)/C(=0
)O

1082

CCCCCCnlc2cce(ec2c2elceec2)C1=[N]=C[C](c2c1nsn2)clccc(ccl)/C=C(\C(=0)0O)/C#
N

1083

CCCCCCnlc2cce(ec2c2elceec2)C1=[N]=CC(=C2C1=N[Se]N2)c1ccc(s1)/C=C(\C(=0)
O)/C#N

1084

Ccleee(ccl)Cl(c2eee(cc2)C)e2ec(ccc2-c2clec(s2)clecc(c2elnsn2)clccc(ccl)C(=0)0)
N(clcee(eel)C)eleee(ccl)C

1085

Ccleec(ccl)Cl(c2eee(cc2)C)e2ec(sc2-c2clec(cc2)N(cleec(ccl)C)elecc(ecl)C)ele(F)c(
F)c(c2c1nsn2)cleec(ccl)C(=0)0O

1086

CCCCCCOclcee(ccl)N(clcee(ecl)/C=C(/C(=O)O)\C#N)clcce(cc1)OCCCCCC

1087

N#C[C@@H](clcc2ce(s1)cle(s2)ce(s1)clece(ccl)N(cleee2-¢3¢(C(c2e1)(C)C)ecece3)clc
cc2-c3¢(C(c2c1)(C)C)ecec3)C(=0)0

1088

COclec(OC)ccclclece(ccl)N(cleee(ccl)C1=[N]=C[C](C2=[N]=C(C(=[N]=C12)clcccc
cl)cleececl)cleec(s1)/C=C(/C(=0O)O)\C#N)clcce(ecl)clecc(cc10C)OC

1089

Cnlc2cee(cc2c2celcece(c2)/C=C/clcece(ccl)N(clcee(ccl)/C=C/clcec2e(cl)clec(cec1n2C
)/C=C(\C(=0)0)/C#N)clccc(ccl)/C=C/clccc2e(cl)clec(cee1n2C)/C=C(/C(=0)O)\C#N)
/C=C(\C(=0)0O)/C#N

1090

N#C/C(=C\c1c(F)cc(ecl1F)/C=C/clcee(ccl)N(cleecc2elccec2)clcceccl)/C(=0)0O

1091

N#C/C(=C\c1sc(c2c10CCO2)c1cec(eccl)N(cleee(ecl)nlc2eccec2e2elccec2)clecce(ccl)
nlc2ccccc2ce2clcecec2)/C(=0)0

1092

C1(C)(c2c3-c4cec(ccdC(c3c3-c4c(C(c3c2-c2clcccc2)(C)C)ccecd)(C)C)N(cleee(cc)N(c
Icee2e(-c3ceeec3C2(C)C)el)clecc2e(-c3ceeec3C2(C)C)el)clecc(ccl)clec2e(sl)ele(n2
C)ce(s1)/C=C(/C(=0)O)\C#N)C

1093

CN(clcee(eel)N(cleee2-¢3c(C(c2¢1)(C)C)el-c2eccec2C(clel-c2¢(C(c31)(C)C)ccec2)(
C)C)clcec(ecl)clec2e(s1)elc(n2C)ec(s1)/C=C(/C(=O)O)\C#N)C

1094

Cnlc2cesc2ce2clece(s2)clece(ccl)N(cleec2-¢3¢(C(c2¢1)(C)C)cl-c2eccec2C(clcl-c2e(C(
¢31)(C)C)cccc2)(C)C)elecc(ecl)clsc2e(cl)n(clc2sc(c1)/C=C(/C(=O)O)\C#N)C

1095

Cnlc2cc(sc2c2clee(s2)/C=C(/C(=0)O)\C#N)clccc(cel)N(cleee2-c3c([C@@](c2c1)(C)
CC)cl-c2ccecc2C(elel-c2¢(C(e31)(C)C)ecec2)(C)C)elecc(ecl)nlc2ecsc2e2elces2
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1096

COclcee(c(c1)OC)clcc(ceccIN(cleee2-c3c(C(c2c1)(C)C)ee(s3)cle(F)c(F)e(c2clnsn2)cl
cce(s1)/C=C(\C(=0)0O)/C#N)clccc(ccl)clece(cc 10C)OC)clcec(cc10C)OC

1097

COclcee(c(c1)OC)clec(ecccIN(cleec2-c3c(C(c2c1)(C)C)ee(s3)clece(c2elnsn2)clece(sl
)/C=C(\C(=0)0)/C#N)clccc(ccl)cleec(cc10C)OC)c1cec(cc10C)0C

1098

COcleee(c(c1)OC)clec(ecccIN(cleee2-c3¢(C(c2ce1)(C)C)ee(s3)CI=[N]=C[C](C2=[N]=
C(C(=[N]=C12)clcceecl)cleccec])clece(s1)/C=C(\C(=0)O)/C#N)clccc(ccl)clecc(ccl
0OC)OC)cleee(cc10C)OC

1099

CCNIC(=S)S[C]([C]2S/C(=C/c3cccdce(c3)[C@@H]3CCC[C@H]3N4c3ccee(ce3)C=C(c3
cceee3)ce3ceeee3)/C(=0)N2CC(=0)0)C1=0

1100

CCCCCCCCnlnc2e(n])[C](clece(s1)/C=C(/C(=0)O)\CHN)C1=[N]=C(C(=[N]=C1[C]2

clcee(sl)cleec(ecl)N(cleeceel)clecceel)cleccecl)cleceecl

1101

N#C/C(=C\clcee(cc1F)/C=C/clcec(ccl)N(clcceeel)cleceecl)/C(=0)0O

1102

N#C/C(=C\clcee(cel)/C=C/clcce(ccl)N(clecec2elcecee2)cleceeel)/C(=0)O

1103

N#C/C(=C\clcce(cc1F)/C=C/clcec(ccl)N(clecec2elecec2)clccececl)/C(=0)0O

1104

N#C/C(=C\c1sc2-c3c([Si](c2cl)(clcecec])cleccecl)ee(s3)clece(ccl)N(cleccecl)clcce
ccl)/C(=0)0

1105

CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCO)cleee(ccl)elsc2-¢3c([Si](c2cl)(cleceee
1)clcecccl)ee(s3)/C=C(/C(=0)O)\C#N

1106

CCCCCCOclec(OCCCCCO)cecInlc2ec(sc2e2clce(s2)/C=C(/C(=0O)O)\C#N)clcce(ccl)
N(clcceeel)cleeeeel

1107

N#C/C(=C\clcce(ccl)cleec(c2clnsn2)clcec(ecl)N(eleceecl)clecceel)/C(=0)O

1108

N#C/C(=C\clcee(s1)elsc2e(c 1 C[C@@H](CC(C)(C)C)C)sclc2sc2clse(c2C[C@H](CC(
C)(C)C)C)cleee(ccl)N(cleceeel)elcceecl)/C(=0)0O

1109

CCCCCCCCCecle(sc2elsclce2sc2c1sc(c2CCCCCCCCC)clcee(s1)/C=C(/C(=0)O)\C#N)

clcee(ecl)N(clecceel)cleceeel

1110

Ccle(sc2clsclc2sc2elsc(c2C)elece(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)N(cleeceeel)cle

ccecl

1111

N#C/C(=C\clcee(s1)clec2ec(ccc2oc1=0)clcec(ccl)N(clcceeel)cleceecl )/C(=0)0O

1112

N#C/C(=C/clcce(s1)cleee(s1)clec2ec(cecc2oc1=0)clcec(ccl)N(cleceeel)eleceec)/C(
=0)0

1113

N#C/C(=C\clcee(ccl)cleee(sl)clec2ec(cec2oc1=0)clcec(ccl)N(cleccecl)clececeel)/C
(=0)0

1114

CCCCCCOclec(OCCCCCC)ceclnlc2ec(sc2e2clec(s2)clsc2e(cl)n(clc2sc(cl)clecce(ce
1)N(clccceel)cleceeel)elec(OCCCCCC)ec(c1)OCCCCCC)/C=C(/C(=0)O)\C#N

1115

CCCCCCCCnlnc2e(nl)[C](clcee(cel)/C=C(/C(=0)O)\C#N)C1=[N]=C(C(=[N]=C1[C]
2clcece(sl)clece(ccl)N(cleccecl)eleccecl)cleccec])cleccecl

1116

CCCCCCOclcee(ccl)N(cleee(eel)clec2e(s1)cle(n2CCCCCC)ece(s1)/C=C(/C(=0O)O))\C
#N)clcee(ccl)cleee2-¢3¢(C(c2¢1)(CCCCCC)CCCCCC)el-c2cccec2C(clel-c2¢(C(c31)
(CCCCCO)CCCCCC)ecce2)(CCeeceo)cecececece

1117

CCCCCCI1=[N]=c2c3cc(sc3c3c(c2=[N]=C1CCCCC)cc(s3)/C=C(/C(=O)O)\C#N)clccc(
ccl)N(clcceeel)cleeeeel

1118

CCCCCCOclcec(ccl)N(cleee(ee1)OCCCCCCO)clece(cel)elsc2e(cl)cl=[N]=C(CCCC
C)C(=[N]=clclc2sc(cl)/C=C(/C(=O)O)\C#N)CCCCC
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1119

CCCCCCOclcee(ecl)N(cleee(ee1)OCCCCCC)clece(cel)clse(c2¢c10CCO2)c1sc2e(cl)
c1=[N]=C(CCCCC)C(=[N]=clclc2sc(c1)/C=C(/C(=O)O)\C#N)CCCCC

1120

CCCCCCOclece(ccl)N(cleee(cc)OCCCCCC)clece(ccl)cleec(c2clnsn2)clsc2e(cl)cl
=[N]=C(CCCCC)C(=[N]=clclc2sc(c1)/C=C(/C(=0)O)\C#N)CCCCC

1121

CNI1[CI([CH][CH])C(c2clcee(c2)C(=0)O)C)C.cl(cce(ecl)N(clecececl)cleccee])l

1122

CC1(C)c2cc(cec2-c2clccec2)N(clece2-c3¢(C(c2e1)(C)C)ecec3)clecc2e(cl)sclc2sc2elc
cc(c2)clee(c(s1)/C=C(\C(=0)0)/C#N)C

1123

CCCCNIC(=[N]=C2C1=C(C=C[C]2clccc(s])clcee(s1)/C=C(C(=0)0)/C#N)clcce(s])
cleee(s1)/C=C(/C(=O)O)\C#N)clcece(cel)N(cleeeeel)cleceeel

1124

CCCCNIC(=[N]=C2[C]1[C)(C=C[C]2¢clccc(s1)/C=C(/C(=0)O)\C#N)clecce(s1)/C=C(/C
(=O)O)\C#N)clcee(cel)N(cleeceel)cleceeel

1125

CCCCNIC(=[N]=C2C1=C(C=C[C]2c1ccc(ccl)/C=C(/C(=0)O)\C#N)clccc(ccl)/C=C(/
C(=0)O)\C#N)clcee(ccl)N(cleceecl)cleccecl

1126

N#CC(=CC(=C(C#N)C#N)clcce(ccl)N(cleceeel)cleccec)CHEN

1127

N#CC(=C[C](clccc([CI(C#N)C#N)ccl)cleee(ccl)N(cleceeel)cleccec)CHEN

1128

Cnlnc2¢(nl)[C](clcee(s1)C(=0)O)C1=[N]=C(C(=[N]=CI1[C]2clccc(s])clcce(ccl)N(cl
cceecl)elceccecl)cleceeel)clecccecl

1129

CCCCCCOclcce(ccl)N(cleee(ee1)OCCCCCCO)clecce(ccl)CI=[N]=C[C])(C=C1)/C=C(/
C(=0)O)\C#N

1130

CCCCCCOclcce(ccl)N(cleee(eel)cleee(s1)/C=C(/C(=O)O)\C#N)clccc(ce1)OCCCCC
C

1131

CCCCCCOclcec(ccl)N(cleee(ce1)OCCCCCCO)clece(cel)[CIIS[CI(C2=[N]=C(C(=[N]
=C12)clcee(ccl)C(=0)0)clccc(ccl)C(=0)0O)clecc(ccl)N(cleee(ccl ) OCCCCCC)clece
(ccl)OCCCCCC

1132

COclccece(ccl)N(cleee(ccl)OC)clcec(ecl)clece(s1)C1=C2C(=C(N(C2=0)CC(C)C)c2cc
c(cc2)c2ceee(cc2)/C=C(\C(=0)0)/C#N)C(=O)N1CC(C)C

1133

CCCCCCOclce(0OCCCCCC)ee(cl)clecc(ccl)N(cleee(ecl)clec(OCCCCCC)ece(cl)/C=
C/CCCCC)clecc(ecl)/C=C(\C(=0)O)/C#N

1134

CCCCC[C]1c2ce(c(c(n2[B](n2c1c(C)c(c2C)cleec(ol)/C=C(/C(=O)ONCHN)(F)F)C)clcee
2¢(c1)Oclc(N2CCC)cccecl)C

1135

N#C/C(=C\clcee(s1)clee2e3e(c1)C(cleec(ecl)C)(clece(ccl)C)eledN3ce3e(C2(c2eec(ce
2)C)c2ccce(cec2)C)ecce3C(cdceccel)(clece(cel)C)elece(cel)C)/C(=0)0O

1136

CCCCCCclecece(sl)clec2e3e(cl)C(clece(ecl)C)(cleec(ecl)C)cledN3ce3c(C2(c2eec(cc2)
C)c2ccec(ec2)C)ec(ce3C(cdce(cl)clece(s1)/C=C(/C(=O)ONC#N)(clcce(ccl)C)elece(ecl
)C)clecc(s1)CCCCCC

1137

CCCCCCcleesclclec2e3ce(cl)C(clece(ccl)C)(clece(ccl)C)elcdN3e3c(C2(c2cec(cc2)C
)e2ccec(ec2)C)ec(ce3C(cdec(cl)eleee(s1)/C=C(/C(=O)O)\C#N)(clcec(ecl)C)eleee(ccl)
C)clsccclCCCCCC

1138

CCCCCCCCnlnc2e(n1)[C](clcce(cc])C(=0)0)CI=[N]=C(C(=[N]=C1[C]2clccc(s])cl
cee(ccl)N(cleceeel)cleccecl)cleccecl)cleccecl

1139

N#C/C(=C\clcee(ccl)clec2e3c(c1)C(clece(ccl)C)(clece(ecl)C)ec1cdN3e3c(C2(c2ccc(c
¢2)C)c2cec(cc2)C)ecee3C(cdeccl)(clecc(ec])C)elece(ccl)C)/C(=0)O

1140

N#C/C(=C\clcec(ol)clec2e3e(cl)C(cleec(eccl)C)(cleee(ccl)C)elcdN3c3c(C2(c2eec(cc
2)C)c2ccce(cc2)C)ecec3C(cdeccl)(clecc(ecl)C)elece(ccl)C)/C(=0)0
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1141

[C@H]1(C)c2ce(ceec2-c2clel-c3cec(ce3C(clel-c3e(C(c21)(C)C)ec(cec3)clecc(s1)/C=C(/
C(=0)O)\C#N)(C)C)clcec(ecl)N(eleceecl)cleceeel)cleee(ccl)N(cleeeeel)clecececl

1142

CC1(C)c2cc(cec2-c2clcl-c3cec(cc3C(elel-c3¢(C(c21)(C)C)ec(ec3)clece(s1)/C=C(/C(=
0)O)\C#N)(C)C)cleee(s1)/C=C(/C(=0)O)\C#N)clcce(eel)N(cleceeel)cleeeeel

1143

CC1(C)c2cc(cec2-c2clcl-c3cec(ce3C(clel-c3¢(C(c21)(C)C)cc(ec3)clece(ccl)N(clecee
cl)cleececl)(C)C)eleee(cel)N(cleecccl)cleceeel)cleee(s1)/C=C\/SC(=S)N(O1)CC(=
0)0

1144

COclcec(ce)[C@H]IN=C(N[C@@H]1clcce(cc1)OC)clcee(ccl)N(clcee(cel)/C=C(\C
(=0)0)/C#N)clcceccl

1145

N#C/C(=C\clcee(ccl)N(cleeceel)eleee(ccl)CI=N[C@@H]([C@H](N1)clcee(eel)clc
cesl)cleee(cel)cleces1)/C(=0)0O

1146

N#C/C(=C/clcce(ccl)clece(ccl)N(cleee2-c3¢(C(c2c1)(C)C)ecee3)clecc(ecl)cleccccl)
/C(=0)0O

1147

N#C/C(=C/clcce(s1)cleec(ccl)N(cleee2-¢3¢(C(c2e1)(C)C)ecee3)clcece(ccl)clecceel)/
C(=0)0

1148

N#C/C(=C/clcec(ol)clece(ccl)N(clecc2-c3¢(C(c2c1)(C)C)ccec3)cleec(ccl)cleccecl)/
C(=0)0

1149

CCCCCI1(CCCC)c2cc(cec2-c2clcccc2)nlc2ec(sc2c2clec(s2)clcec(cc1)N(cleececl)elc
cceel)/C=C(\C(=0)0O)/C#N

1150

CCCCCI1(CCCC)c2cc(cec2-c2clec(ecc2)N(cleccecl)eleccec])clsc2e(cl)n(clc2sc(cl)/C
=C(\C(=0)0)/C#N)clccc2-c3¢(C(c2¢1)(CCCC)CCCC)eccc3

1151

Ccleee(s1)CI1=[N]=c2c(ccc(c2=[N]=Clclcce(s1)C)clece(ccl)/C=C(\C(=0)0O)/C#N)clc
c(c(sl)clcee(ecl)N(cleececl)eleceeel)C

1152

CCCCCCCCclece(s1)CI=[N]=c2c3cc(sc3c3c(c2=[N]=Clclcce(s1)CCCCCCCC)cc(s3)
clcee(eel)/C=C(\C(=0)0)/C#N)clce(c(sl)cleec(ecl)N(clcceeel)cleceeec1)CCCCCCC
C

1153

Ccleee(s1)CI=[N]=C2[C](S[C](C2=[N]=Clclccc(s1)C)clcec(ecl)/C=C(\C(=0)0O)/C#N
)clee(e(s1)cleee(cc1)N(cleccecl)elccceel)C

1154

cl(c(/C=C/c2cce(cc2)N(c2ceee(cec2)C)c2ece(cc2)C)ec(ccl/C=C/clcec(cc1)N(cleee(ccl)
C)clcee(ecl)C)cleee(sl)ele(F)c(F)e(c2elnsn2)clecc(ccl)C(=0)0)OC

1155

CCCCCCCCnlnc2c(nl)[C](clcee(ecl)N(clcceeel)cleceeel)CI=[N]=C(C(=[N]=C1[C]
2clcee(s1)/C=C(/C(=0)O)\C#N)clccceel)clceeecl

1156

CCCCCCCCnlnc2c(nl)[C](clcec(ecl)N(clcceeel)cleceeel ) CI=[N]=C(C(=[N]=C1[C]
2clcee(ccl)/C=C(/C(=0)O)\C#N)clcceceel)cleceeel

1157

CCCCCCCCnlnc2c(nl)[C](clcee(ecl)N(clcceeel)cleceeel )CI=[N]=C(C(=[N]=C1[C]
2cleee(s1)C(=0)O)clcccccl)clceccecl

1158

CCCCCCCCnlnc2c(nl)[C](clcee(ecl)N(clcceeel)cleceeel)CI=[N]=C(C(=[N]=C1[C]
2cleec(ccl)C(=0)O)clcccecl)cleccecl

1159

CC(CNI1C(=C2C(=C(N(C2=0)CC(C)C)c2ccc(s2)c2cece(cc2)C(=0)0)C1=0)clcee(sl)cl
cc(/C=C/c2cce(cc2)N(c2ceec(cec2)C)e2cecec(cc2)C)e(c(c1)/C=C/clcec(ccl)N(clcee(ccl)C)
clcee(ecl)C)OC)C

1160

COC(=0)[C]IC(=[N]=C2N1C=C(C=C2clccc(ccl)N(clccceel)cleeeeel)cleee(s1)/C=C
(\C(=0)0)/C#N)C

1161

N#C/C(=C/clcee(s1)CI=CN2[CH]C(=[N]=C2C(=C1)clccc(cc1)N(clceeeccl)elcececl)
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C)/C(=0)0

1162

CCCCCCC1(CCCCCO)c2cc(ccc2-c2clec(cc2)clsc2e(cl)n(clc2sc(c1)/C=C(/C(=0)O)\C
#N)clcee(cel)N(cleee(cel)C)eleee(cel)C)elsc2e(cl)n(cle2sc(c1)/C=C(\C(=0)0O)/C#N
)cleee(ecl)N(clceee(eel)C)eleee(ccl)C

1163

CC1(C)c2cce(cec2-c2clcl-c3ceec(ce3C(clcl-c3¢(C(c21)(C)C)ec(ce3)clcee(s1)/C=C(/C(=
0)O)\C#C)(C)C)cleee(s1)/C=C(\C(=0)0)/C#N)clcce(cc1)N(cleee(ce1)OC)elcee(ccl)
oC

1164

N#C/C(=C\clcee(s1)cleee(ccl)N(cleee(cel)cleee(s1)/C=COAC(=0)O)/C#N)clccc(ccl)c
Lece(s1)/C=C(/C(=0)O)\C#N)/C(=0)O

1165

CCCCC1(CCCC)c2cc(ccec2-c2clee(cc2)/C=C(/C(=0)ONC#N)N(clcecccl)cleccecel

1166

CCCCC1(CCCC)c2cc(ceec2-c2clee(cc2)/C=C(/C(=0)O)NC#N)N(clcec(cc1)OC)elcee(ce
1)OC

1167

CC1(C)c2cc(ccc2-c2¢] ce(ee2)/C=C(/C(=0)0)\CHN)N(c 1 cec(ce 1)OCCOC(C(F)(F)F)(C(
F)(F)F)C(F)(F)F)clcce(ce 1) OCCOC(C(F)(F)F)(C(F)(F)F)C(F)(F)F

1168

N#C/C(=C\clecc2-¢3¢(C(c2c1)(CCCOC(C(F)(F)F)(C(F)(F)F)C(F)(F)F)CCCOC(C(F)(F
)F)(C(F)(F)F)C(F)(F)F)cc(cc3)N(cleceecl)eleceeel)/C(=0)0O

1169

N#C/C(=C\c1cec2-c3¢(C(c2¢1)(CCCOC(C(F)(F)F)(C(F)(F)F)C(F)(F)F)CCCOC(C(F)(F
YE)(C(F)(F)F)C(F)(F)F)cc(ce3)N(c L cec(cc 1 YOCCOC(C(F)(F)F)(C(F)(F)F)C(F)(F)F)clce
¢(cc1)OCCOC(C(F)(F)F)(C(F)(F)F)C(F)(F)F)/C(=0)O

1170

CCCCCI1(CCCC)c2cc(cec2-c2clcc(cc2)C(=0)O)N(clcccecl)elcccecl

1171

clcee(ecl)N(elecceel)clece(ccl)[CH][N]/N=C/1\[C]2C=CC=[N]=C2C2=[N]=C[CH]C
=CI12

1172

N#C/C(=C/clcee(s1)/C=C/clcee(ccl)N(clcec(ecl)eclece2-c3¢(C(c2cl)(C)C)ecee3)clcee
c(ccl)eleec2-c3e(C(c2c1)(C)C)ecec3)/C(=0)0

1173

N#C/C(=C/clce(c(s1)/C=C/clecce(ccl)N(clece(ccl)cleec2-c3¢(C(c2cl)(C)C)ecec3)elce
c(ccl)eleec2-c3¢(C(c2c1)(C)C)ecec3)C)/C(=0)0

1174

CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)elece(ccl)clece(ccl)/C=C(/C(=O0)O)\C
#N

1175

CCCCCCOclcee(ecl)N(cleee(cc1)OCCCCCC)elecee(ccl)clece(c2elnsn2)cleec(s1)/C=
C(/C(=0)O)\C#N

1176

CCCCCCCCC1=[N]=c2¢(cce(c2=[N]=C1CCCCCCC)elece(s1)/C=C(/C(=0)0)\C#N)c1

cee(sl)clecc(ccl)N(cleececl)eleceecel

1177

Cclcee(s1)C1=[N]=c2c(=[N]=Clclccc(s1)C)c(ccc2elcece(s1)/C=C(/C(=O)O)\C#N)clcc

c(sl)cleee(ccl)N(cleceecl)clecccecl

1178

CCCCCCCCclsc2e(cl)clec(sclcl=[N]=c3c(=[N]=c21)c(ccc3clcce(s1)/C=C(/C(=0)O)\
C#N)clcee(sl)clece(ccl)N(cleceeel)cleccec)CCCCCCCC

1179

CCCCCCclece(sc1/C=C/clcce(ccl)N(clece(eel)eleec2-c3¢(C(c2e1)(C)C)ecee3)clcee(c
cl)cleec2-c3¢(C(c2c1)(C)C)eeec3)/C=C(\C(=0)0)/C#N

1180

N#C/C(=C\clcee(sl)clec2e(s1)ec(s2)clecc(eccl)N(eleee2-¢3¢(C(c2c1)(C)C)ecec3)clcc
¢2-¢3¢(C(c2¢1)(C)C)ceec3)/C(=0)0

1181

N#C/C(=C\c1sc(c2c10CCO2)clcc2e(s1)ee(s2)clecc(ccl)N(cleec2-¢3¢c(C(c2¢1)(C)C)ec
cc3)clecc2-c3c(C(c2c1)(C)C)ecee3)/C(=0)0

1182

CCCCCCCCCCCI=N]=C(S[C]1clece(ccl)N(clcee(ccl)C)eleceecl )C1=[N]=C([C](S1
)eleee(s1)/C=C(/C(=0)O)\C#N)CCCCCCCCC
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1183

N#C/C(=C\clcee(sl)cleee(sl)eleee2-c3¢(C(=0)c2cl)ec(ce3)clecc(ccl)N(cleee(ecl)C)
clcee(ecl)C)/C(=0)0

1184

N#C/C(=C\clcee(cel)/C=C/c1cc2CCc3ccc(CCclec2)ec3/C=C/clecc(ccl)/C=C/clcec(ce
1)N(clccceel)cleeeeel)/C(=0)O

1185

COclce(/C=C/c2ccc(cc2)N(c2ceccec2)c2eccec2)c(cc1/C=C/clec2ecc1CCelecc(CC2)e(c
1)/C=C/c1cc(0OC)c(cc10C)/C=C(/C(=0)O)\C#N)OC

1186

N#C/C(=C\clcee(s1)clec2CCe3cec(CCelec2)ec3clece(cel)N(clecceel)cleceeel)/C(=
0)0

1187

CCCCCCCI(CCCCCC)e2cce(sc2-c2c1ec(s2)C1=CC2=[N]=C(C(=C[C]2C=C1)/C=C(\C(
=0)0)/C#N)Cl)clccc(ccl)N(cleee(cc1)OCCCCCC)eleec(cc1)OCCCCCC

1188

CCCCCCCI1(CCCCCO)c2cc(sc2-c2clcec(s2)clecc2e(c])[nH]c(=0)c(c2)/C=C(\C(=0)0)/
C#N)clcee(ecl)N(cleee(ee1)OCCCCCC)clece(ccl)OCCCCCC

1189

CCCCCCCI(CCCCCC)c2cc(sc2-c2clce(s2)clcec2e(cl)[nH]e(=0)c(c2)C=C(C#N)C#N)
clcee(ecl)N(eleee(cel)OCCCCCC)elece(ecl)OCCCCCC

1190

CCCCCCc1(ceeeClyc2ece(sc2-c2elec(s2)cleecc2e(cl)[nH]e(=0)c(c2)C(=0)O)clcce(c
c¢1)N(clcee(ce1)OCCCCCC)clecce(ecl)OCCCCCC

1191

CCCCCCCI(CCCCCC)e2cc(sc2-c2c1ce(s2)C1=CC2=[N]=C(C(=C[C]2C=C1)C(=0)0)
Cl)clece(ccl)N(cleee(cc1)OCCCCCC)cleee(cc1)OCCCCCC

1192

CCCCcCCcI(ceeeclyc2ece(sc2-c2elec(s2)cleecc2e(cl)[nH]e(=0)c(c2)C=0)clccc(ccl)
N(clcee(ee1)OCCCCCC)clece(ecl)OCCCCCC

1193

N#C/C(=C\clcee(sl)clec2e(ol)ec(cc2)N(clece2-¢3¢(C(c2e1)(C)C)ecee3)clecc2-¢3¢(C(
c2¢1)(C)C)ccec3)/C(=0)0

1194

N#C/C(=C/clcee(s1)/C=C/clec2c(ol)cc(cc2)N(cleec2-c3¢(C(c2cl)(C)C)ecec3)elcec2-
¢3¢c(C(c2c1)(C)C)eccec3)/C(=0)0

1195

N#C/C(=C\clcce(ccl)clnnc(ol)clcecc(ccl)N(cleccecl)eleceecl)/C(=0)0O

1196

N#C/C(=C/clcce(ccl)clnne(ol)clcec(ccl)N(cleee(ce1)C)eleee(ccl)C)/C(=0)0O

1197

N#C/C(=C/c1cce(ccl)clnne(ol)clcec(ccl)N(cleee(ce1)CC)clece(eccl)CC)/C(=0)0O

1198

N#C/C(=C\clcee(ccl)clnne(ol)clcec(ccl)N(cleee(cc1)OC)elcce(cc1)OC)/C(=0)0O

1199

N#C/C(=C\c1sc(c(clelcec(ccl)N(cleceecl)cleccecl)clecee(cl)N(clecceel)clceceel)/
C=C(/C(=0)0)\C#N)/C(=0)O

1200

N#C/C(=C/clccc(ccl)N(clcee(ccl)/C=C\clcccecl)clccce(cel)/C=Ciclceeccl)/C(=0)0O

1201

Ccleee(ccl)Cl(c2eece(cc2)C)e2ec(cec2-c2elcec(s2)clecce(s])cleee(ccl)C(=0)O)N(clcee
(cc1)C)cleece(ecl)C

1202

COclcc(OC)ceclclecc(ccl)N(clecc2e(cl)scle2sc(cl)[C@]1(CC=C(S1)clccesl)/C=C(\
C(=0)0)/C#N)clcce(ecl)cleee(cc10C)OC

1203

CCCCCCOclcc(OCCCCCC)ceclclccc(ecl)N(cleec2e(cl)scle2sc(cl)clec2e(s1)ec(s2)/
C=C(\C(=0)0)/C#N)clccc(ccl)clecc(cc1OCCCCCC)OCCCCCC

1204

COclce(OC)cceclclece(ccl)N(clecc2e(cl)sclc2sc(cl)/C=C(\C(=0)O)/C#N)clccc(ccl)c
lcee(ec10C)0C

1205

N#C/C(=C\clcce(sl)cleec2e(cl)cleccccIn2¢lcce(ccl)N(clece(ccl)nlc2cceec2e2elece
c2)cleec(ccl)nlc2eccec2ce2clcecec2)/C(=0)0

1206

O1C(=0)CNC(=S)S/C(=C\c2ccc(s2)c2cec3e(c2)c2eccec2n3c2ecc(cc2)N(c2eec(ec2)n2e
3ceecc3c3c2cccc3)c2ecc(cc2)n2c3ceccec3c3c2eccec3)/C1=0
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1207

Cclceee(ccl)Cl(c2eee(cc2)C)e2ec(cec2-c2elcc(s2)clecc(sl)clcee(c2clnsn2)clccc(ccl)
C(=0)O)N(clcce(eel)C)clece(ccl)C

1208

CCCC[C@@H](CN1C(=0)C2=C(N(C(=0)C2=Clclcce(sl)clsc2-c3c(C(c2cl)(clcee(ce
1)C)cleee(cel)C)ec(ce3)N(cleee(cel)C)eleee(ccl)C)C[C@@H](CCCC)CC)elece(sl)e
Icee(eel)C(=0)0)CC

1209

CCCCCCOclece(ccl)N(cleee(cc)OCCCCCC)clece(ccl)cleee(s1)CI=[N]=C2C(=C(C
=C[C]2c2ccc(s2)/C=C(\C(=0)0O)/C#N)c2cce(s2)/C=C(/C(=O)O)\C#N)N1CCCCCC

1210

COclcec(cc1)N(cleee(ee1)OC)clecec(cel)C1=[N]=C2C(=C(C=C[C]2c2cc(c(s2)/C=C(\C
(=0)O)/C#N)C)c2ce(c(s2)/C=C(/C(=O)O)\C#N)C)N1C

1211

COclccce(ccl)N(cleee(ccl)OC)clcec(ccl)CI=[N]=C2C(=C(C=C[C]2c2ccc(s2)c2sc(c(c
2)C)/C=C(/C(=0)O)C#N)c2cce(s2)c2sc(c(c2)C)/C=C(/C(=0)O)\C#N)N1C

1212

CCCCCCCnlc2cec(/C=C/c3cce(cc3)N(c3ccccce3)c3ceccece3)cec2e2elece(c2)/C=C(/C(=0)
O)\C#N

1213

Cnlc2cec(cc2c2elec(/C=C/clcec(ccl)N(clcee(ccl)/C=C\clcec3e(c])n(C)cle3ec(ccl)/C
=C(\C(=0)0)/C#N)clccecel)cc2)/C=C(/C(=0)O)\C#N

1214

Cnlc2cce(/C=C/c3cce(cc3)N(c3cee(cc3)/C=C\c3cccde(c3)n(C)c3cdcec(cc3)/C=CO\C(=0)
0)/C#N)c3cee(ce3)/C=C\c3cecde(c3)n(C)e3cdec(cc3)/C=C(C(=0)0)/C#N)ccc2c2elcce
(c2)/C=C(\C(=0)0O)/C#N

1215

OC(=O)CNI1C(=S)S/C(=C\c2ccc(s2)c2cec(cc2)N(c2ecc(ec2)n2c3cece(ce3e3c2ece(c3)C(
C)C)O)C(C)(O)C)c2ecee(ce2)n2¢3ccc(cec3c3c2eece(c3)C(C)(C)O)C(O)(O)C)/C1=0

1216

CCCCC[C]1c2c¢(c(c(n2[B](n2¢1c(C)c(c2C)clcec(o1)/C=C(/C(=O)ONCH#N)(F)F)C)clcce
2¢(c1)n(CCC)clc2ee(ccl)OC)C

1217

N#C/C(=C\clcce(sl)cleee(s1)[CH]C1=c2cce(cc2=C2[C]1C=CC(=C2)N(clccc(cc1)OC)
clcee(ee1)OC)N(cleee(cc1)OC)clcec(ecc1)OC)/C(=0)0

1218

COclcee(ccl)N(cleee(ccl)OC)clceec2e(cl)C1=CC(=C[CH]C1=C2[CH]c1ccc(s1)clcee(
s1)/C=C(\C(=0)0O)/C#N)N(clccc(cc1)OC)cleee(ccl)OC

1219

N#C/C(=C/clcee(s1)[CH]C1=c2¢(=C3[C]1C=CC(=C3)N(clccc(ccl)OC)clcee(cc1)OC)
ce(cc2)N(cleee(ccl)OC)clcee(cc1)OC)/C(=0)0

1220

N#C/C(=C\clce(e(sl)clece(sl)clece(sl)clecc(ccl)N(cleceeel)cleceeel)eleee(cc1)N(c
Iceeecl)clecceel)/C(=0)0O

1221

N#C/C(=C\clce(e(sl)clsc(cclelece(ccl)N(cleececl)cleceeel)cleee(s1)cleee(ccl)N(el
cceeel)eleceeel)elece(cel)N(cleeeccl)cleceeel)/C(=0)O

1222

N#C/C(=C\clce(ce(s1)clsc(cclelece(ccl)N(cleececl)cleceeel)clsc(c(cl)cleec(ccl)N(c
Iceeecl)clecceel)clece(ecl)N(cleceeel)cleceecl)cleec(cel)N(cleceecl)clecceel)/C(
=0)0

1223

COclcc(OC)ceclclece(ccl)N(cleee2e(el)scle2sc(cl)clece(s1)/C=C(\C(=0)0)/C#N)cl
ccee(ccl)cleec(cc10C)OC

1224

CCCCCCclee(sclcleee(s1)[CH]C1=c2cce(cc2=C2[C]1C=CC(=C2)N(clcccccl)clcecee
1)N(clccceel)clcceeel)/C=C(/C(=O0)O)\C#N

1225

CCCCCCclece(sclcleee(s1)[CH]C1=c2cce(cc2=C2[C]1C=CC(=C2)N(clccc(cc1)OC)cl
cec(ec1)OC)N(clceee(cc1)OC)c1cee(ccl)OC)/C=C(/C(=0)O))\C#N

1226

Cclee(sclcleee(s1)[CH]C1=c2cce(cc2=C2[C]1C=CC(=C2)N(clccc(cc1)OC)clcec(ecl)
OC)N(clcee(eel1)OC)cleee(ccl)OC)/C=C(\C(=0)0)/C#N

1227

N#C/C(=C/clcee(s1)[C]1C=CC(=C2C1=N][Se]N2)clccc(ccl)N(clcceeel)cleceeel)/C(=
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0)0

1228

CCCCCCCCOclecee(ccl)N(cleee(ecl ) OCCCCCCCC)clece(ccl)clece(c2cln[seln2)clc
cc(s1)/C=C(\C(=0)0O)/C#N

1229

CCCCCCCCOclece(ccl)N(cleee(ecl ) OCCCCCCCC)clece(ccl)cleee(c2cln[seln2)clc
cc(ccl)/C=C(\C(=0)O)/C#N

1230

CCCCCCOclcec(ecl)N(cleee(ecl)cleee(s1)/C=C(/C(=O)O))\C#N)clcce(cel)/C=C/clcc
c(cc1)N(cleee(eel)eleee(s1)/C=C(/C(=0)O)\C#N)clcee(cc1)OCCCCCC

1231

CCCCCCOclcec(ecl)N(cleee(ecl)elece(cel)/C=C(\C(=0)0)/C#N)clcce(ccl)/C=C/clc
cc(cel)N(cleee(ecl)eleee(cel)/C=C(/C(=0)O)\C#N)clcee(cc1)OCCCCCC

1232

CCCCCCOclcec(ecl)N(clcee(ecl)elece(cel)/C=C(\C(=0)0)/C#N)clcce(ccl)/C=C/clc
cc(ecl)N(cleee(ecl)eleee(s1)/C=C(/C(=O)O)\C#N)clccc(cc1)OCCCCCC

1233

COclcee(ccl)N(cleee(cel)clcee(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)/C=C/clcec(ccl)N
(clcee(ecl)clece(s1)/C=C(\C(=0)0O)/C#N)clcce(cc1)OC

1234

COclcee(ccl)N(cleee(cel)elceee(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)/C=C\clecee(ccl)/
C=C\clccc(ccl)N(cleee(ccl)cleee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)OC

1235

Cnlc2cccec2c2elcce(c2)clece(ccl)N(clecc2-¢3¢(C(c2¢1)(C)C)cl-c2cccec2C(clel-c2¢(
C(c31)(C)C)ecec2)(C)C)elecce(eccl)clsc2-c3¢(C(c2c1)(C)C)ee(s3)/C=C(/C(=0)O)\C#N

1236

CNlc2ccee(eec2Sc2clecec2)clccc(ccl)N(cleee2-¢3¢(C(c2¢1)(C)C)el-c2eccec2C(clel-c2
¢(C(c31)(C)C)cccc2)(C)C)elecec(ecl)clsc2-c3¢(C(c2¢1)(C)C)cce(s3)/C=C(/C(=0O)O)\C#
N

1237

CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clece(ccl)elsc2-¢3¢c(C(c2el)(CCCCCC
)JCCCCCC)cc(s3)/C=C(/C(=0)O)\C#N

1238

N#C/C(=C\c1cc(OCCC(C)C)e(cc10CCC(C)C)/C=C/clccc(ccl)N(cleec2e(-c3cccec3C2
(C)CO)cl)elcec2e(-c3cecec3C2(C)C)cl)/C(=0)0

1239

N#C/C(=C\c1ec(OCCC(C)C)c(cc10CCC(C)C)/C=C\clec(OCCC(C)C)e(cc1OCCC(C)C
)/C=C/clccc(ccl)N(cleec2e(-c3ccecce3C2(C)C)cl)elecc2e(-c3ccecc3C2(C)C)el)/C(=0)
O

1240

N#C/C(=C\c1ec(OCCC(C)C)c(cc10CCC(C)C)/C=C/clcc(OCCC(C)C)c(cc10CCC(C)C
)/C=C/c1cc(OCCC(C)C)c(cc10CCC(C)C)/C=C/clccc(ccl)N(clcec2e(-c3ccecc3C2(C)C
)el)cleec2e(-c3ccccc3C2(C)C)el)/C(=0)0

1241

N#C/C(=C\clcee(ccl)clece(nlC)elece(ccl)N(cleeeecl)cleceeel)/C(=0)0O

1242

N#C/C(=C\clcee(sl)clece(n1C)clecc(ecl)N(cleceeel)cleceecl)/C(=0)O

1243

N#C/C(=C\clcee(s1)cleee(n1C)clece2-c3¢(C(c2¢1)(CC)CC)ec(ec3)N(clecceel)clcccee
c1)/C(=0)0O

1244

N#C/C(=C\clcee(sl)clece(n1C)clecc2-c3¢(C(c2c1)(CC)CC)cc(cc3)N(clecec2elecec?)
clceeecl)/C(=0)0O

1245

CCCCCCnlc2ccc(ec2c2clecc(c2)N(cleccecl)clecceel)cleee(n1C)elecc(s1)/C=C(/C(=
0)O)\C#N

1246

N#C/C(=C\clcce(nlC)cleec(sl)cleec2-¢3¢(C(c2¢1)(CC)CC)ec(ec3)N(clcccecl)clecce
c1)/C(=0)0

1247

N#C/C(=C\clcee(sl)cleee2-¢3¢(C(c2¢1)(CC)CC)ee(cc3)N(clecec2elecee2)cleccecl)/
C(=0)0

1248

N#C/C(=C\clcee(sl)cleee(sl)eleee2-c3¢(C(c2c1)(CC)CC)ec(ce3)N(clecec2elecec2)el
cceecl)/C(=0)0
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1249

N#C/C(=C\clcee(sl)cleee(sl)cleec(ec1)N(cleceecl)C1=CC=CCC1)/C(=0)O

1250

CCCCCCCCNIC(=0)C2=C(N(C(=0)C2=Clclcec(s1)clsc(c2c10CCO2)clcee(ccl)N(e
Iceeecl)celeccec1)CCCCCCCC)celcecce(s])clece(s1)/C=C(\C(=0)0)/C#N

1251

CCCCCCCCNIC(=0)C2=C(N(C(=0)C2=Clclccc(s1)clsc(c2c10CCO2)clcee(ccl)N(c
Lece2-¢3¢(C(c2¢1)(CCCCCC)CCCCCC)ecee3)cleec2-c3¢(C(c2el)(CCCCCC)CCCCe
C)ccee3)CCCCCCCC)elcecee(sl)cleee(s1)/C=CO\C(=0)0O)/C#N

1252

N#C/C(=C\clcee(s1)cleee2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2-c3c(C(c2el)(CC)CC
)ee(ee3)N(cleee2-¢3¢(C(c2e1)(CC)CC)ee(ce3)clceec(s1)/C=C(/C(=0)O)\C#N)clcceeel)
clceeecl)/C(=0)0O

1253

N#C/C(=C\clcee(sl)cleee(sl)cleec2-¢3¢(C(c2e1)(CC)CC)ec(ce3)N(clecc2-c3c(C(c2cl
)(CC)CC)ee(ce3)N(cleee2-c3¢(C(c2c1)(CC)CC)ee(cc3)clece(sl)clece(s1)/C=C(/C(=0)
O)N\C#N)clccceel)cleeceeel)/C(=0)O

1254

N#C/C(=C/clcce(s1)cleec2-¢3¢(C(c2c1)(CC)CC)ee(ce3)N(clccc2e(-c3cec(ce3C2(CC)
CC)C(c2cccec2)c2eccec2)cl)cleceecl)/C(=0)0O

1255

N#C/C(=C/clcce(s1)cleee(s1)clece2-¢3¢(C(c2¢1)(CC)CC)ec(ce3)N(cleec2e(-c3cec(ce
3C2(CC)CC)C(c2ccecec2)c2eceec2)cl)cleeceel )/C(=0)0O

1256

CCl1(c2cc(cec2-c2elcec(cc2)clece(ccl)N(cleee(cecl)cleee(s1)/C=C(/C(=O)O)\C#N)clcc
c(ccl)C)eleec(eccl)N(clece(ecl)clece(s1)/C=C(/C(=O)O)\C#N)clcee(ccl)C)C

1257

C(C1(CC(C)C)c2cc(cec2-c2clec(ec2)clecc(cc1)N(clece(ccl)clece(s1)/C=C(/C(=0)O)\
C#N)clcec(ecl)C)clecec(ccl)N(cleee(ccl)eleee(s1)/C=C(/C(=0O)O)\C#N)clcce(ccl)C)
Cc(O)C

1258

CCI1(C)c2cc(cec2-c2clce(cc2)clece(ccl)N(cleee(ecl)clcec(sl)eleee(s1)/C=C(/C(=0)O
NC#N)clcee(ccl)C)eleec(ccl)N(cleee(ecl)clece(s1)cleee(s1)/C=C(/C(=O)ONC#N)clc
cce(ccl)C

1259

CCCC[C@H](C[C@@]1(C[C@H](CCCC)CC)c2cc(ccc2-c2clec(cec2)clcee(ccl)N(clcec
c(ccl)cleee(sl)cleee(s1)/C=C(/C(=0)O)\C#N)clcce(ccl)C)elecc(ccl)N(cleee(ecl)cle
ce(sl)cleee(s1)/C=C(/C(=O0)O)\C#N)clccc(ce1)C)CC

1260

N#C/C(=C\clcce(sl)cleee(ccl)N(cleee(ccl)C)eleceecl)/C(=0)O

1261

N#C/C(=C\clcce(sl)cleee(sl)cleec(cc1)N(cleee(cel)C)eleccecl)/C(=0)0O

1262

CCCCCI(CCCC)c2cc(cec2-c2clec(cc2)N(clcec2e(cl)eleceecIn2CC)clece2-c3¢(C(c2e
1)(CCCC)CCCC)cc(cce3)cleec(s]l)/C=C(/C(=0)O)\C#N)clcee(s1)/C=C(/C(=O0)O)\C#N

1263

CCCCCI(CCCC)c2cc(cec2-c2clec(cc2)N(clcec2e(cl)eleceecIn2CC)clece2-c3¢(C(c2e
1)(CCCC)CCCC)cce(cc3)clecce(s])clece(s1)/C=C(/C(=0)O)\C#N)clcee(s1)clcee(s1)/C=
C(/C(=0)O)\C#N

1264

N#C/C(=C/clcce(ccl)N(clceeeel)eleee(cel)/C=C\/SC(=C(S1)SC)SC)/C(=0)O

1265

CSC1=C(SC)S/C(=C/c2ccc(cc2)N(c2cce(cc2)/C=C(\C(=0)0)/C#N)c2ccc(cc2)/C=C(\C(
=0)0)/C#N)/S1

1266

OC(=0)c1cc2C(=0)C(=Cc3cce(cc3)N(c3cecce3)c3ceceec3)C(=0)c2ec 1 C(=0)0

1267

CCCCCCOclece(ccl)N(cleee(cc)OCCCCCC)clece(ccl)C=C1C(=0)c2c(C1=0)cc(c(c
2)C(=0)0)C(=0)0

1268

N#C/C(=C\clcee(ccl)N(cleee(cel)elcccecl)clece(ccl)elcececl)/C(=0)0O

1269

N#C/C(=C\clcce(ccl)N(cleee(ccl)C#HCeleceeel)elecc(cc1)C#HCelcceeel)/C(=0)0O

1270

CCCCCCCCNIC(=O)C2=C(N(C(=0)C2=Clclccc(sl)clsc(c2c10CCO2)c1cec(cc1)N(c
Icee2-¢3¢(C(c2c1)(CCCCCC)CCCCCC)eceec3)clecc2-c3c(C(c2cl)(CCececeoyceecee
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C)ceee3)CCCCCCCCO)clece(s])clece(cecl)/C=C(/C(=O)O))\C#N

1271

N#C/C(=C/clcce(sl)cleee(s1)clsc(c2c10CCO2)c1cec(s1)cleee(ccl)N(cleeeecl)clecce
c1)/C(=0)0O

1272

Cclece(sclcleee(ccl)N(clcee(ccl)/C=C(/C(=0)O)\C#N)clccceel)cleee(c2cInsn2)clee(
c(sl)cleec(cel)N(clece(cel)/C=C(/C(=0)O)\C#N)clcceeel)C

1273

CCCCCCcCCCCCCcelcc(sclclece(cel)N(cleee(eel)/C=C(/C(=O)O)\C#N)clcceecl)cle
c2c(sl)cle(s2)ce(sl)clec(c(s1)cleec(cel)N(cleee(ecl)/C=C(/C(=O)O)\C#N)clcceeel)C
CCcccceceecececce

1274

CCCCCCCCCCCCclcc(sclclece(cel)N(cleee(ecl)/C=C(/C(=O)O)\C#N)clcceecl)cls
c2c(cl)sclc2sc(cl)clec(c(sl)cleec(ccl)N(cleceeel)clececec ) CCCCCCCCCCCC

1275

O=CIN/C(=C\c2ccc(cc2)N(c2cecec2)c2eccec?)/C(=O)N1

1276

0=C1S/C(=C\c2ccc(cc2)N(c2cceec2)c2ecccc2)/C(=O)N1

1277

O=CINC(=0)/C(=C/c2ccc(cc2)N(c2cec(cc2)/C=C/2\NC(=0)NC2=0)c2cccec2)/N1

1278

O=CINC(=0)/C(=C\c2ccc(cc2)N(c2cec(cc2)/C=C/2\SC(=0)NC2=0)c2cccec2)/S1

1279

CCN(cleee(ccl)/C=C/N([0O])O)CC

1280

OC(=0)/C=C\clccc(ccl)N(clceeeel)cleeceel

1281

ON([O])/C=C\clcce(ccl)N(cleceeel)cleccececl

1282

OC(=0)/C=C\clccc(ccl)N(clcee(eel)/C=C\C(=0)O)clcceecl

1283

ON([0])/C=C\clcce(ccl)N(cleee(cel)/C=C\N([O])O)clcececcl

1284

N#C/C(=C/c1sc(c2c10CCO2)c1cec(ccl)N(clcceeel)eleceecl)/C(=0)O

1285

N#C/C(=C/c1sc(c2c10CCO2)clccc(ccl)N(cleee(ecl)clsc(c2¢10CCO2)/C=C(\C(=0)O
)/C#N)clceeeel)/C(=0)O

1286

N#C/C(=C/c1sc(c2c10CCO2)clccc(ccl)N(cleee(ecl)clsc(c2¢10CCO2)/C=C(\C(=0)O
)/C#N)cleee(cel)cleee2e(el)[nH]clc2ececl)/C(=0)O

1287

0=C10C(=0)/C(=C/c2ccc(cc2)/C=C\c2ccc(cc2)N(c2eec(cc2)/C=C/c2cec(cc2)/C=C\2/S
C(=S)N(C2=0)CC(=0)0)c2ccccc2)/SC(=S)NC1

1288

OC(=0)CNI1C(=S)S/C(=C\c2ccc(cc2)N(c2cee(ce2)/C=C/2\SC(=S)N(C2=0)CC(=0)O)c
2ccecc2)/C1=0

1289

N#C/C(=C\clen(cclclece(ccl)N(cleee(ecl)clen(ccl/C=C(/C(=O)O)\C#N)C)clcceeel)
C)/C(=0)0O

1290

CC(CNI1C(=C2C(=C(N(C2=0)CC(C)C)c2ccc(s2)c2ecc(s2)/C=C(\C(=0)0)/C#N)C1=0)
clcee(sl)clsc(c2c10CCO2)clccc(ccl)N(clcceecl)clecceel)C

1291

N#C/C(=C/clcce(sl)cleec(ccl)N(cleee(ccl)cleee(s1)/C=C(/C(=0O)O)\C#N)clcce(ccl)e
lceesl)/C(=0)0

1292

N#C/C(=C/clcee(sl)cleec(ccl)N(cleee(ccl)cleee(s1)/C=C(/C(=0O)O)\C#N)clcce(ccl)e
Leee(s1)/C=C(/C(=0)O)\C#N)/C(=0)O

1293

CCCCOclcece(ecl)N(cleee(ee1)OCCCC)clecec(ecl)elece(s1)/C=C(\C(=0)0O)/C#N

1294

CCCCOclcec(ecl)N(clcee(eel)cleee(s1)/C=C(O\C(=0)O)/C#N)clccc(ccl)clece(s1)/C=
C(/C(=0)O)\C#N

1295

N#C/C(=C/clccce(s1)cleec(ccl)N(cleee(cel)cleee(s1)/C=C\C(=0)O)/C#N)clccc(ccl)c
Lece(s1)/C=C(/C(=0)O)\C#N)/C(=0)O

1296

N#C/C(=C\clcee(s1)/C=C\clcee(ccl)N(cleee(cel)/C=C/clcce(s1)/C=C(/C(=0)O)\C#N)
clceeecl)/C(=0)0O

56




1297

OC(=O)CNIC(=S)S/C(=C\c2ccc(s2)/C=C/c2ccc(cc2)N(c2eec(cc2)/C=C/c2ccc(s2)/C=C\
2/SC(=S)NCC(=0)0OC2=0)c2cccecc2)/C1=0

1298

CCCCCCOclcce(ccl)N(clcee(cel)clece(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)cleec(sl)/
C=C(\C(=0)0)/C#N

1299

CCCCCCOclcce(ccl)N(clcee(cel)clse(c2c10CCO2)/C=C(\C(=0)0)/C#N)clcce(ccl)
occccecce

1300

CCCCCCOclcce(ccl)N(clcee(cel)clse(c2c10CCO2)/C=CO\C(=0)0O)/C#N)clcece(ccl)e
15¢(c2c10CCO2)/C=C(\C(=0)O)/C#N

1301

CCCCCCOclece(ccl)N(cleee(cc)OCCCCCC)celecece(ccl)clsc2-c3c(C(c2cl)(CCCCCC
)JCCCCCC)ec(s3)/C=C(/C(=0)O)\C#N

1302

CCCCCCOclcee(ccl)N(clcee(cel)clsc2-¢3¢(C(c2¢1)(CCCCCC)CCCCCC)ec(s3)/C=C
(\C(=0)0O)/C#N)clcec(ccl)clsc2-c3¢(C(c2c1)(CCCCCCY)CCCCCC)ec(s3)/C=C(/C(=0)
O))\C#N

1303

CCCCCCOclcec(cc)N1[C@H2[C@H]3S[Co@H]([C@@H]([C@H]3S[C@H]2[C@
H]2[C@@H]1C[C@H](S2)c1sc(cc1CCCCCC)/C=C(\C(=0)0)/C#N)CCCCCC)clcce(c
c1)N(clcee(ee1)OCCCCCC)elecce(ecl)OCCCCCC

1304

CCCCCCOclcee(ce )N [C@@H]2C[C@H](S[C@@H2[C@@H]2[C@H]1 [C@H]1S]
C@@H]([C@@H]([C@H]1S2)CCCCCC)/C=C(/C(=0)0)\C#N)clccc(ce)N(cleee(cel
YOCCCCCC)elece(ce])OCCCCCC

1305

CCCCCCOclcce(cel)N1[Co@H]12C[C@H](S[C@@HR[C@H)2[Co@H]1[C@H]1S[
C@H]([C@@H]([C@H]1S2)CCCCCC)/C=C(/C(=O)O)\C#N)clsc(ccICCCCCC)cleee(
ccl)N(clcee(ee1)OCCCCCC)clecec(ecl)OCCCCCC

1306

CCCCCCOclcce(ce)N1[C@@H]2[C@H]3S[C@@H]([C@@H]([C@H]3S[C@@H]2
[C@@H]2[C@H]1C[C@H](S2)/C=C(/C(=0)O)\C#N)CCCCCC)elece(ce])N(elece(cel
YOCCCCCC)elece(ce)OCCCCCC

1307

CCCCCCOclcc(OCCCCCC)ceclclcec(ecl)N(elece(ecl)cleee(cc1OCCCCCC)OCCC
CCC)clccee(ecl)clsc2-c3¢(C(c2cl)(CCCCCC)CCCCCO)ee(s3)/C=C(/C(=O)O)\C#N

1308

COclec(0OC)c2-¢3¢(C(c2e1)(C)C)eec(e3)N(cleee2-c3¢(C(c2c1)(C)C)ec(cc30C)OC)clc
cc(ccl)elsc2-c3c(C(c2c1)(C)C)ee(s3)/C=C(\C(=0)0)/C#HN

1309

CCCCC[C@H](COclcec(cel)N(cleee(cel ) OC[C@H](CCCC)CC)clecc(ecl)clece(sl)e
Ieee(s1)/C=C(\C(=0)0)/C#N)CC

1310

CN1c2cce(cc2C(/C/1=C/C=C\c1n(C)c2c(c1C)clcece(celcc2)C1=NNN([CH]1)CCN1C(=
O)c2ccec3c2c(C1=0)ccc3[C]IN[N]N=Clclccc(ccl)N(clcceecl)cleceeel)(C)C)C(=0)
0.C.[1]

1311

CCCCCCCI(CCcCCCCO)c2cec(cecc2-c2clec(cc2)N(clece(ccl)C(=0O)O)clcec(ecl)C(=0)O
)eleee(s1)C=C1C(=0)N(CC)C(=S)N(C1=0)CC

1312

CCCCCCCI(CCCCCC)c2cec(sc2-c2clcc(s2)C=C(C#N)C#N)clcee(ccl)N(cleee(cel)C(
=0)O)clcee(ccl)C(=0)O

1313

N#CC(=Cclccce(sl)cleec(ccl)N(cleec(ccl)cleee(s1)C=C(C#N)C#N)clcee(eel1)C(=0)O
)C#N

1314

N#CC(=Cclcce(sl)cleec(ccl)N(cleee(cel)C(=0)0O)clece(ccl)C(=0)O)CH#N

1315

N#CC(=Cclccce(ccl)cleee(ccl)N(cleee(eel)C(=0)O)clcec(ccl)C(=0)0O)CHN

1316

N#CC(=Cclsc(c2c10CCO2)clcec(ccl)N(clece(ccl)C(=0)0O)clccc(ccl)C(=0)O)CH#N

1317

N#C/C(=C\[C@@H]1COc2¢(01)c(sc2COCCCCCCCCOCe1sc(c2¢ 1 OC[C@@H](02)/

57




C=C(/C(=0O)O)\C#N)clccc(ccl)N(clcceecl)eleeceel)clece(ccl)N(cleceeel)cleceecl)/
C(=0)0

1318

N#C/C(=C/clsc(c2c10[C@@H](COCCCCCCCCOC[C@@H]1COc3c(01)c(sc3/C=C(\
C(=0)0)/C#N)clcce(ccl)N(cleeeecl)cleccec1)CO2)clece(cel)N(clecceel)cleceeel)/
C(=0)0O

1319

N#C/C(=C\[C@@H]1COc2c¢(01)c(COCCCCCCCCOCc1sc(c3c1O[C@H](CO3)/C=C(/
C(=0O)ONC#HN)clcee(ccl)N(cleeeeel)clecceel)sc2elcece(cel)N(cleececl)clecceel)/C(
=0)0

1320

COC[C@@H]1COc2c(01)c(sc2/C=C(/C(=0)O)\C#N)clccc(ccl)N(cleceeel)eleceecl

1321

COC[C@H]1COc2c(01)c(/C=C(/C(=O)O)\C#N)sc2clccc(ccl)N(clceeeel)eleeeecl

1322

CCCCCCCI(CCCCCCO)c2cece(sc2-c2clcece(s2)clecc(ccl)N(cleee(eecl ) OCCCCCC)clecee(c
¢1)OCCCCCC)C1=[N]=C([CH]C(=C1)C(=0)0O)C1=[N]=C([CH]C(=C1)C(=0)O)clcc2
¢(-c3¢(C2(CCCCCC)CCCCCC)ece(s3)c2ece(cc2)N(c2eee(cc2)OCCCCCC)c2ece(cc2)O
CCCCCC)s1

1323

CCCCCCOclece(ccl)N(cleee(cc)OCCCCCC)celecece(ccl)clsc2-c3c(C(c2cl)(CCCCCC
)JCCCCCC)ec(s3)C1=[N]=C([C](C=C1)C(=0)O)C1=[N]=C([C](C=C1)C(=0)O)clsc2-c
3c(C(c2c)(CCCCCC)CCCCCC)ec(s3)clecc(ecl)N(cleee(ee1)OCCCCCC)eleee(ecl)O
cccececece

1324

CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCC)clecce(ccl)clecce(sl)eleee(s1)/C=C(\C(=
0)0)/C#N

1325

COclcee(ccl)N(cleee(ccl)OC)clcec(c(el)clec(ceclelece(sl)clece(s1)/C=COA\C(=0)0)/
C#N)N(clcee(ccl)OC)celcec(ce1)OC)clcce(s1)clece(s1)/C=C(\C(=0)0O)/C#N

1326

CCCCCCOclcee(ccl)N(cleee(ece1)OCCCCCCO)cleee(ccl)elec(e(sl)clece(s1)/C=C(C(
=0)0)/C#N)clcc(sclclece(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)N(cleee(cc1)OCCCCCC
)cleee(eecl)OCCCCCC

1327

COclcee(ccl)N(cleee(cel)eleee(sl)cleee(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)N(clcee(
ccl)clecc(sl)eleee(s1)/C=C(\C(=0)0)/C#N)clcce(ccl)OC

1328

CNlc2cce(eec2Sc2clece(c2)N(clece(cel)eleee(sl)cleee(s1)/C=CO\C(=0)0)/C#N)clcece(
cc1)OC)N(clcee(ecl)cleee(s1)clece(s1)/C=C(\C(=0)O)/C#N)clccc(cc1)OC

1329

COclcee(ccl)N(clece2-¢3¢(C(c2¢1)(C)C)cec(c3)N(cleee(ccl)clece(s1)clece(s1)/C=C(
\C(=0)0O)/C#N)clccc(cc1)OC)clcec(ecl)clece(sl)eleee(s1)/C=COC(=0)0)/C#N

1330

COclcec(ccl)N(cleec2e(cl)n(C)clc2ec(ccl)N(cleee(cel)cleee(sl)cleee(s1)/C=C(\C(=
0)0)/C#N)clcec(cc1)OC)clcec(ecl)cleee(sl)cleee(s1)/C=C(\C(=0)O)/C#N

1331

COclcec(ccl)C(clee(ec(c1)N(clece(eel)elece(sl)cleee(s1)/C=CO\C(=0)O)/C#N)clccc
(cc1)OC)N(clcee(ecl)clece(s)clece(s1)/C=C(OC(=0)O)/C#N)clccc(cc1)OC)clecce(ccl
)OC

1332

CCCCCCCI(CCCCCCO)c2cece(cecc2-c2clec(cc2)clecce(s1)C=C(CH#N)CH#N)N(clcee(eel)C(
=0)O)clcceecl

1333

CCCCCCCI(CCcCCCO)c2cec(cec2-c2clec(cc2)N(cleee(ccl)C(=0)O)clcccccl)elecce(sl)
clcee(s1)C=C(C#N)C#N

1334

CCCCCCcCI(CcCCCO)c2ec(cec2-c2clec(cc2)N(cleee(eccl)C(=0)O)clcccecl)eleece(sl)
C=CIC(=O)N(CC)C(=S)N(C1=0)CC

1335

CCCCCCISi]1(CCCCCC)c2cc(sc2-c2clee(s2)/C=C(\C(=0)O)/C#N)c1sc(c2c10CCO2)c
Icee(cel)N(cleee(ce1)OC[C@H](CCCC)CC)clece(cel)OC[C@@H](CCCC)CC
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1336

OC(=O)N1C(=S)S/C(=C\c2ccc(s2)c2cee(cc2)N(c2eceec2)c2eccec2)/C1=0

1337

N#C[C]([C]1S/C(=C\c2ccc(s2)c2ecc(cc2)N(c2ccecc2)c2ececc2)/C(=0)N1C)C(=0)O

1338

N#C/C(=C\clcee(sl)cleee(sl)clece(cel)N(cleee(ce1)C#Celcc2CCCce3ecc(CCCelec?)
cc3)cleec(ccl)CHC[C@@]12[Caw@H]3C4=CC=C2CCCC2=CC=C(CCC4)[C@H]3[C
@H]12)/C(=0)0

1339

N#C/C(=C\clcee(sl)cleee(sl)cleee(ccl)N(cleee(cel)C#Celeceeel)eleee(ccl)C#HCelee
cccl)/C(=0)0

1340

N#C/C(=C\clcee(sl)cleee(sl)cleee(ccl)N(cleee(cel)/C=C/c1cc2CCCc3ccc(CCCelec2
)ee3)cleee(cel)/C=C/clcc2CCCc3cec(CCCelcc2)cc3)/C(=0)0

1341

N#C/C(=C\clcee(s1)cleee(s1)clece(ccl)N(cleee(cel)/C=C/clcccecl)clcec(ccl)/C=C/c
Iceeecl)/C(=0)0O

1342

N#C/C(=C\clcee(s1)cleee(s1)clece(ccl)N(clcee(cel)C)clece(ccl)C)/C(=0)O

1343

N#C/C(=C\clcee(sl)clsc(celcleee(s1)/C=C(/C(=0)O)\C#N)clcce(sl)cleec(ecl)N(clce
ccel)cleceecl)/C(=0)0

1344

N#C/C(=C\clcce(ccl)clsc(celeleec(eel)/C=C(/C(=0)O)\C#N)clcee(ccl)N(cleeeeel)e
lceeeel)/C(=0)0

1345

N#C/C(=C\clcce(ccl)clsc(ccleleec(eel)/C=C(/C(=0)O)\C#N)clcee(sl)cleee(ccl)N(c
Icceeel)cleceeel)/C(=0)0O

1346

CCCCCCnlc2ccc(cc2c2elccec2)clece(s])clsc(e(cl)elece(s1)/C=C(/C(=0O)O)\C#N)clc
cc(s1)/C=C(/C(=0)O)\C#N

1347

N#C/C(=C\clcee(sl)clsc(cclcleee(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)N(cleececl)cle
cceel)/C(=0)0

1348

clcec(eel)N(elece(ec1)CI=N[NIN([CH]1)Cclcee(eel)/C=C/C1=[N]=C2C(=C[CH]C=
C2)O1)clcee(ccl)CI=N[NIN([CH]1)Cclcce(eel)[CH]/C=C\1/Nc2¢(O1)ccec2

1349

cleee(cel)N(cleee(cel)eIn[nH]nel)elece(ccl)CI=N[NIN([CH]1)Cclcee(ccl)/C=C/C1
=[N]=C2[C](S1)C=CC=C2.[CH2]clccc(ccl)[CH]/C=C/1\Nc2c(S1)ccecc2

1350

cleec(cel)N(cleee(cel)CI=N[NIN([CH]1)Cclec(OCC2=N[N]N([CH]2)Cc2ccc(cc2)/C

=C/C2=[N]=C3C(=C[CH]C=C3)02)cc(c1)OC[C]1C=N[N]N1Cclccc(ccl)/C=C/C1=[N]
=C2C(=C[CH]C=C2)O1)clcecc(ccl)CI1=N[NIN([CH]1)Cclec(OCC2=N[N]IN([CH]2)Cc
2cec(cc2)/C=C/C2=[N]=C3C(=C[CH]C=C3)02)cc(c1)OC[C]1C=N[N]N1Cclccc(ccl)/

C=C/C1=[N]=C2C(=C[CH]C=C2)01

1351

cleec(cel)N(cleee(cel)C1I=N[NIN([CH]1)Cclec(OCC2=N[N]N([CH]2)Cc2ccc(cc2)/C
=C/C2=[N]=C3C(=C[CH]C=C3)S2)cc(c1)OC[C]IC=N[N]N1Cclcce(ccl)/C=C/C1=[N]
=C2[C](S1)C=CC=C2)clccc(ccl)CI=N[NIN([CH]1)Cclcc(OCC2=N[N]N([CH]2)Cc2c
cc(cc2)/C=C/C2=[N]=C3[C](S2)C=CC=C3)cc(c1)OC[C]1C=N[N]N1Cclccc(ccl)/C=C/
CI1=[N]=C2[C](S1)C=CC=C2

1352

[CH]1C=CC2=[N]=C(OC2=C1)/C=C/clccc(cc])CN1[N]N=C([CH]1)clcce(cc1)N(clce
¢(cc1)C1=N[NIN([CH]1)Celeee(ce1)/C=C/C1=[N]=C2C(=C[CH]C=C2)O1)clcce(cel)
C1=N[NIN([CH]1)Cclcee(ce1)/C=C/C1=[N]=C2C(=C[CH]C=C2)O1

1353

C1=C[C]2C(=[N]=C(S2)/C=C/c2ccc(cc2)CN2[NIN=C([CH]2)c2ccc(cc2)N(c2cce(cc2)C
2=N[N]N([CH]2)Cc2ccc(cc2)/C=C/C2=[N]=C3[C](S2)C=CC=C3)c2ccc(cc2)C2=N[N]
N([CH]2)Cc2cce(cc2)/C=C/C2=[N]=C3[C](S2)C=CC=C3)C=Cl1

1354

CCCCOclee(OCCCC)ceclclecc(ccl)N(clcee(eel)cleee(cc1OCCCC)OCCCC)elcecce(cc
I)clecce(sl)clece(s1)C1=CC(=[N]=C([CH]1)C(=0)0O)C(=0)O
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1355

CCCCCCOclcee(ccl)N(cleee(eec1)OCCCCCC)cleee(ccl)eleee(s1)CI1=[N]=C([C](N1C
CCCCC)clcec(ecl)cleee(s1)/C=C(\C(=0)0O)/C#N)clccc(ccl)cleee(s1)/C=C(\C(=0)0)/
C#N

1356

COclccece(ecl)N(cleee(ccl)OC)clceec(ecl)clece(s1)C1=[N]=C([C](N1C)clccc(ccl)clce
c(sl)cleee(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)clece(sl)clece(s1)/C=C(C(=0)0)/C#N

1357

CCCCCCOclece(ccl)N(cleee(cc)OCCCCCC)celece(ccl)cleee(s1)CI=[N]=C2[C](N1
CCCCCC)clce(scl-clc2cec(sl)cleee(s1)/C=C(\C(=0)0)/C#N)clccc(s1)/C=C(\C(=0)0)/
C#N

1358

CC(Cclcee(sl)cle2sc(ce2e(c2elec(s2)clec(e(sl)elee(c(s1)clse(c2c10CCO2)/C=C(/C(
=0)O)\C#N)C)C)clcee(s1)C)elee(e(sl)clee(c(s1)clsc(c2c10CCO2)/C=C(/C(=0)O)\C#
N)C)C)C

1359

CCCCCCNIC(H[NI=C([C]1clcee(ccl)cleee(s1)/C=C(\C(=0)0)/C#N)clccc(ccl)eleee(
s1)/C=C(\C(=0)0)/C#N)clccc2c(cl)clecceccIn2CCCCCC

1360

COclccece(ecl)N(cleee(ccl)OC)clceec(ecl)cleee(s1)C1=[N]=C([C](N1C)clccc(ccl)elce
¢(s1)/C=C(/C(=0)O)\C#N)clccc(ccl)cleee(s1)/C=C(/C(=O)O)\C#N

1361

CCCCCCOclece(ccl)N(cleee(cec)OCCCCCC)clece(ccl)eleee(s1)CI=[N]=C([C](N1C
CCCCCOC)clccce(sl)clece(s1)/C=C(/C(=0)O)\C#N)clcce(s1)cleee(s1)/C=C(/C(=0)O)\C#
N

1362

CCCCCCOclcee(ccl)N(cleee(ee1)OCCCCCCO)clecee(ccl)eleee(s1)C1=[N]=C2[C](N1
CCCCCCO)clce(scl-clc2ec(sl)clece(s1)/C=C(/C(=O)O)\C#N)clcce(s1)/C=C(/C(=0)O)\
C#N

1363

CCCCCCnlc2ccec(cc2c2elccec2)C1=[N]=C([C](N1)clcee(ecl)clece(s1)/C=C(/C(=0)O
NC#N)clcee(ccl)eleee(s1)/C=C(/C(=O)O)\C#N

1364

N#C/C(=C\clcee2e(-c3cec(cee3[C@@]32c2cc(cec2-c2¢3cec(cc2)N(c2eeccc2)c2eccec?)/C
=C(/C(=0O)O)\C#N)N(c2ccccc2)c2eccec2)cl)/C(=0)0

1365

clcee(eel)N(eleceeel)cleee(cel)/C=C/C1=CC=[N]=C[CH]1

1366

CNI1[CH]C=C(C=C1)/C=C/clccc(ccl)N(clcccecl)cleceeel

1367

clcec(eel)N(elecceel)cleee(ccl)/C=C\C1=CC(=[N]=C([CH]1)/C=C/clccc(ccl)N(clcc
cccel)cleceecl)/C=C/clccc(ccl)N(cleccecl)eleccecl

1368

CNI[C]J(/C=C/c2ccc(cc2)N(c2cccec2)c2ecccc2)C=C(C=C1/C=C/clccc(cc1)N(clcceecl)
clcececl)/C=C/clcec(ccl)N(cleceeel)elcceecl

1369

CCcle(C)e2n(clCO)[B](F)(F)nlc(c(c(cl1[C]2clcec(ccl)N(clcee(cel)[Clle2e(c(c(n2[B](n
2¢1¢(C)c(c2C)CC)(F)F)C)CC)C)eleec(ecl)cleee(cel)C(=0)0)C)CC)C

1370

OC(=0O)clccc(ccl)clece(ccl)N(cleee(eel)[Cllc2ece(n2[B](n2clecc2clece(ccl)C(C)(C
)O)(F)F)cleee(ccl)C(C)(C)C)elece(ecl)[Cllc2ecc(n2[B](n2clccc2elcec(ccl)C(C)(C)C
)(F)F)cleee(ec1)C(CY(C)C

1371

CCcle(C)e2n(cl1O)[B](F)(F)nlc(c(c(cl1[C]2clcec(sl)clecc(ccl)N(clcee(ecl)cleee(sl)[
Cl1c2e(c(c(n2[B](n2c1c(C)e(c2C)CC)(F)F)C)CC)C)clecec(cel)eleece(cc1)C(=0)0)C)C
o) C

1372

OC(=0O)clcce(ccl)clece(ccl)N(cleee(ecl)eleee(s1)[Cllc2ecc(n2[B](n2clccc2elecccecl
)(F)F)clcceecl)eleee(eel)cleee(s1)[Cllc2ece(n2[B](n2clcec2clceceecel)(F)F)clcccecl

1373

N#C/C(=C\clcec(s])eleec(ce IN(CCO[Si](C(C)(C)C)(C)C)C)/C(=0)0

1374

CN(clece(eel)/C=Cleleee(s1)/C=C(/C(=0)O)\C#N)CCO[Si](C(C)(C)C)(C)C

1375

N#C/C(=C\clcee(c2elnsn2)clece(ccl )N(CCO[Si](C(C)(C)C)(C)C)C)/C(=0)0O
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1376

N#C/C(=C\clcce(ccl)clcec(c2elnsn2)clcec(ccl)N(CCOISi](C(C)(C)C)(C)C)C)/C(=0)
O

1377

COclcc(OC)ceclclece(ccl)N(cleee2e(cl)n(C)elce2se(cl)cleec(c2eInsn2)clcec(cel)/C
=C(\C(=0)0)/C#N)clccc(ccl)cleec(cc10C)OC

1378

Cnlc2cc(cec2c2elec(s2)clecc(c2elnsn2)clcecc(ccl)/C=COC(=0)0)/C#N)N(clcce(ccl)e
Icee(ee10C)OC)elcec(ecl)clece(cc10C)OC

1379

CCCCCCOclcc(0OCCCCCC)ececlclcec(ccl)N(clcee(cel)clse(c2c10CCO2)/C=C(/C(=
0)O)\C#N)clcee(ecl)cleec(cc10OCCCCCC)OCCCCCC

1380

COclcc(OC)ceclclecc(ccl)N(clcee(cel)clse(c2c10CCO2)c1sc(c2c10CCO2)/C=C(/C(
=0)O)\C#N)clcce(ecl)cleec(cc10C)OC

1381

CCCCCCCCCeeec1ccececeeecelyeec(sc2-c2elec(s2)clse(c2c10CCO2)celece
(cc1)N(cleee(ccl)cleee(cc1IOCCCCCC)OCCCCCC)clece(ccl)cleec(cclOCCCCCC)O
CCCCCC)/C=C(/C(=0)O)\C#N

1382

CC1(C)c2ce(se2[C@@]2([CII[CH]2)S[C]c1sc(c2¢10CCO2)c1sc(c2c10CCO2)clcee(c
cl)N(clcee(ecl)clecc(cec10C)OC)clccee(cel)cleec(cc1OC)OC)/C=C(/C(=O)O)\C#N

1383

COclcc(OC)ccclclece(ccl)N(cleec2e(cl)sclc2sc(cl)clece(c2elnsn2)clcec(cel)/C=C(\
C(=0)0)/C#N)clcce(ecl)cleee(cc10C)OC

1384

CCCCOclecc(ce])N(C1=C[C]2C(=[N]=C(C=C2)/C=C(/C(=0)O)\C#N)C=C1)clcce(cc
1)0CCCC

1385

N#C/C(=C\clcce(sl)cleee(sl)cleee(c2=[N]=C(C(=[N]=c12)clcccccl)clcccec])clece(c
c1)N(clcceeel)cleceeel)/C(=0)O

1386

CCclcec(ecl)N(clcee(eel)CC)eleec(ecl)clece(c2=[N]=C(C(=[N]=c12)clcccccl)clcee
ccl)cleee(s1)/C=C(/C(=O)O)\C#N

1387

N#C/C(=C\clcce2e(s1)ce(s2)clcec(c2=[N]=C(C(=[N]=c12)clcccccl)clcccecl)clece(ccl
)N(clccceeel)eleceecl)/C(=0)0O

1388

N#C/C(=C\clcee(sl)cleee(c2=[N]=C(C(=[N]=c12)clcccccl)clcccccl)clece(s1)clece(s
1)clcee(ccl)N(cleccecl)elceeecl)/C(=0)O

1389

N#C/C(=C\c1sc2c(cl)sclc2sc(cl)cleee(c2=[N]=C(C(=[N]=c12)clcccccl)clcccecl)clee
c(cc1)N(cleeceel)cleceeel)/C(=0)O

1390

CCclcece(ccl)N(cleee(eel)CC)cleee(ecl)clece(c2=[N]=C(C(=[N]=c12)clcccccl)clcee
ccl)clece(sl)clece(s1)/C=C(/C(=0)O)\C#N

1391

N#C/C(=C\clcee(s1)cleee(c2=[N]=C(C(=[N]=c12)clcccccl)clcceccl)clecc(cc1)N(cle
cc2-c3¢(C(c2c1)(CC)CC)ccece3)cleecc2-c3¢(C(c2e1)(CC)CC)ecece3)/C(=0)0O

1392

N#C/C(=C\clcee(s1)cleee(c2=[N]=C(C(=[N]=c12)clcccccl)clcececcl)clecc(ccl)N(cle
cceel)cleceeel)/C(=0)0O

1393

OC(=0)C1=C[C]2C(=[N]=Cc3c(0O[Zn]4N2C=C2C=C(C=C[C]204)N(c2ccccc2)c2cccee
2)cee(e3)N(c2cecec2)c2eccec2)C=Cl1

1394

Cclee(C)ee(c1)N(C1=CC2=CN3C4=C[C](C=CC4=[N]=Cc4c(O[Zn]30[C]2C=Cl)ccc(c
4)N(clce(C)ee(el)C)clee(C)ee(c1)C)C(=0)O)clcc(C)ee(cl)C

1395

OC(=0)clccc2e(c1)N1[CH]e3cc(cec30[Zn@@]310c1c([CHIN23)cec(cc1)N(cleec(eel)
C(C)(C)C)cleee(cecl)C(CYC)C)N(cleee(ee1)C(C)(C)C)cleee(cc)C(C)(C)C

1396

CCCCCclcece(ecl)N(cleee(ccl)CCCCC)cleec2e(cl)C=N[C@]13C=C(C=CCI1=[N]=Cc
1¢(0O[Zn]302)cee(c1)N(clcec(cc1)CCCCC)elccc(ecc1)CCCCO)C(=0)0

1397

CCCCCCCCelece(cel)N(elecc2e(c)C=N[C@@]13C=C(C=CC1=[N]=Cclc(O[Zn]30
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2)cee(cl)N(cleee(ee1)CCCCCCCC)cleee(ccl)CCCCCCCO)C(=0)O)clccc(ecl)CCCC
CCcCC

1398

OC(=0)c1cc2N3[CH]c4cc(cec40[Zn]430c3c([CHIN4c2cc1C(=0)0)cc(cec3)N(clecccecl

)cleceecl)N(clccceel)cleceeel

1399

O=CINC(=0)/C(=C\c2ccc(s2)c2cce(c3c2nsn3)c2ccc(cc2)N(c2eceec2)c2eccec2)/N1

1400

COclcec(cc1)N(cleee(ee1)OC)clecec(cel)clcee(c2elnsn2)clecc(s1)/C=C/1\NC(=0)NC
1=0

1401

COclcec(cc1)N(cleee(ce1)OC)clecec(cel)/C=C/clsc2e(cl)n(clc2sc(cl)/C=C(/C(=0)O)\
C#N)clcee(ccl)N1c2eccec2Sc2clecec2

1402

CCCCCCOclcee(ccl)N(cleee(cc1)OCCCCCC)clecc(ccl)/C=C/clsc2e(cl)n(clc2sc(cl)
/C=C(\C(=0)0)/C#N)clccc2-c3c(C(c2c1)(CCC)CCC)cl-c2ccccc2C(clel-c2¢(C(c31)(C
CC)CCCO)cecc2)(CCC)CCC

1403

CCCCCCOclcee(ccl)N(cleee(cc1)OCCCCCC)elecc(ccl)/C=C/clsc2e(cl)n(clc2sc(cl)
/C=C(/C(=0)O)\C#N)clccc(cc1)OCCCCCC

1404

CCCCCCCI=[N]=C(S[C]1clcee(ccl)N(clcee(ecl)/C=C(/C(=O)O)\C#N)clccc(ccl)/C=
C(/C(FO)ON\CHN)CI=[N]=C([C](ST)clcce(ccl)N(clcee(ccl)/C=C(/C(=O)O)\C#N)clcc
c(ccl)/C=C(/C(=0)O)\C#N)CCCCCC

1405

CN1C(=C=Cc2ccc(cc2)N(c2cceec2)c2eccec2)C(c2clcee(c2)C(=0)0)(C)C.I

1406

CCI(C)C(E[N]=C2C1=C[CJ(C=C2)C(=0)0)/C=C/c1ccc(cc1)N(clcceecl)eleccecl.CI

1407

CC(COclcc(OCC(C)C)ecclclecc(ecl)N(cleee(eel)cleee(cc1OCC(C)C)OCC(C)C)elec
c(ccl)clsc2-c3e([C@@](c2c1)(C)CC(C)C)ec(s3)/C=C(/C(=O)O)\C#N)C

1408

C(CC1(CC(C)C)c2cc(sc2-c2clce(s2)clece(c2eInsn2)clece(ccl)N(clece(ccl)elcee(ecl
OCC(C)C)OCC(C)C)elcee(ecl)cleee(cc1OCC(C)C)OCC(C)C)elecc(ecl)/C=C(/C(=0)
O)\C#HN)(C)C

1409

CC(CC1(CC(OC)C)c2cc(sc2-c2clcce(s2)clecc(ecl)N(elcee(ecl)cleee(cc10CC(C)C)OCC
(C)CO)clcec(ecl)eleee(cc10CC(C)C)OCC(C)C)celeec(c2eclnsn2)clcec(s1)/C=C(/C(=0)
O))\C#N)C

1410

CCCCCCCCOcleec(ccl)N(cleee(cc)OCCCCCCCC)elecece(ccl)clece(sl)clece(c2=[N]
=CC=[N]=c12)clccc(s1)/C=C(/C(=0)O)\C#N

1411

CCCC[C@@H](Cnlc2cc(ccc2c2=[N]=c3c(=[N]=c12)c(ccc3clcec(ccl)N(clcceecl)clee
cccl)cleec(ecl)N(cleceeel)cleceecl)eleec(ol)/C=C(/C(=O)O)\C#N)CC

1412

CCCC[C@H](Cnlc2=[N]=c3c(ccc(c3=[N]=c2c2clcc(cc2)clcee(s1)/C=c/1\sc(=C(C#N)
C#N)[nH]c1=0)clccc(ccl)N(cleccecl)cleceecl)cleee(ccl)N(cleceeel)cleceecl)CC

1413

CCCC[C@H](Cnlc2=[N]=c3c(ccc(c3=[N]=c2c2clcc(cc2)clcec(o1)/C=c/1\sc(=C(C#N)
C#N)[nH]c1=0)clccc(ccl)N(cleccecl)cleceecl)cleee(ccl)N(cleceeel)cleccecl)CC

1414

CCCC[C@@H](Cnlc2cc(ccc2c2=[N]=c3c(=[N]=c12)c(ccc3clccc(ccl)N(clcceecl)clee
cccl)cleec(ecl)N(cleceeel)elceceecl)eleee(s1)/C=C(/C(=0)O)\C#N)CC

1415

CCCCCCnlcce(c2clccec2)/C=C(\clcce(s1)/C=N/clcce(cc1)C(=0)0)/CH#N

1416

clee(eccl)N(eleceeel)cleee(cel)/C=C(\C#N)/C(=0)0O

1417

clee(ecel)N(elecceel)cleee(ccl)/C=C/cleee(s1)/C=C(/C#N)\C(=0)O

1418

COclcee(ccl)N(clece(cecl)OC)clcec(ccl)clsc(c2c10CCO2)[C]1C(=0)/C(=C\C2=CC=
C3[CI(N2C)C=CC(=C3)/C=C/C(=0)0)/C1=0

1419

CN1c2cee3e(c2C(/C/1=C\[CH]/C=C\1/N(C)c2¢(C1(C)C)cc(cc2)C(=0)0)(C)C)cce(c3)C
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#Cclcce(c2cInsn2)C#Cclecee(ccl)N(cleceeel)clecceel.[I]

1420

CCCCNI1/C(=C/[CH)/C=C\2/N(CCCC)c3c(C2(C)C)ce(cc3)C(=0)0)/C(c2clceclc2ecce(c
1)C#Cclcece(ecl)N(cleceecl)clecceel)(C)C.[1]

1421

CCCCCCOclcec(ecl)N(cleee(cc1)OCCCCCC)elece(cel)clsc(c2c10CCO2)C1=C(0)/
C(=C\C2=CC=C3[C](N2C)C=CC(=C3)C(=0)0)/C1=0

1422

COclcee(ccl)clece(sl)cleee(ccl)N(cleee(cel)clece(c2eInsn2)clcece(s1)/C=C\1/SC(=S
)J[C@H](C1=0)CC(=0)O)clccc(ccl)cleee(sl)clece(cc1)OC

1423

CCI(C)c2cce(sc2-c2clece(s2)clece(ccl)N(clece(cel)eleec(s1)clece(cc1)OC)clcec(ccl)e
Icee(s1)eleec(ec1)OC)/C=C\1/SC(=S)[C@H](C1=0)CC(=0)0O

1424

COclcee(ccl)clece(s])cleee(ccl)N(cleee(cel)clse(c2c10CCO2)/C=C\1/SC(=S)N(C1=
0)CC(=0)O)clcee(ccl)clece(s])cleee(ccl)OC

1425

CCCC[C@H](CN1C(=C2C(=C(N(C2=0)C[C@@H](CCCC)CC)c2ccc(cc2)c2ecc(02)/C
=C(/C(=0)O)\C#N)C1=0)clccc(sl)clcec(cc1)N(cleee(ce1)OCCCCCC)elcee(ccl)OCC
CCCC)CC

1426

N#C/C(=C\C1=CC2=C3CCCC3=C3[C@@]([C@@]2(S1)C)(C)SC(=C3)/C=C/clccc(cc
1)N(clcceecl)cleceeel)/C(=0)0O

1427

N#C/C(=C\c1sc(c(c1)C1=C(CCCl)clcc(sc1C)/C=C/clcecc(ccl)N(clceeecl)cleceeel)C)
/C(=0)0O

1428

OC(=0)C1=CC2=C3CCCC3=C3[C@@]([C@@]2(S1)C)(C)SC(=C3)/C=C/clccec(ccl)N
(cleececl)elecceecl

1429

Cclsc(cc1C1=C(CCCl)clece(sc1C)C(=0)0)/C=C/clcce(ccl)N(clecceel)clecceccl

1430

N#C/C(=C/clc(F)cc(cc1F)clec2e(s1)ee(s2)clecc(ccl)N(cleec2-¢3¢(C(c2¢1)(C)C)ecee3
)cleee2-¢3¢(C(c2¢1)(C)C)ccec3)/C(=0)0

1431

N#C/C(=C/clcce(cclF)elec2e(s1)ec(s2)clece(ccl)N(cleec2-¢3¢(C(c2c1)(C)C)ecec3)cl
cce2-¢3¢(C(c2¢1)(C)C)eeec3)/C(=0)0

1432

N#C/C(=C/clcce(cecl)clec2e(sl)ec(s2)clece(cel)N(clece2-c3¢(C(c2¢1)(C)C)ecee3)clce
cc2-c3¢(C(c2c1)(C)C)eeec3)/C(=0)0

1433

OC(=0)CN1C(=S)S/C(=C\c2cce(cc2)N(c2eece(cc2)/C=C/2\C(=O)N(C(=S)S2)CC(=0)0)
c2ccee(ce2)c2ecec3c2[nH]c2¢3ccec2)/C1=0

1434

OC(=0)CN1C(=S)S/C(=C\c2ccc(cc2)N(c2cceec2)c2eccecc2)/C1=0

1435

CCCCCCnlc2cece(sc2c2clce(s2)/C=C(/C(=0)O)\C#N)clcec(ccl)N(clccceel)eleececl

1436

CCCCCCnlc2cec(cec2e2elcele(s2)c2e(n1 CCCCCC)ee(s2)/C=C(/C(=O0)O)\C#N)clcee(ce

1)N(clcceeel)cleeceel

1437

CCCCCCclece(sclcleec(ecl)N(cleee(ee1)OCCCCCC)cleee(ccl)OCCCCCC)cleec2e(c
1)n(CCCCCC)clc2sc2c1n(CCCCCC)ele2sc(cl)/C=C(/C(=0)O)\C#N

1438

CCCCCCnlc2cc(cec2c2elcIn(CCCCCC)e3c(cls2)sc(c3)/C=CO\C(=0)0)/C#N)clcce(cc
1)N(clcee(ec1)OCCCCCC)elecec(ecl)OCCCCCC

1439

CCCCCC[C@H](COclcce(ccl)N(cleec2e3clecce3cle3c2ecc(c3cccl )CHCeleee(c2clces
c2)cleee(cel)C(=0)0)clcec(ccl)OC[C@@H](CCCCCC)CCCC)CCCC

1440

CCCCCC[C@@H](COclcce(ccl)N(cleee2e3clecce3ele3c2ecc(c3cecl)C#Celece(sl)/
C=C(\C(=0)0)/C#N)clccc(ccl)OC[C@@H](CCCCCr)ccce)cccee

1441

CC(COclcce(ecl)N(cleec2e3clcece3clc3c2ecce(c3cecl)CHCelecc(ccl)/C=C(\C(=0)0)/
C#N)clcee(ecc1)OCC(C)C)C
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1442

CCCCCC[C@@H](COclcee(ccl)N(cleee2e3clecce3ele3c2ecc(c3cecl)C#Celece(s1)C
(=0)O)clccc(cc])OC[C@H](CCCCC)ccee)cccee

1443

CCCCCC[C@H](COclcee(ccl)N(cleec2e3clecce3ele3c2ecce(c3cccl )CHCeleee(cel)C(
=0)0)clcce(cel)OC[C@H](CCCCCC)CCCr)CcCCC

1444

CCCCCCOclcec(ccl)N(cleee(ce1)OCCCCCC)cleee(ccl)elc2eceec2e(c2eleccec2)CHC
clcee(ecl)C(=0)0

1445

CCCCCCOclcece(ccl)N(cleee(ce1 ) OCCCCCC)cleee(ccl)eclc2eccec2e(c2elccec2)CHC
C#Cclccee(cel)/C=C(/C(=0)O)\C#N

1446

CCCCCCOclcec(ccl)N(cleee(ce1)OCCCCCC)clecee(ccl)elc2eccec2e(c2elccec2)CHC
C#Cclcee(ccl)C(=0)0O

Table S2. Descriptors of all the features used as input in the model.

Molecular orbital-related descriptors

Orbital EL ELA1 EL+2 EL+3 EL+4
energy (eV) EH EH-1 EH-2 EH-3 Ef-4
Ombital A|EH—EL| A|EH_EL+1| A|EH_EL+2| A|EH_EL+3| A|EH_EL+4|
rbita
A|EH-1_EL| A|EH-1_EL+1| A|EH-1_EL+2| A|EH-1_EL+3| A|EH-1_EL+4|
ener
dift gy A|EH-2_EL| A|EH-2_EL+1| A|EH-2_EL+2| A|EH-2_EL+3| A|EH-2_EL+4|
ifference
( V) A|EH-3_EL| A|EH-3_EL+1| A|EH-3_EL+2| A|EH-3_EL+3| A|EH-3_EL+4|
e
A|EH-4_EL| A|EH-4_EL+1 | A|EH-4_EL+2| A|EH-4_EL+3| A|EH-4_EL+4|
Geometry structure-related descriptors
Molecular v
volume (A%)
Molecular
surface area S
(A%
Molecular
) MPP SDP
planarity (A)
Electronic structure-related descriptors
. Proportion of
Proportion of Nonpolar
Molecular MPI Polar surface nonpolar
. polar surface | surface area
polarity (kcal/mol) area (A?) surface
area (%) (A%
area(%)

In the table, H and L represent the highest occupied molecular orbital and the lowest unoccupied

molecular orbital.

S3. Deep learning code used in the work

from sklearn.model_selection import train_test_split, KFold

import numpy as np

import pandas as pd
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import tensorflow as tf

import tensorflow.keras as keras

from tensorflow.keras.models import load model

from tensorflow.keras.models import Sequential

from tensorflow.keras.layers import Dense, Dropout, BatchNormalization
from sklearn.metrics import mean_squared_error

from sklearn.metrics import mean_absolute error

from sklearn.metrics import r2_score

from sklearn.metrics import mean_absolute percentage error
from sklearn.preprocessing import MinMaxScaler

from sklearn.decomposition import PCA

# data_reader
fold=10

test_size = 0.1

DF_data = pd.read_excel(r'C:\Users\Desktop\new\Jsc.xIsx")
DF_data = np.array(DF_data)

#normalization
scaler = MinMaxScaler()
dt = scaler.fit_transform(DF_data[:,:44])

#PCA

x=dt

pca=PCA(n_components=16) # dimensionality reduction
pca.fit(x)

# dimensionality reduction

x = pca.transform(x)
length dt x = dt.shape[0]
dt x=x

dt y=DF data[:,-1]

dt train_x, dt test x, dt train_y, dt test y = train_test split(dt x, dt y, random_state=24,
test_size=test_size)

length train x =dt train_x.shape[0]
data train length = length train x // fold

kfolder = KFold(n_splits=fold, shuffle=True, random_state=42)
kfold = kfolder.split(dt_train_x, dt train_y)

j=0
k train pearson =[]
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k val pearson =[]
k train MSE =[]

k val MSE =]

k train R2=1]

k val R2=T]

# network

for train_index, val index in kfold:
k x train =dt train x[train index] # training set
k y train=dt train y[train index] # Tag of training set tag
k x vali=dt train x[val index] # Testing set
k y vali=dt train y[val index] # Tag of testing set

init = keras.initializers.he normal(seed=42)

model = Sequential() # initialization

model.add(Dense(256, activation="relu', input_shape=(16,), kernel initializer=init)) # Get a
fully connected layer

model.add(BatchNormalization())

model.add(Dropout(0.3))

model.add(Dense(256, activation=relu', kernel initializer=init)) # Get a fully connected
layer

model.add(BatchNormalization())

model.add(Dropout(0.3))

model.add(Dense(128, activation='relu', kernel initializer=init)) # Get a fully connected
layer

model.add(Dense(128, activation=relu', kernel initializer=init)) # Get a fully connected
layer

model.add(Dense(1, activation="linear")) # Output layer

filepath = r'C:\Users\Desktop\new\Jsc.h5'

# # Once lifted, it covers once.

checkpoint = keras.callbacks.ModelCheckpoint(filepath, monitor='val loss', verbose=1,
save_best_only=True,

mode="min’,

save_weights_only=False, period=1)

callbacks_list = [checkpoint]

model.compile(optimizer=tf.keras.optimizers.Adam(lr=0.001, = decay=4e-7), loss='mse’,
metrics=['mae'])

model.fit(k x_train.astype(np.float32), k vy train.astype(np.float32), batch_size=32,
epochs=500,

validation data=(k x_wvali.astype(np.float32), k y wvali.astype(np.float32)),

callbacks=callbacks_list)

y_pred_train = model.predict(k_x_train.astype(np.float32))
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y_pred valid = model.predict(k_x vali.astype(np.float32))

print(y_pred_train.shape, np.corrcoef(k y train.astype(np.float32).T, y_pred_train.T,
rowvar=0).shape)

model = model.save(r'C:\Users\Desktop\new\Jsc.h5")

print('No." + str(j + 1) + ' cross validation’)

print('Pearson  Coefficient of training set:',np.corrcoef(k y train.astype(np.float32),
y_pred_train, rowvar=0)[0][1])#r

k train_pearson.append(np.corrcoef(k y_train.astype(np.float32), y_pred_train,
rowvar=0)[0][1])

print('Pearson  Coefficient of testing  set:',np.corrcoef(k y wvali.astype(np.float32),
y_pred_valid, rowvar=0)[0][1])#r

k val pearson.append(np.corrcoef(k y vali.astype(np.float32), y_pred valid,
rowvar=0)[0][1])

print('MSE of training set:';mean_squared error(k y_train.astype(np.float32),
y_pred_train))#MSE

k train MSE.append(mean_squared_error(k y train.astype(np.float32), y pred train))

print('MSE of testing set:';mean_squared error(k y vali.astype(np.float32), y pred_valid))
# MSE

k val MSE.append(mean_squared error(k y vali.astype(np.float32), y pred valid))

print('R2 of training set:',r2_score(k y train.astype(np.float32), y pred train))#R2

k train_R2.append(r2_score(k y train.astype(np.float32), y pred train))

print('R2 of testing set:',;r2_score(k y vali.astype(np.float32),y pred valid)) #R2

k val R2.append(r2_score(k y vali.astype(np.float32), y pred valid))

j+=1

model = load_model(r'C:\Users\Desktop\new\Jsc.h5")
y_pred_train = model.predict(dt_train_x.astype(np.float32))
y_pred_test = model.predict(dt_test x.astype(np.float32))

train_score =[]

test_score =[]

print('"Pearson Coefficient of training set:',np.corrcoef(dt_train_y.astype(np.float32), y pred train,
rowvar=0)[0][1])

train_score.append(np.corrcoef(dt train_y.astype(np.float32), y pred_train, rowvar=0)[0][1])
print('Pearson Coefficient of testing set:',np.corrcoef(dt test y.astype(np.float32),y pred test,
rowvar=0)[0][1])

test_score.append(np.corrcoef(dt test y.astype(np.float32),y pred test, rowvar=0)[0][1])
print(‘'MSE of training set:',;mean_squared_error(dt_train_y.astype(np.float32),
y_pred_train))#MSE

train_score.append(mean_squared error(dt train_y.astype(np.float32), y pred train))

print('MSE of testing set:;mean_squared error(dt test y.astype(np.float32), y pred test)) #
MSE

test_score.append(mean_squared _error(dt test y.astype(np.float32), y pred test))
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print('R2 of training set:',r2_score(dt_train_y.astype(np.float32), y pred train))#R2
train_score.append(r2_score(dt_train_y.astype(np.float32), y pred train))
print('R2 of testing set:',r2_score(dt_test y.astype(np.float32),y pred test)) # R2
test_score.append(r2_score(dt_test y.astype(np.float32), y pred test))

k_score = np.concatenate((
np.array(k train_pearson).reshape(1, fold),
np.array(k _val_pearson).reshape(1, fold),
np.array(k_train MSE).reshape(1, fold),
np.array(k_val MSE).reshape(1, fold),
np.array(k train_R2).reshape(1, fold),
np.array(k_val R2).reshape(1, fold)), axis=0)

all_score = np.concatenate((
np.array(train_score).reshape(1,3),
np.array(test_score).reshape(1,3)),axis=0)
k score = pd.DataFrame(k score)

all score = pd.DataFrame(all score)
dt_train_y= pd.DataFrame(dt_train_y)
y_pred_train = pd.DataFrame(y_pred_train)
dt_test y=pd.DataFrame(dt test y)
y_pred_test = pd.DataFrame(y pred_test)
train=pd.concat([dt_train_y],axis=1)
test=pd.concat([dt_test y],axis=1)

train.to_excel(r'C:\Users\Desktop\new\train.xIsx', header=False, index=False)
test.to_excel(r'C:\Users\Desktop\new\test.xlsx', header=False, index=False)

k score.to_excel(r'C:\Users\Desktop\new\k score.xlsx', header=False, index=False)
all_score.to_excel(r'C:\Users\Desktop\new\score.xlIsx', header=False, index=False)
y_pred_train.to_excel(r'C:\Users\Desktop\new\y pred_train.xIsx', header=False, index=False)
y_pred test.to_excel(r'C:\Users\Desktop\new\y pred test.xIsx', header=False, index=False)
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